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I YT WHIETT STFUehTil /TaToeh WHiT TRt (W) wierm 2021
QAT 3T
STEAT Aigd g1 I91-UF

(odrer forfer : 24 3, 2022)

1. During his annexation of Afghanistan, who
invited Babur to invade India?

4. Match List-1 with List-II and select the correct
answer using the code §1ven below the lists-

AEMRRAT TR MRITET &% TOT STy e -1 &0 g1 & T Fer greEt
VR U MR A o fera fFresror feam on? & et fow T e | wd I G-
(a) Ustad AL/SSTE 31 (b) Mustafa/ T List-1/37f-1 List-11/&=t-11
(c) Daulat Khan/ded @@= (d) Hasan Khan/g94 @ (PX:I‘;it]rl'zcufisaOf (Capital city
Ans. (¢) : T R T & T9T TR H T sAreferEn & uia) ED)
mﬁ;ﬂﬁ |@6T$ﬁ%r Q@Tﬁ@q@?; ;z_q{ A New Soutah_g\;’ ales 1 Brisbane
= W=y
IS TR S FRefdy A T TR | C Victoria/faeiRar 3 Perth/aet
2. ]\;\;llllt; l‘:‘ss"t?he author of the book '"Death in D Western :Australia 4 Melbvourne
‘39 3 TR U o TEH i &7 Codj/af?—:ﬁ: )
(a) Meena Kaushik/9T sif3mes A B C D A B CD
(b) Jonathna Parry/TrﬁTITQFT o8 @ 1 2 3 4 b1 2 4 3
(c) B.D. Tripathi/sit. g1, faidt )2 1 4 3 d2 1 3 4
(d) Ron Barrett/T s Ans. (¢) : T8 GAA 39 FHR %—
Ans. (b) : T9 1 TNE & @S ST U0 g1 AR 4 R ao ferer
3 Gl h AW T Welead AE TeifesH I FAHY TS i fora
S AR FE T3 BRI 5 FH AR ferrifeen - e
3. Which one of the following pairs is not feret m B et
correctly matched? Tt § ¥ @ | [(F fohed () W 21
Teh TE ‘gﬁ'ﬁ:ﬁ[ TE 87 5. Match Lis.t-I with List-!l and select the: correct
(a) Bleaching power — Calcium .i‘:;sﬁvi irgl;%hflcgi ewglven b%%véhae-?;s t'{s';iﬁﬁ
EllEURC RS oxychloride e N ﬁ{ll ;\TII -Eh_c" e %rﬁrq—
= £Q <!
e List-1/F=-1 List-T1/g=f-11
(b) Plaster of Paris _ Calcium (Organisation/dT3) (Establishment
T 3 Uiy bicarbonate yeat;/';%ﬂW
e agHE-e ) )
(c) Washing Powder —  Sodium carbonate A ;%%%%y 1 1954
RIS S e B Sangeet Natak 2 1952
(d) Baking Soda - Spdium Academy
SR TreT bicarbonate Hrita qree T
USRI C National School of 3 1959
Ans. (b) : TE TAA 3T THR - Drama
AT TR -~ Hfewran sl FAEe T e e
e i i - e e ek D Comrefor Cuural 4107
HTT?TJT HreT - Hifea Frife Tralnlng
AT HreT - Tifsaw TREFEH LEIBERER N
37 (b) GAfe™ & 21 w3
UP RO/ARO (Mains) G.S. 2021 (Ex.dt. 24.04.2022) YCT




Code/he-

A B C D A B C D
@1 2 3 4 b2 4 1 3
() 4 3 2 1 @3 2 4 1

Ans.(a):ﬂ%gfﬁﬁﬁ_&"g%ﬁl'{%—

-1 (F ) Teft-11 (FTo=T ae)

(A) AfTd HeTr THrH! 1954

(B) Hid e 3TeraHt 1953

(C) T A1 feamer 1959

(D) TiEpHfoes Hameq e FfmwRvT & 1979

fopeg & T A STHEE & T ¥ 1952 & 2

6. Which of the following Tiger Reserves is not
situated in Madhya Pradesh?

frreafafiaa oe g (@R Red) & &

THI=-HT weayeyr | feora & 37

(a) Amangarh/3TH1T¢

(b) Bandhavgarh/ﬂTW’lTTE

(¢) Kanha/shT=g1

(d) Sanjay Dubri/qﬁl'q-ga'&
Ans. (a) : TG T ENTT IR TSI & (SR foret
# o5 o fopdt. & H fRe 31 39 Filc I TRV F
TH G F w9 F A A T 31 SieTe, s,
GorE-gadl a1 eERvg geg a9 # fod 2
7. Which one of the following coal based power

plant is situated in Uttar Pradesh?

frefeafiaa § & S |1 g Ameia fasret

HES I Y9 # fere 37
1. Darlipali/@lﬁmﬁﬁ‘
2. Dadri/@Ed

3.  Singrauli/fTRictt
4. Vindhyachal/f&eameret

Select the correct answer using the code given

below/==r feT 7T Fe & T 3TN FiT-

Code/h2 :

(a) 1and 3/1 3 3 (b) 2 and 3/2 3R 3

(c) 2 and 4/2 3 4 (d) 3 and 4/3 3R 4
Ans. (b) : &l R W SW wew # fuq &
ARA fostell G 21 ool el sffswn N fdeame
e e H Red 21
I MW § NTPC & &Fa menia faorelt @ami &
e 5 @ S puw: fimed, @l Rée, fpdemid
SRR, mﬁélmaﬂuﬁa@mﬁrwﬁwﬁ

% ST e B T 2
Which of the following is not correctly matched?
frrafafaa § @ S wd gafea 7@ 82

Animal/q3] Breed/A&1

(a) Cow/M™ —  Deoni/3at
(b)  Goat/aHl —  Barbari/&a{
(c) Buffalo/dq —  Bhadawari/sEEe
(d)  Sheep/5s - Girffir

Ans. (d) :
Tel-1 TeEi-11
9] T
e - ECEil
EEDU - T
&g - el
e - i
iR 7%t T 1 ? U I A& | 3: I faheq (d) T B

9. Match List-I1 with List-II and select the correct
answer using the code given below the lists-

Tefi-1 & G-I | gafaa it qen great
o ot feu T He | TE ST H AT Hitwu-
List-I/g=h-1 List-T1I/g=-11
(Books/T&Th) (Breed/d1Eeh)
A Ras Panchadhyayi 1 Vrindavan
T gt Das
EEERE]
B Chaitanya Bhagvata 2 Jayan‘fmda
HETAT SEEHE
C Chaitanya Mangal 3 Nand Das
oA A =< T
D Bhakti Ratnakara 4 Narahari
TR T TRT Cakravarti
R ket
Code/%ne-
A B C D A B C D
(@ 3 4 2 1 b)2 3 4 1
)3 1 2 4 d4 3 1 2
Ans. (c) : T2 HT 39 THH 28—
TTh GICED
TE e < qE
= e FEE T
T A ST
AHLATR TR =shardt
37d: fased (c) Eordl g&f@m 21

10. Which one of the following groups of diet

provides maximum energy to human body?

frafafag § ¥ SF-91 3ER 99g 79 &

IR T STfIRaT Sl USTT YT &2

(a) Fat, Protein, Vitamin/ 94T, Sﬁ’cﬁ:[, faaTt=

(b) Vitamin, Mineral, Water/f21ftq, &1qu1, Se

(c) Carbohydrate, Fat, Protein/aﬂﬁ'a’lsgz , a4, TEH

(d) Carbohydrate, Protein, Vitamin

g2, M, e

Ans. (c) : f&@ T3 3RR T § ¥ Afrean i weH
FH I T FEEEES, a9 I W 211 AW
FEEESS T N H 4 Helll Foil Seifsh 1 T4 a1 9
9 el ot frerdt &1 Sl Wel, i R e §
FIE Holl T8 Her afed 4 IRR & IAT F GA® €9

T T H erash B g1

UP RO/ARO (Mains) G.S. 2021 (Ex.dt. 24.04.2022)
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11. Who among the following Indian leaders

participated in all the three round table
conferences?/d=r

T AR fEfaiae At § & 9?

(a) Mahatama Gandhi/F@&TT e

(b) B.S. Munje/d. T, Tt

(c) Dr. B.R. Ambedakar/sT. a.31R, 3Tga

(d) C.Y. Chintamani/dt.atE. fea=mfor
Ans. (¢) : T oA AT § 97T @4 a1t ST, .3
FHESH § e e W 4 ok i me-as
e H 9 o o 3= 39 gWed § s &
st & &9 § 9mr fomn gue Sl wHiemue qer
TASH AT R Afgenstt 1 sfafAfe fide mems
e | e an
12.

Which one of the following countries is not
situated along the coast of Baltic Sea?

frefafiaa § @ &9 & 297 a1feesd R & €

W fora T &2

(a) Latvia and Poland/ardfe=r 3R i

(b) Latvia and Russia/amfes=T 3R &9

(c) Sweden and Russia/ie iR &G

(d) Sweden and Norway/&e- i e
Ans. (d) : 9Ifces AR & a2 W Reod 91, S99,
e wwitE, fde, amtaEn, fageter, w@ie,
TERR ST, Uiele qOr ®9 g1 A & g aifees 9
¥ T ot 71 difcesh WU ST HEMEFR & Tk
YT &1 376 gHeh W faehed (d) e
13.

Which of the following state has won maximum
number of medals in India skills 2021
competition, the result of which was declared
by Government of India in January 2022?

frrefefiaa o | fore T 3 9RA 9T 2021
gfrEfieT & o9 31w uew Sta o, fawer
TRUM 9T TR gRT el 2022 # =0y

Teram T=?
(a) Gujarat/TsId (b) Maharashtra/He g
(¢) Kerala/3a (d) Odisha/3TfEsm

Ans. (d) : ¥RA B FARE@r 2021 § o9 31 g2
sfifeem (51) 7 Sid Safs 7Y A 30, A o 25 TSH
S| 59 i &1 ST ool § A w2 B8R
wfeem § fopan mm

14. With reference to the 'Trishul Peak in
Himalayas', which of the following statements

is/are correct?/fmmers o frore frew’ & wesf
o, frafefaa @ @ &9 91/ o= 98 £/87
(1) It is situated in Bageshwar district of
Uttarakhand./3g ST@US & AR e
 frora R
(2) The peak is more than 7500 m high.
g =et 7500 e ¥ off arfres St 7

TS FEHEAT § AR o

Select the correct answer from the code given

below ﬁqw;wﬁvﬁwgﬁrq—

Code/he :

(a) Only 1/%aa 1

(b) Only 2/ 2

(¢) Both 1 and 2/81 1 3R 2

(d) Neither 1 nor 2/ @ 1 3 AT & 2
Ans. (a) : F[@ oferdt 39 &t fF fewrerg gda =ifeat
%wﬁgwmﬁg@gn 7120 ]ﬂﬁ-%q}

1, 11, Ir 9™

T #1 B H?q%jﬁw é% ﬁﬁélﬂg areft =fe
& oo % ARIT-UE B T FHOT e 81 By Rt
IS F e et F i R 21

15. Which one of the following is not a sub-
category of terrestrial ecosystem?

HI Teh weia uiifterfaes @

T SYUTT & &2

(a) Mountain ecosystem/gad TRIRfT &

(b) Marine ecosystem/dHIa TRfkgfis &

(c) Lowland ecosystem/f=1 €refiar uiiRftgfss &

(d) Semi-arid ecosystem/3T8-Y[h TRFfTH T3
Ans. (b) : TRRAME T & THR ST 7= &7 T 97 W
T S §, weh aRfafis @3 Fean 81 3 gel & g
HeIE & 1 ST 25 § 30 Sfererd €
qff | Sdl i galeRer & e oiddey Tl
uRRefest &1 fmfor &@ 2, wefa oRfefs & %
g weaq! Wit FRE oA SR auEE 21 el
uikfafas o § aftafed & g1, a7 TRfafet &, a9
F U el &, mecred affefed &3 odd
uiftafret @1 f= o ol & e
uiitfafoe & enfe &1 arife aiRfafis & god e
aiitfafas & 21
37 I e (b) TR B
16.  With reference to India's Third National Water

Awards declared in January 2022, which of the
following statements is/are correct?

et 2022 ¥ O 9wRa & A T S
TR & el o, frafafaa & 9@ ®E-An/@
HAT WE 2/77

(1) Uttar Pradesh was declared winner in the
'Best State Category'./3TX ‘

T Sruft’ § fersrar e feram Tam
(2) Muzaffarnagar in Uttar Pradesh was
declared as the best district in 'North Zone
Category'./STR Y91 o TIWRRTTTR hl ‘STl
= guft’ 7 waey e st feRar wem
Select the correct answer_using the code given
below. feu @ we w ST @ uE

Code/%< :

(a) Only 1/Faa 1

(b) Only 2/&aa 2

(¢) Both 1 and 2/a1 1 3T 2

(d) Neither 1 nor 2/ @ 1 3 AT & 2

UP RO/ARO (Mains) G.S. 2021 (Ex.dt. 24.04.2022)
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Ans. (¢) : S 2022 § wifd AR TEE SA R,
oo Sy # gduw usg guft § fasr Sifta fpan
TN IT-FSW & TR H ITG A A0 F e
e =iftm feam mom @@ T 6 qEU @ dew @
ToR 3R AferTg 1 81 TeaT TE ‘o [WEhr 2018
F fa=m T e

17.  Part IX - A of the Constitution of India gave a
constitutional foundation to the Local Self
Government units in the gollowing areas-

YRA o GG & 9 IX-A |, frefataa
& T T I &l TR hl eI

IR HER I
1. Rural areas/ITHtoT QS[
2. Urban areas/9T&<t @'5!‘

Select the correct answer from the code given

below the lists/<Ta feU T FHe & WET 3T T

T I

Code/ %he-

(a) Only 1/&aa 1

(b) Only 2/&aa 2

(c) Both 1 and 2/3 1 3R 2

(d) Neither 1 nor 2/ @ 1 3 A1 & 2
Ans. (b) : YT EEEE & 9T IX-A B vl e &
T SRS SHEAT 1992 & 749 GiawE Hune
g Gauie aet fear mm @ Rafersed 9w fEEr
T 3R TR 243P-243ZG ¥ THY TR Iy
et fFT T el 9w IX A TErEa s @ amdor
&7 1 T @YTEE S Ui SR YeH R T 2
18.

Which one of the following is a bio-diesel plant?

frefafiaa & @ SF-91 Sa-gete dren 872

(a) Jatropha/@ﬁ[ﬂ (b) Java Grass/STTl =TH
(c) Rosha Grass/T9T =19 (d) Guggul/fTret

Ans. (a) : ST SISTel 91eT SIIHT 21 39 T 3 AW H
ST S @S- Wi, St Siei, SI2Ih S S|
T IRIRSG a1 SHaeH 9t & THH T dHfeus
$o 31 TERISE F IET §Y FA a9, wY 4a a
IR @HT T & dcd T a1 ST Tehal &1 37 dedl
FEENa § uiafda & & fou gig weffteeea foar
S 21 fREeR 2009 F FE WHR T dERNa
e (NBM) ¥& fpan e qrufts Eisa & @mg 20
sfoera ararEiee T &1 aed @ T o S
e ftrehT &1 Tl 2|

19.

Mandsaur - Prashasti presents the details of
the achievements of which ruler?

Ted-yvRa fohe ITEeR W SuetfeEl @
feramur wege YT &7

(a) Skandagupta/Th<T

(b) Chandragupta-11/==ITa-11

(c) Ramagupta/THTE

Ans. (d) : HIER f0g § TEeES $AR-TE JUF &
Syafeal &1 faewor faam w31 HaER weiE # @A
T TEy T F off| AeER fere # & g gun & aviq
fepam T @ qem Y9 N HE B AT Wit Fr o quiq
T fopar AT ) e # HEIE YW T @ waifes
SfYeRg S S o

20.

With reference to 'Parvati Arga' Ramsar site,
which of the following statements is/are
correct?

‘greidt T’ THET T o e °, fr=fafaa

¥ SE-9/F ®mUT GE §/87

(1) It is situated in Gonda district of Uttar
Pradesh

T IR Y9I o TueT fer ¥ fora 2
(2) Itis a bird sanctuary.
Ig Teh veft 3rvEmuy #)
Select the correct answer using the code given
belowﬁﬁﬁﬁ%iﬁﬁﬂﬁwgﬁﬁ-
Code/%e-
(a) Only 1/&aa 1
(b) Only 2/&aa 2
(¢) Both 1 and 2/&1 1 3R 2
(d) Neither 1 nor 2/9 A& 2
Ans. (c) : TTEdT SR W - TG & Tier fFa F fyq
Tl ST 21 T8 722 B fagd 81 36 wEd 2020
¥ o giEe uiftd fear T adEe # S yewr |
Faffos 10 TAER @ 71 29 § A 2022 7% et 49
A/ TR WEe #1 W 2022 H Iw # 48 =
494 TR Hige FReT F=Isia ARRuyg 9 Rgsifear geft
SVARTS FH TG B T
21.

The first Krishi Vigyan Kendra was established
in 1974 at which of the following place?

1974 ¥ yaw HW fom= wH @t eI

frefafaa & & form T w g off?

(a) Chandigarh/?{ﬂ?ﬂ"T% (b) Nagpur/TTgX

(¢) Hyderabad/@eU@Te  (d) Pondicherry/dife=r
Ans. (d) : 9RG # qgel ‘Y fagm &= 1974 # wifead
T Tfa o T o) 9 FE, TS WA S sl
T 2 B §, S aRdiT H sEeE ufvg 3R fFa &
dr sifm wI F ®T H B F &1 aq9E § FA 725
FY fam % Hreiw 21
22.

Uttar Pradesh has secured which place in
Swachh Survekshan, 2021?/&%5 Ta&IuT 2021

H, ST YQUT F hI-9T €I Y feRar ar?
(a) Fourth/=e

(b) Third/dT&xT

(c) Sixth/3a1

(d) Kamaragupta-I/SHATTTS-1

(d) None of the above/@ﬁ?ﬁ 79 & 8
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Ans. (¢) : T &1 2021 H WY H 6a1
fiem 1 &9 2020 # I YSY WS E W A7 8N
AR gigd oY e 0T & Fid Jad W3 TRl
g & fgae ¥ guifad R ) us dm ¥ S
HEE At el # Y g fasmErer @ gE 9 dea
o e 21 ey gege T we] shifa ferar
23.

Which one of the following river basin is the

largest in area?/freferfiad & | S-d T
T () Setther § T agt €7
(a) Kaveri/®Tadt (b) Mahanadi/Fgmar
(¢) Narmada/7HaT (d) Tapti/areft
Ans. (b) : TeFE #t 7€ S @) 1,41,589 =t fR.
% 9T IWRE Adl H fahe § Gad a9l g1 Hed #
I Sawe 81155 o fopeft, ar &1 IR &Ewa
98,79§ it o, qem At @ 9fET SEwe 65145 @it
et 21

24.  Match List-I with List-IT and select the correct
answer from the code given below the lists-
-1 & gehi-11 § gafad ity aen gieat
o el fqu T Fhe | | I w1 wT= Fite-

List-1/g=h-1 List-TI/g=h-11
(Nome of Scientist/ (Area of work/
AR T A1) EICEE))
A Birbal Sahni 1 Green
sfierer T Revolution
R wrf=T
B K.C.Mehta 2 Embryology
.. dgar gur fermm
C P.Maheshwari 3 Paleobotany
o, wrRert Sfremyw
ERLIGRCEIE
D M.S. Swaminathan 4 Plant
TH.UE. WHEE pathology
ey T
fomm=
Code/he-
A B C D A B C D
(@1 2 3 4 ® 3 4 2 1
(c)2 1 3 4 d4 3 2 1

Ans. (b) : TE TAA 3T THR 2-

(1) sieeT Hret SiraTeR et formm

(2) &. 9. Fear ey I fage

(3) . ARl CURCRIES

(4) THUH, WEHHEeE 8Ra i

25.  'Uttar Pradesh Diversified Agriculture Support

Project' (UP DASP) was sponsored in Uttar
Pradesh by-

I WY W ‘ST wewr iy fafaeftervor
e (3. sTem) gt = E-

(a) Government of Uttar Pradesh
W ISV THR 5

(b) Central Government/&% FLHR §RT

(¢) World Bank/f&4 &% grT

(d) None of the above/@'{[‘?ﬁ 79 & T8
Ans. (c) : fafaer FY gerar aRasHT s/ &1 Y99 =1
23 st 1998 # forg S &t wemar ¥ grew far wa
o St HTE 2004 T AT THHT 3L fHAFT S wnfiEry
& mrem ¥ Fi fafaedietor # ufohar it a1 Fr ani
TR & G =07 qdeR 2007 H U9 THR G T
fopar T Y AR F.AL A%, (IRA TWHR) YA
fopar 1 Fg =T 31 W 2013 § QU g3
26.

'Krishak Samridhi Aayog' was established in
Uttar Pradesh in which of the following year?

ST YW ¥ ‘NS WYfeg ATEART’ T TG

frmfefaa o & form ad o g¢ of?
(a) 2016 (b) 2017
(c) 2018 (d) None of the above

Ans. (b) : ST Y1 § F% FYFg AN HI T FdaX
2017 ¥ TEIEA & oTemeA H & T 0t FuS 6yfE
STANT 1 32T I 2022 T FHEH B T TR B 2|

27. With reference to Sher Shah Suri, which of the
following statements is/are correct?

e gt & "o #, frafafes & ¥ wE-

/A HIT wE /8?7

1. He was the architect of a brilliant
administrative system./dg Teh IMHAQR
9T reh saeree & famiar o

2. However his qualities as a ruler were not
more remarkable than his victories on the
field of battle./ETcTiTeh Ueh IMEeh o &I W
3TH T, Jg & HEH W TR ST @
Tk IeeTEHTT TE 9
Select the correct answer from the code given
below/srer feT T He ¥ TH W &1 w=@F
-
Code/e-
(a) Only 1/%aa 1
(b) Only 2/&ad 2
(¢) Both 1 and 2/1 3R 2 2t
(d) Neither 1 nor 2/9 B e | )
Ans. (a) : TEIHCH TRAE 3faere # TReme gh T ik
TF WEF F w9 H g 2 afew A UF Y5E W
s, T o ok F &9 § off sfug g1 g
¥ Iud wfafg & ga e g8 foeg ¥ s IEk
T aedr # & fafeq o
28.

At which one of the following places was
India's first 'Open Rock Museum' inugurated

in January 20222/S9adt 2022 O fr=fafaa o
¥ f6g WM W 9RT & TEA ‘AU ek
TUETeTd' ot 3guTeA feharT Tam?
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(a) Dehradun/dg¥gd

(b) Nanital/A<tdrer

() Hyderabad/%w

(d) Mount Abu/HEE 3
Ans. (¢) : A 2022 H 9RA ¥ GBI Toh HIRIAT
F IqRA e ¥ R mm @ d9fe R
T (CSIR-NGRI) & uRew # T fahar mar 81 gad
T 35 fafts yR o 9z @ e o1y 3.3 fafees
a9 | et o 55 fufera A 2

29.  Who built the mosque "Qila-E Kuhna" inside
Purana Qila of Delhi?

faeett & go= foret o oftee st Tt feReT-

-’ aht fomtor fepem ferar e?

(a) Humayun/gad (b) Sher Shah/¥RITE

(¢) Akbar/37ehR (d) Shah Jahan/STesTal
Ans. (b) : Rt & U o & i o+ afem “ferar-
T-gEr” S T TReme F FuEr o) e g | g
I TG L & a8 30 =7 35me & fow afisg i
fomfoT e STt 3 WE STl I Wi & T

30. As per the 'India State of Forest Report 2021',
how many states/union territories have over
33% of their geographical area under forest?

‘e Re e wivee RuiE 2021 & 3G,

foRa TSl /oheg, I W9l § 39eh WRTIToTeh

& T 33% W STk AT g resTied §?

(a) 07 (b) 13

(c) 17 (d) 23
Ans. (c) : 3fea B2 36 B U 2021 % 39K 17
Tt/ SN RE H 3% P e & H 33% T
Y e 99 STeSIfed 81 I F pol a9 IR FW
STER0T 80.9 fafers 3o 8, S 39 & P e &
F1 24.62 Ffw &1 TFF a9 AT 1988 F FER I F
33 ST 9 @ FreRIed S S o fuiRd e T
31.

Who among the following athletes was declared
'Athlete of the year 2021' by the Time
Magazine in December 2021?/fS@w@R 2021 b}

frefafea & @ forg ergw ufem g0 ‘uaefe

3T T TIW 2021 =it femam wam?

(a) Caeleb Dressel/ad :%@a

(b) Lewis Hamilton/?:[s‘ﬂ e

(c) Neeraj Chopra/:ﬁw m

(d) Simone Biles/faHT ageq
Ans. (d) : f&w=R 2021 # 2139 Ui g0 THellT 3%
g 2021 ‘T agew’ & fvd AT WA weHaH
e & et agew 3 gMfs WReT # aelig ad
TU T STcifs o =R Tqefsti & wEAd § A1 Ay o
forn #ruT, s T R ams dmld # R @
T$ off, fred e g fewn @ @ 9 9= T @ arn 2
TEeq TN aX 3fcifie Jaskh fastar @ 21

32. Consider the following events and arrange

them into chronological order-
frreafafaa geamst W fem witig qor 3%
TRICTERHTIHT el Eerd ehif e~
(1) Establishment of NABARD
ATETE St TATIAT
(2) Bank linkage programme of self help group
T WETIAT WHE T Ak fefohat shreishd
(3) Kisan Credit Card yojana
feram shfse =i AT
(4) Establishment of Regional Rural Bank
arsiter Tmeftur e st TmuAT
Code/e-
(@) (4). (1), (2) and (3)/(4), (1), (2) 3R (3)
(b) (4). (2).(3) and (1)/(4), (2), (3) 3R (1)
() (1). (2). (3) and (4)(1), (2), (3) 3R (4)
(d) (4).(3).(2) and (1)/(4), (3), (2) 3R (1)
Ans. (a) : =7 Grsll &1 58 HAY: TH TN 8-
&1 AT S H T 1975
ATETE F T - 1982
T TRl g 1 A feichel BreishH - 1992-93
foFe shfSe IS ASAT - 1998

33.  With reference to the India's National Youth
Festival organised in January 2022, which of
the following statements is/are correct?

Sadt 2022 ¥ NN WRA & T gar

e o ded #, frefefes § sm-wnA

oA W B/87

(1) This was 20™ edition of the National Youth
Festival./ag TSA Jar Werewma a1 209t
HERTT 2

(2) It was organised at Pondicherry.
TR A gt | ferarm T em

Select the correct answer using the code given

below/S=r fIT T FHE & W IW N T

-

Code/e-

(a) Only 1/%aa 1

(b) Only 2/&ad 2

(¢) Both 1 and 2/81 1 3R 2

(d) Neither 1 nor 2/ @ 1 3 AT & 2

Ans. (b) : TIFEAT ot R O g7 12 SFad, 2022 &
difeat FET % werm ¥ 259 T g9 TR &
S qgul & Rl T S He | Ted 81 i
T A HEIEE F @ 2087 HERU FE afesd 25d
TEHUT 21 39 T S 39 ad i i “ge ot 39 g

e W T 31 P A werwd 1995 H Y ga
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34. Government of India has passed 'Protection of

Plant Varieties and Farmers Right Act' in
which of the following year?/¥TRd@ &R =

‘W Ah WiE WEES s wHd e

srfrfem’ frafafaa & | form ad ¥ wika fean?

(a) 2001

(b) 2005

(c) 2015

(d) None of the above/@"i?ﬁﬁﬁﬁéq%pf
Ans.(a):WWﬁ,WWWW@E
e wge fufem, & oas 2001 # Wi fEam z@9
ot o fee, e S Ol % gadE, ® SRR %
T & AW gre Somell wfua e q9r el s 9
ferel o faere @il Siefed H &g @ T 1)

35.

which one of the following city was not among
the top three positions in the Sustainable
Development Goal Urban Index and
Dashboard 2021-22 declared by the NITI
Aayog in Novermber 2021?

qEER 2021 W Aifq @ g AN waq

ferermar w1ear vTedt Gerehiehr 3T S9TEE 2021-22
¥ freafafea § & i |1 vl oftd i ot
T gmfirer T en?
(a) Coimbatore/®IFseY (b) Chandigarh/9€hTe
(¢) Indore/gER (d) Shimla/f¥mer
Ans. (¢) : F9R 2021 # Hifq WM g7 Aifvq Tdq|
fosprg oo vl guaie 3R SvEE 2021-22 # 3 &=
e ‘fomer, FEecy, 9€e 81 T9H ER wiha T 2
g Fre TEEE WA (FEUE A §) eHeTE, B,
R, TERRT 3N e 21

36. The National Development Council was formed
in the year-
e forehma e &1 T8 .. T g am

(a) 1950/1950 §.

(b) 1952/1952 &.

(c) 1954/1954 %

(d) None of the above/35w & T &g Fai
Ans. (b) : TE o aReg & T3 6 7T 1952 &
fohar T T 9 UH GfgueR e @ R st
T e @1 s W aig & ol gew gt et
& TEEs B T YRRk YOS q°T A SR
(e ¥ A ) % 9 ew 5% ue 96 2 2
37. The headquarter of Small Industries

Development Bank of India (SIDBI) is located

at which one of the following place?

o @y seEm fawm s (faesf) @

e frfeiad # & fore wam W fea §7?

Ans. (b) : 9AE @ I M §% (faedh) @
TAEd dETs # g1 faed 2 od 1990 B AR
Toe & TS AuEE & ded Tfua R mm g gee
TR &7 1 R St e St B g0 B
& fau wea faes & &9 § U ufoeqel ARS sHgA
TE 21 A REgyven W s o Ue e
frere 21

38.

'Ringelmann Scale' is used to measure the
density of the following-/' '@

AR RrAfaRad & o 7T § T §-

(a) fog/HiET (b) noise/&af

(c) polluted water/Jgfd ST (d) smoke/ﬂ?ﬂf
Ans. (d) : RoTaHT S #1 TEAA g€ & W 6 U
B 21 T 4T F YRR T F AU F CH G 2|
79 T uftg & $fy S 0. dffufere e
ZRT 1888 3. H fhar AT 911 39 Whal H UhE WX W
Al TEre % STHIG o % 5 W ad § S f e
O T 2
39.

With reference to a book, the following
information are given-/Uch e W,

fFrerfefan geT & T 3-
(1) Introduction/J&TaT
(2) Contents/fars=r ga"r
(3) Chapters/3T&T
(4) Index/3TIhuTUTERT
(5) Title/Ifiden
Select the correct logical arrangement from the
code given below feu @ EXS T wd
SATTAT T T iU~
Code/e-
(a) 1,3,5,2and 4/1, 3, 5, 2 3 4
(b) 2,4,1,5and3/2, 4, 1, 5 3 3
() 5,2,1,3and 4/5, 2, 1, 3 3 4
(d) 3,5, 1,4and2/3, 5, 1, 4 3 2
Ans. (c) : f5ae & T §, dfhs e 39 YR Gahid
2 i, T g, S, e U S
40.  Which one of the following Scheduled Tribes is
not found in Varanasi district of Uttar Pradesh?

Trafeiea § & &iF-H Sggiad Sesd 3w

HAIT & AR et # = o et 37

(a) Chero/= (b) Gond/iE

(c) Kharwar/G%@R (d) Sahariya/Sgfan
Ans. (d) : ST TS0 & aoE (S § geltar S T8
¢ St 21 HeRar e dfedR et #§ o SRl 2
FEUE S § U S Al SHenfa-ad, e, SR,
g8, e, A, gl amfe |

41. River Ganga enters in Uttar Pradesh from
(a) Kanpur/®IY which district?/7T &, 3T u fRm
(b) Lucknow/d@+ IS | FAYT It &2
(¢) Ghaziabad/Tfsree . (a) Bijnor/fSeHR (b) Meerut/?3
(d) None of the above/35w® & T &g Fai (c) Saharanpur/SeRAgX  (d) J.P. Nagar/si. 9. TR
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Ans. (a) : T 7€ ST 2L H SR SIS F FA9 HLAT
2 3N I MW % 27 el § g Tl 81 W AL &
fFR fRgd ST WY & IE e TR, aNoRE,
FAR, Ferel, AR, T, aferar aaf)

IRA THR R FawR 2008 H M 7 P 9N F T
& Sifva fean e 21

42.

The Provision of a joint sitting of both the
Houses of Parliament is mentioned in the
Constitution under the following Article-

Hfgam & frafafeaa sgese & simia wog

% Tl WAl o UYTh ARIAVH T WTaen &-

(a) 100

(b) 108

(c) 110

(d) None of the above/3Tdth H & ®1g el
Ans. (b) : YA TfagM & IR 108 & 78 foeht
foed T 3 el ok o| MU HosTEe § 6,
fEYE # SwEy e T R Ggw wREwE &
TR Ah T AW FW SR 118 & A &
S 21
43.

Who among the following was not a great
entity in the field of Hindustani music?

B R e

e fasfe w& on?

(a) Raja Mansingh Tomar/TST AH{E T

(b) Tansen/ard

(c) Sadarang - Adarang/SeT-3TRI

(d) Mal Gurjari/Hret 11#10[
Ans. (d) : fegmr @fid & & § o AmfdE dw,
AAEA, FERT-3eRT e wem fayfasi a1 fomm e
o1, f& MU fasen § W O U e T ) Sfaee
T T FAfaETE B Sewt T 9 Awel § 9%
3% AT T FT FaTE |
44.

The Provision of three legislative lists is found
in the following Schedule of the Constitution-
A o Hiees wt frefeiaa srggEh # @
forem gferat = yrae -

(a) VI

(b) VII

(c) VII

(d) None of the above/@@?ﬁ 79 T

Ans. (b) : TR HfFEE § 395 38R, 22 9N, a41 12
YA 1 Suey fan T 81 SR VI F R TS
e & ofclls H a9 gfudl, 99 g, Tsa g oaon
guadt gt 1 SusT A T 21 (SRR 246) SdAE
§, "9 g F 99 faww, TS = H 61 fqwT q9r gwadt
T # 52 v @ R

45. Who was not the initial member of the
'Naujawan Sabha' formed in 1926?

1926 ® Wfa ‘et G’ @ URiTR wew
i A ar?

(a) Ambika Chakravarti/37ftsehT =ishart

(b) Yashpal/a=mdret

(c) Bhagat Singh/97afg

(d) Chhabil Das/®9Ta 3=
Ans. (a) : oA YXG G97 H O 9 8 T 1926
30 ¥ fpar o1 39 WS S # 9 fiE, seid S
TYMA, AU, ToM[E S 4| At ashad Aioae
T F g T 91

46. With reference to 'EASE-Index', which of the
following statements is/are correct?

gITHAT Goehich’ o A ®, fAfefad st

F R-T1/A e Tl E/E?

(1) Itis a way to measure the performance of
the Public Sector Bank.

g WEAS-Th & & Aokl o YIIIT I
ATeRfeTd I T Teh AT B
(2) It measures the ease of doing business for
MSMEs in India.
TE 9RA H TA.UE.UAE. ¥ SATUR gIwdr
Y STTeRTeTd ShidT g
Select the correct answer using the code given
below/=r=r feU T Te, ¥ T I
Code/%e-
(a) Only 1/&aa 1
(b) Only 2/&aa 2
(¢) Both 1 and 2/&1 1 3R 2
(d) Neither 1 nor 2/9 B | )
Ans. (¢) : i & 9= # f T A F
@ g a’a’%qﬁaﬁa&éﬁ%aﬁ%wﬁqaﬁ
SHT B BT TIHN ¢ T Tg 9RT H TLUEUAE, T
R AT H o ST BT T T8 GARD HE
fod wd ®URe WA W G fRAr T SR g
ahi® § ARG B 190 I H F 63 o T W g3 2
47.

D

Which vitamin is soluble in water?

-1 et <ot # 7?7

(a) Vitamin 'AY/fe® A’

(b) Vitamin 'B'/f&e1fi= 'B'

(¢) Vitamin 'C/faeifa= 'C'

(d) Vitamin 'D'/faif{= D'

Ans. (b & ¢) : ST § oL [T shen: e ‘B!
IR e ¢ 81 9o § gomvia faema e § s
T & 21 efs g9 § gerefiel e A, D, E, K 1
Far faafm sk & I%d

hich one among the following is m r
Dobson uni(2/2ra 5amé & Fraferta & &
T TTAT AT g7
(a) Ozone concentration/3TS< 5T
(b) Thermal conductivity/3HIa aTcTehal
(¢) Soil moisture/9qfH THt

(d) Radiation/fafeszor
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Ans. (a) : SEET IHE ST GEEAT H A & U
I # o S 81 Sl gfie siee % etpsl &
g § e v fel aftgag % amee el 1 (T)
FAUSA (YA H GaE W AFEE) F @@ W 0.01

Ans.(c):WW@?ﬁaﬁﬂ%ﬁm@ﬁqﬁﬂﬁ
7@ F 3R P9 HeeEl, d@fedr, 16y, dREME g1 guH
TeeEl (3W YN % AOUE), oEedl (IW TRY &
forite) T (foeR) SRR (ufem s

fireinfieT Ot IS 3§ &1 TH T o i savaehar| | 52. Match List-I with List-II and select the correct
a3 answer from the code given below the lists- .

-1 ot Geht-11 § gataa wie qor great
49. Who among the following was the President of * = ﬁm T HE T O S ﬂﬁ"{‘

the 'All India Trade Union Congress' in 1929? List-I I List-II I

frefeias § & @ 1929 # *stfiger T 3 ist-1/g=A- ist-[1/RTA-

e w ¥ s 47 A Vitamin/feemi= 1 Pepsin/ufta=

(2) M.N. Roy/TH.TH, T B Enzyme/ 2 Carotene/

b) J kash N n/STIAIRIRT TRF0T

(b) Jayaprakash Naraya C Hormone/g&M{= 3 Keratin/aET

(¢) Jawaharlal Nehru/Siagtalra & D Protei 4 P ¢

(d) S.A. Dange/T8.T, & rotein/: -
Ans. (c) : 3Ed 9RAE 2T IEA FEH (TEHF) W Code/F2-

T 1920 2. H wg H g3 o1| e wo Sver ol A B C D A B C D
Wwﬁ|§@rmﬁw%mﬁaﬁ‘@aﬁmﬁ @1 2 3 4 b 1 2 4 3
T 39 g & SRl & S 1929 3§ SawdE (2 1 3 4 d2 1 4 3
TeE J T I H | Ans. (d) : TE g 39 TR &-

50. Lake Balkhash is situated in which one of the eht-1 eit-11

following countries?/aTeehyT e fmafetad [ECAEE] Ffe

Jom A & fom o feora 32 LS gfte

(a) Kazakhstan/HSTRa&d™ BT et

(b) Kyrgyzstan/fHfifsmam= KIGiS BT

(¢) Russia/&9 53. Match Lis.t-I ?lflith I(,iist-l.l ang slelectththle. ctorrect

. answer using the code given below the lists-

(d) Turkmenistan/ = geh-1 = A1 A ggﬁﬁm T e gl
Ans.(a):wsﬂawr@ﬁwﬁﬁaﬁw@mﬁ % e R T e § W I w1 IuT -
I a< fid 8 S 17,000 & fhenier # Seft @ qe List-1/aeh-1 List-I1g=h-11
T I ﬁ. - & e 21 ¥ I F (Place/®e) (Related Tirthankar/
AR & i FHaE 3R AT F i Grg B @ adn Heifira drefenT)
T el Th e .tsai (%) IR 21 T e # A A Shravasti 1 Rishbhanath
3R fag & 15 f w9 9 i 2 et RIS
51. Arrange the following Mesolithic sites B Kakandi 2 Padmaprabhu

geographically in order from west to cast- j T=9Yq

wEAUTHTTTE, Tl @i drifers g C Ayodhya 3 Suvidhanath

T ufym | gd & w0 § Hafad w- /3T gfererarer

1. Paisra/UaT D Pabhosa 4 Sambhavnath

2. Lekhahia/er@fean Rkl

3. Birbhanpur/siTagT Code/2-

A B C D A B C D

4. Mahadaha/" g3t @3 1 2 4 2 4 1 3

Select the correct answer from the code given ()4 3 1 2 d 3 2 4 1

below/St=r feT T Fe ¥ & ST & T=A Ans, (¢) : T TieT & 5 B

- -1 ei-11

Code/®e : 25)) (GEIBREIPERY)

(a) 4,2,3and 1/4, 2, 3, &R 1 e SELE )

(b) 1,4,3and 2/1, 4, 3 3 2 el gfgem A1

(c) 4,2, 1and 3/4, 2, 1 3R 3 e ERbC IR

(d) 2,4, 1and 3/2, 4, 1 31 3 g T
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54.  Which one of the following city was awarded a | 58.  Plants accepts nitrogen in which form?
star rating in the 'Garbage Free Cities' drex =|13zjm=r = forg w0 ¥ Tgur wed €7
category in Uttar Pradesh in Swachh (a) Nitrogen gas/ATgZISH T
Survekshan 2021? L i
y (b) Nitrite/ATg1g<
. LR . F‘E L \ ﬁm (¢) Nitrate/d $§Z
2021 # LE geh sroft (d) Ammonia/3TRITET
I 9 gt e ?
e _ ® R Ans. (¢) : T SIS F SN TEAT: AT AT
() Aligarh/3feiiTe (b) Gorakhpur/ &R ||(NO,) % &Y & & &1 Sifee FS AAT § AECRES (NO,)
(c) Prayagraj/SamST  (d) Varansi/arort qoT STy (NH4+) % &7 F od Bl =ns?j5|=r aterf
Ans. (a) : SEE T TR A B T G A e | [ T % AT e 8| g G e e
Tefegor 2021 RUE & W Y2 % ‘o0 b IR AN F % ST <
wWR WM 4 gHiad I B AUEl 3, || 9. Match Iflist-I tvlvlith ﬁist-.ll anl()i lselectth thlf: tcorrect
S . N : answer from the code given below the lists-
, T 3t S @ o T w7 () H%ﬁ-laﬁﬁ%ﬁ-llﬁéﬁﬁmaﬁﬁrqwaﬁzﬁ
SFefiTe S AT F For T T e | T ST e -
55.  Find the missing number List-I/g=ht-1 List-II /'{{#T-II
Y B - (Emperor/dq9lg) (Diwan/taT)
A Akbar/3chsl¥ 1 Ghiyas Beg
21
/6¥ /‘N %N Itmad-ud-Daulah
firam s wemTe-
5 3 4
(a) 16 (b) 20 . St
(c) 28 (d) 32 B Jahangir/SErfi 2 Asad Khan
Ans. (¢c) : ’°19 TR, TS &=
el M °, 5x5+5=6x5 C Shah Jgahan/ 3 Muzaffar Khan
30=30 ST ) Sﬂaq’:ﬁ{ LCIE|
o AFAH, 3x3+21=10x3 D Aurangzeb adullah Khan
{qﬁ 30=30 g
T TR, TEE AFH, 4x4+2=11 x4 Code/%e-
16+ 9 =44 A B C D A B C D
aa 16— @1 4 3 2 (by2 3 1 4
: ?=44-16=D§ : ©3 2 1 4 @3 1 4 2
56. In 1809, Raja Bam Mohan .Roy. wrot-e his Ans. (d) : T8 gﬂ‘a 9 THR 8-
famous book "Gift to Monotheist" in which of f-1 I
the following language?/1809 U, IS W WA < TeAi-
T X I gt gEw (e 2wt (STEITTE) (&)
frrafataa & & e amr o ferar ar? R TAFRT W
s SRR e 3 Tae-SEren
(a) English/31sit (b) Urdu/3§ . -
(c) Persian/®RE (d) Bengali/aTrel P oy i
Ans. (¢) : TN HIE ™ 7 1809 # sfag J¥d<h |1 60. Which one of the following is not correctly
T AR ‘ThaETedl ® U HRE 9§ o matched?
T2 1815 F T T U 1828 F F& T F S fEA frafafiaa @ =9 T wdt gafea & 872
57.  Which one of the following is a plant hormone? (Institute/HeT) (Location/3rafeerfer)
frrafefiaa # & &I T Uew gmfT 87 (a) National Centre of — Ghaziabad
(a) Insulin&GRA  (b) Cytokinin/TTEeTHEHH Orfga“‘c ﬁFﬁarmm%ﬁ
(¢) Thyroxin/aIUfT  (d) Oestrogen/TE IS —
Ans. (b) : WIS TH YW & €| 3 W FHA (b) Indian Institute of — Kanpur
I, el wefifts s, feRfa=w efe 21 Pulses Research A
SR BEE H 9o F@ HifveE FusE # 9Ra AT Sered
F &1 leh SYfer, AR 3T TEISH A g 1 SFTHE FEIH
UP RO/ARO (Mains) G.S. 2021 (Ex.dt. 24.04.2022) 12 YCT



(c) Indian Institute of — Gorakhpur
Vegetable Research Tﬁ'{@g
ARATT Hosfl
FTEE HEIH
(d) Indian Institute of — Lucknow
Sugarcane LSRR
Research
ARA T SATHE
A
Ans. (¢) : e gﬁ'f%»m -
e srafeerfa
T Sifes Gt F=% - RIS RICICE

61. Ahmed Naser Al-Raisi, who was elected

President of the Interpol in November 2021, is
from which of the following country?

TR 2021 T FEXUIS o LAY I T IEHS

TR 3T-TEH, frferfiaa § @ fra Qo @ €7

(a) Kuwait/@ﬁ

(b) Saudi Arabia/T93dl 3TH

(c) Turkey/ﬂa‘?f

(d) United Arab Emirates/Hgth 31 SN
Ans. (d) : 25 TEE, 2021 FH TIH 3RS TN & 3EHR
TR o1 W o RIEE saufes qferd deA, (3exdren)
& U e1eny faifad gU1 98 I8 & T8 e H geeel
S &1 ST HEHA 4 a9 H M TE TEAT AW &
S9 7 g4 U § @R e ‘Seurer’ @ W@ e
21 Tde7 2 f% ‘=i’ 194 G <3 % 9y gy
g T Y WIS 2, T T 1923 H g I
T TEed e, wE OF 21 3 oY & A
EUT = (CBI) & fowm faeves wdior famr &
TS H FEEH wfa § wfvwn & foaw sfafify & w9
# 1 T 2
62.

Which of the following crop is covered for price
control under the price stabilization fund of the

Government of India?/fFrefafiad & | wi-dt

A Ted a3 9RG WaER % 9o

TeerfierTor hiw & r=ia ST 27

(a) Wheat/ﬁi

(b) Potato/3TTe]

(c) Rice/dmded

(d) None of the above/@'ﬂ?ﬁﬁﬁﬂﬁﬁ?t?f
Ans. (b) : 3T & ®HA Yod AT ¥ NG THR &
T RafReor W F ormia TR @1 2014-15 § 500
g & F BT 5 T goa-Relewor Ff B ded
LG I I T S e rea et i o I e O o
A F S g6 RO e B 21 e 3§ sfer
TS, SIY-TN, 3 TH ael W ged g B G|
2014-15 ¥ S, 37 TR el S STEvas F aegsi

F A AfeRdr # FERE w0 & fow FY, gewma

Ud fRaH weam faumr & ded R S # A

# T ftl T@ R/ F 9 GY fFgE geAl 9w

Te/mdl W Eie SN N SyRRE Hi aifeen e

T W ITAsH HATC ST |

63. With reference to Commerce, which of the
following statements is/are correct?

qiftrsar & g |, fefafaa st § ®=-
/A ®HAT T 2?2

(1) It is the field of business that assists in the
removal of all impediments to the
facilitation of exchange./9g& STIHTT <Al as

# it farfererar @ gien % forg woft aeait
o g HH B ETIAr I B

(2) It deals with the factors of delivering the
products to the consumers./dg ST

e ISl faaia & & el o
Heaferd g
Select the correct answer using the code given
below/H<r feu T e & WEr 3TN iU~
Code/e-
(a) Only 1/%aa 1
(b) Only 2/ 2
(c¢) Both 1 and 2/31 1 3R 2
(d) Neither 1 nor 2/ @ 1 3 AT & 2
Ans.(c):ﬁﬁW%Wﬁﬁﬁ%%(Iaﬁ'{H)gﬁél
TE A F &7 ¢ S fafe @ gl & fo wh
el F T B T Gl A 21 T8 SIS dd
e @ foaRd W ¥ wElud g1 ST % e
fopeit anfifer ey & a%g, S wHM, FaI, FEAT AT N
F A WMDY s ARe A deel F & g fHa
I 21 9 M| I 32T T A wer & At
e 2

64. United Nations General Assembly has declared
the year 2023 as the International year of-

W Y i HETEWT ¥ 99 2023 I feRH

FUET ad & wa W wifva femar &2

(a) Oilseed crops/fIee= Hge

(b) Pulse crops/3a@-l HET

(¢) Millet crops/mie SIS AT oW

(d) Animal fodder crops/lTSlilﬁ et et
Ans. (c) : §gF TP F TEEH 5 a9 2023 F HS IS
el wEel 1 SIS oY % w9 § siftd e g1 Hie
IS H ORI, SN, S AT HiE S BEe o 21 39
TEE 1 70 ¥ SAfe 9 3 guda fRar 21 6 e &
FTT a6 T VT gt oAy uRfafaE & i
IS & T A SN T % AT T ITIHaT & AR
§ SEddr ggEl ¢, wWEh fem 3 wge g F w9
Haw 39 B @iy e wiw, qeeg ff ke
T TF AR % 76 § e Irsgeol VRS § 3
S G A, G Tsd SR # fod 2
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65.  Which one of the following tree is not found in

the Mediterranean forest?

FH-|T g Y-TETARNT a1 § & e e §2

(a) Teak/SWIA (AMEF) (b) Oak/31I%

(c) Chestnut/F==2  (d) Olive/siad
Ans.(a):Wﬁ?W%{-WWﬁﬁﬁW
S Ao IWT FfeaHiE S B gRm S 81 3,
TR, ST J-HEEIE a4 # e S €| 9Rd #3007
Hawfa TaETg aTe 9 Fgarad # U S g1 ¥ 9 9’
F 3 9rit # a9 € St ast 100 ¥ 200 ¥ qE
A 21 T 5 T F oW & e ufet A 39§,
T 3% Uaere AT 1 AeEe a9 off Sed &1 3 g
Al o TH TET T8 B &1 4 a9 § ol 9neH,
e, =T 3N SR & 987 UIT S €1 39 FHR & e
F1 foem Roem & fiftds, 797 wew, =<dame onfe
Tt § ) weel WEiE % & & 50% e wer ey §
TR ST B
66.

Which one of the following mangrove areas is
situated in the delta region of Godavari river?

frefafiaa @ @ w=-wr e & Merad T
% ST WX Irafierd §?

(a) Coondapoor/®USTqT (b) Honnavar/g4TER
(c) Malpe/ﬁ'l?ﬁ (d) Coringa/@ﬁ“"ﬂ

68. In the event of vacancy in the office of both

President and Vice President, who shall
discharge the functions of President?

Tfe ferdt Toar wgufer wd SRyt 1 %1 ug

T B ATT, q& WUl AT T hIT HEM?

(a) Prime Minister/S&Tw3T

(b) Lok Sabha Speaker/FﬁW{NT 3TETE]

(¢) Chief Justice of India/Sd & FeT =Aramefier

(d) None of the above/?q'i?ﬁ T 9 Tl
Ans. (¢) : 3% {58 999 Tyufy s STUPU S #1 U9B
i & ST, 7@ TPUd & FE IR F qE =
Ffaes TPUfd & €9 H B HUT 01 3°H FAT B
frde F0m| W@ i Afh, S ISP, 9RG F A
ERIDI1C 1 BCE B o e s 1 1 1 2 B R L e | ) 1 4
FrlaTEsd TUU % &Y § HE Al & AGA IqH e
&1 e s ¢ 39 UpUd # e vReat 9 et
E g 81 98 GuE g iR o syafert o
fergrofere off e e 21
69. The first day of the year 2020 was Wednesday.

What was the last day of the year 2021?

T 2020 ST YW T gUAR o a9 2021 wT

it fa= == or?

(a) Thursday/ge&dfda® (b) Friday/gshaR

(c) Saturday/ITfHeR (d) Sunday/IferaR

Ans. (d) : FIT F9 &F MeEd 76 & o2 W arafked
21 7% R # oA & 918 gE0 w9 el 43 & 2
sedEda § f6 SO a1 39 a9 TR &7 8 @ S WR
a1 o7 WR U H ffed @ €1 9 gmeEear 9g
T €1 T Siarld TgSIh WS % gall
BT 81 9Rd & Ry RO 2021 % FTER, 2019
qa § Ha ST # 17 o farie @ gfy I
T 21 AW F Fol FG SR 4,992 it fped. 71 A
ey # g wafdfa s aret i 3 T -

sifeam (8 &t ), g (4 &t o, Ftes (3 ot fedh

67. Which one of the following Ramsar Wetland
sites is situated in any state of India?

frafafaad & § ®F-81 T AR e

WRA o Terdt oo o feera 32

(a) Hokera Wetland/gls 3117;5‘{&[

(b) Point Calimere Wildlife and Bird Sanctuary

WES B Fsig S wafl TRy

(c) Tso Moriri Lake/cdl Iﬁﬂ'&sﬂ?ﬁ

(d) Wular Lake/ger el
Ans. (b) : R F @G 3R T FSfT scieh a5 G
F TR F faU 1967 § @Ee Hferm g iR weft
FRNTY T T AT| AR SRRV AHAG, o AT A0
et & Re 21 = 2002 # 39 TwER gy F wnfa
fepam a1 YT § e Janvew, Tod, guve HE T
TaHfeRed Y F T feww wite 31 @ # S
H wEl R R § U Sorene 7ey ¥ O 81 5w
Tl &t 21.47 fft. & 21

%’f’fv

i

Ans. (b) : 9% 2020 <9 = 21
gHfeT 1 SWad, 2020 & = ggar
1 SHad, 2021 &1 faF = YEER

31 fewmr, 2021 & feF = PHaR

70.

Consider the following events and arrange
them into chronological order-

freafafaa et w faemr Sy qom St
T THUTIHAR ST ShieTu-
1. Project Elephantf&ﬁﬁ'él%‘ greft

2. Biological Diversity Act
Srar farfearerar srferfram

3. Wildlife (Protection) Act
= Sfre (FReTn) Sttfaa
4. Project Tiger@ﬁﬂi“ 21?11'{‘

Select the correct answer usin

below feu 7@ EX Ee)

the code given
I <l TTA

Code/%e-

(a) 3,4,1and2/3, 4, 1 3 2
(b) 3,2,4and 1/3, 2, 4 3 1
(c) 4,3,2and 1/4, 3, 2 3R 1
(d) 4,3,1and 2/4, 3, 1 3 2

Ans. (a) :Fﬁg’ﬁﬁlﬁ%—

1. 97 Sfig (&) sfefem - 1972
2. TNlEE TR - 1973
3. WSl BTt - 1992
4. o fefaear sifufrem - 2002
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71.  Which of the following is not a part of the 75. Rocket works on which of the following
Middle East?/frefafiaa & & T & 397 W principles?/fFiafafiaa & ¥ fem fagea ©
udt whr e = 7 Tehe T T &7
(a) Jordan and Isracl/STe 3R SoEe (a) Avogadro's concept/3 i (ehe
(b) Lebanon and Israel/cTaT R goRTEd (b) Energy c.onservatlon/?n_\rﬂ &
(c) Syria and Lebanon/SiRem 3 S (c) Bernoulli's theorem/&'fﬁ?ﬂ .Flﬁ’q.
(d) Jordan and Turkey/SiTg= 3R F\Fﬁ @ l\ggen;g C(?nserv;tlo _ Bkl 5
Ans. (¥) : 597 ¥ fo3 73 @it faehey wél 2 Ans. (d) : The, UNIRAUNAIR
. A & fyfw faw & wro-ay =ea & g fam &
e g & Wit <@ P o ST, SR, T, T, | || @ e oed & qeeqe oRom & 6 g
GEEIC] iR, gof, Faq, $HH, w4 orE = > ;
, TR, R, » I, A, : ||| 39 fm & TR A TE 1 U 9§ St awgE
BT, I ST TR, HIH | & o W FE a8d 9 T o @ 8, @ 39 HEE w
72.  Gwadar Port in Pakistan is situated in which of | |Fe TaT o war 8, rgia S ar 81 Han Eee
the following provinces?/UTfeRET T TaTaX || a7 3TETT 8- g1 4 W TR g | fAehel Mel |
squTe, fefafea o | fee wia o feoa 872 76. Match List-I with List-II and select the correct
(a) Balochistan/acifer& answer from the code given below the lists-
(b) Khyber Pakhtunkhwa/@a% qEIAEAT W_l i F"\?ﬁ_ll q g LAy
o & o fou U Fe 9 w1 ST @ T -
(c) Punjab/usTa . N .
(d) Sindh/fe Iz\l/lst-I/'Fl'?ﬁc\ _J Llsgllﬁ—ll
Ans. (a) : T §SUTE, Trfeh&dH, % EN| & wid | ( mﬂnumen (ﬁm‘f?le e;'
3T IR 7 W AT 81 7 F0Ne FA-Tfea snfhe A A .
. tala Devi 1. Nusrat Shah
AR (CPEC) # dil # Sohy &9 § wfiel @ 3 Masjid T T
T e UT U IR o Wi faew IS aRee areTer et wfteg N
% dI¥ T HEI AFI S 2 B Chhota Sona 2. Ibrahim Shah
73. In 1817, the famous Hindu College was Masjid Sharqi
established by David Hare in-/1817 &, 3frs BIET |1 AieTg FOIEH 9118 ITeht
TN W Uikaeg, feeg hicrsr st wama= it g off- C Qadam Rasul 3. Sikandar Shah
(2) Agra/smT (b) Calcutta/Fera hEH T Fehet 71te
(c) Patna/9eT § (d) Varanasi/aRorT § D g:::ﬁlaMaSJld’ 4. ;‘%h Muhammad
Ans. (b) : 1817 H 2fds B3R g Forbw § wfs fag| 1T "l
Forsr H T O A T e Fw s @ g
e A HETH 2 Code/&2-
74. How many times the 'date 29' will fall between A B C D A B C D
January 1, 2022 and January 1, 2027? @1 2 3 4 b)2 4 1 3
1 SHedt 2022 ¥ 1 S 2027 & sfrer femat ()2 1 3 4 1 3 4 2
X 29 ARRE ut? Ans. (b) : TET GATT B—
(a) 55 G-I -1
(b) 65 (TT) (Frmtam)
(c) 56 ’ . A. e o AieE - EElE IR
(d) None of the above/@'ﬁ?ﬁ ¥ g i T2 B. 3T 91 qise - il TR
Ans. (¢) : T TER0T 9% § Badl we # 28 AN@ E|||C. wew el - THRA TR
2 s ot o # wed W § 29 TG @ 2 D. 3T AReE qigsn - fehan w8
39 I Y% HERT 9% #§ 119) 29 I8 @Tﬁ S| | 77.  Find out the alternative which will replace the
g ad § 12 9] 29 aiiE g question mark?/39 faehed &t F@ T
o | S 2022 § 1 S 2027 F A= 20 A & T e g A T orm?
_ . WATCH : 110 :: TIME : ?
TRER = 11+ 11+ 12+ 11+ 11 (.. 2024 TF A9 9 ) @) 54 b) 72
=56 X (c) 94 (d) 98
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Ans. (c) : N9 IR,
W A T C H

Ry

23+1+20+3+8=55
I M E

55x2=110

L]]

2049+ 13+5=47
47 x 2 =4

Consider the following events and arrange
them into chronological order-

frrefafeaa geamet w faem wifve aur st

3T IR,

78.

TICTSHATIAR AT ThiTSTT-
1. Akbar marries Princess of Amber
I At TAHAN | 7o ol (a8

2. Battle of Tukaroi/@ﬂ?l’ﬁ's‘ <Al Fog
3

Mughal Invasion of Orrissa
HTTAT U {IeT SAThHTT
4. Karrani's conquest of Orissa

ST W W hi fa=rr

Select the correct answer usin

below/r=r feu 7T & &

HIfT-

Code/he-

(a) 1,2,3and 4/1, 2, 3 3R 4

(b) 2,1,4and 3/2, 1, 4 3R 3

(c) 2,4,3and 1/2, 4, 3 3 1

(d) 3,1,4and 2/3, 1, 4 3 2
Ans. (d) : FrAfeIRaa Teamel 1 HTeTHATIEN §—
1. WEET T S SHAT — 1561
2. 3TER & TTFAN | 37her & faamg —
3. IS W HWET &l a5 - 1567-68
4. TERE T IF - 1575
79.  The Aspirational District Programme (ADP) of

NITI Aayog was launched in-

fefigae womm (wdtdh fifa smam

H 7 fomam o

(a) January 2016/59ad 2016

(b) January 2017/59ed 2017

(¢) January 2018/sHad 2018

(d) None of the above/@'ﬁ?ﬁ T T T
Ans. (¢) : TRavEa fefiga mom (el fen s -
Tl AT e 3 Sed 2018 # & fRAr a1 oA
2018 ¥ Y& TU 3T HEHA FT LT 39 % HHIS
anfdes w7 ¥ fisg e 3 g & 3% w97 faem §
TErEdl BT 21 39 FE gq 39 & 28 UsA 9 115 et
F T H T | Tae § 5 98 FEw e g
R

the code given
ST hl &I

1562

(1) wmeen wd g, (2) R, (3) H wd e s,

(4) o waEw @ wtea o iR (5) e

SHRYA & T hied 2

W FEFT &k Ted A MM gW el @ W &

TeAiR foRaT ST @ Ue 3 ek & S g

80. Bhutan conferred the 'Order of the Druk
Ghyalpo', its highest civilian honour to the

Prime Minister of which one of the following
country in December 2021?

e A feawmr 2021 ®, frafafaa o 9 fea

&W%Wﬁmqﬁwﬁmw

‘AT 31Tk T gk T’ ye feRan?

(a) India/9Rd (b) Mongolia/Fmferan

(¢) Nepal/ure (d) Thailand/gEeis
Ans. (a) : 2H 7 fGO@R, 2021 ¥ 9Rd & guEeE o
T A T STIAT gated RS GHM STE AF T T
T Y& AT 39 AET Ut Sff @Re & A ¥ o
ST S 139 G SO e F 114 3 e
ffad & SR W # T Ig qeH H Hared ARG
T § 9 e SR Fef & W Ar # Har FH 3
et foRer S 2

81.  As per Article 300 of the Constitution of India,
the legal name of the Government of India is-

A o WU & T8 300 o AR, TR

Y IR ST SHITAT AT &-

(a) The Union Government/3 Jf1a Tade

(b) The Union of India/g Jfa 3% gfvear

(c) India/gfusa

(d) Bharat/9Rd
Ans. (b) : TG & HETUM & 3T 300 F TR ARG
#1 QBN B BN - T FEEE A% e ?1 WA
TR, IRd T & 99 ¥ ‘9% o Gpt A1 39 W g’
AR ST GHT | 3H HEYHE kIR WAk U fafe
e aifeat i @ R 9ra St s gereR @
3 FEafed § 3@ SiffEa % W W O9Rd 99
gfcreenfya foram T FHeT S|
82.  Which of the following Article is related to the

appointment of a Finance Commission by the
President of India?

frefafiaa & & SFar s1wde, WRa & Tgufd

a1 foret o &% e & welE 87

(a) 200

(b) 250

(c) 280

(d) None of the above/ﬂﬁ?ﬁﬁﬁaﬁéqﬁ
Ans. (c) : TR HfagH 1 TSR 280 TRA o TFPU
3R fom S W FrEfth § et §1 g8 Us g
fepe 8 e e gy g @ uee A
FETIHATIN 3qY Tged off b St 21 fom sy
g Y7 FEHT TP & S F ded 7 &l 8|
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WH T G- g g # foxim Rafwt @
TR FHT, 3Tk dF B &k AR H GET BT qdq
Tsdl & ffT g7 U faawer g fagrar w1 fAefor s
21 999 fod @M 1951 § wfeq foman w91 o9 a%
T5E fad st e fRY ST g% @1 27 TEER 2017 &
Usgd fomd ST 1 MeA ft TA. &, e F g #
2021-22 T 2025-26 @ &I 3@y & forw fpam mam

83.

The Parliament of India has the 'Power to
Legislate' for the following-

ORA W WEg W ‘@A fmie & uitw
Frerfafaa & fora wre 2-

1. Union of India/STRa &T 99

2. Territory of India/¥TRd <hT ‘J%W/?I'TQ%ST

(Sifufer)

3. Indian subject resident and their property
situated anywhere in the world

forgr # & off @ oot wRdt AERe T
Ik Huft

Select the correct answer from the code given
below/=t<r feT 7T e & WE I FiHT-
Code/he-

(a) Only 1/&ad 1

(b) 1 and 2 only/Fad 1 3R 2

(c) 2 and 3 only/&ae 2 3 3

(d) 1,2 and 3/1, 2 3 3

Ans. (b) : IRA F GO H GRAT T qqT IRT b TS
IRy (S % e s fal & wfe o 2
92 1 Maftss FEf 39 & e & forg fafat s
21 9% g 99 g fawat o qer srafv fawel w fafy
T 1 fafey SR g1 ARk T W T T s T F
w7 e fowg W foare @ @ @ wee, e g %
foreli X off fafer o webdt @1 o1l oW Rufy # duw &

85. With reference to 'Lake Victoria in Africa'.

which of the following statements is/are correct?

‘athret ¥ faeeifen sfier’ & wed W, frfaRad

" | SA-91/H heA 18 2/2?

(1) The lake is surrounded by four countries.

g et uw 2un @ frdt g2 %
(2) Itis situated in the African rift valley.
TE TR HIT TTET § fera

Select the correct answer using the code given

below few T #e ¥ W W W WA

-

Code/%e-

(a) Only 1/%aa 1

(b) Only 2/&aa 2

(¢) Both 1 and 2/&1 1 3R 2

(d) Neither 1 nor 2/9 a1 oefia 2
Ans. (b) : it gfier ke Aeriu & 9o o<t gt
2 o1 7@ g T T I SuheadE e off 21 7
#er SR TeTET % A e, e, dentEn i g
¥ forga @ S 39 TG & geel 3N W@iel % 59
feedi & forega 21 39 =i & Swdis & 9 @ off s
S 21 g ST gu Al # fRem 21 i 78 3@ ia
q freedt 21 8 oie fae & W e @ gul we ag
et (-G et @)
86.

In a queue of boys, Sohan is 9" from the back
Ramesh's place is 8" from the front. Rohit is
standing in between the two. What could be the
minimum number of boys standing in the queue?

ISR wt Teh Utk o, WigT 9 9 94 &9 W
£, YT 3 | 87 W W T Afed 3T I+ *
e o 21 Uit O @S gl @t IHan 9
AT &1 Wehell &7

fafyr Tg faeammvesa W e gnft (a) 10 (b) 12
84.  Which one of following city was not among the (c) 14 (d) 15

top three cleanest eitics in more than one lakh | |Ans. (a) : fasreg (a) g

population category in Swachh Survekshan 2021? )

frrafafaa § & @ |1 yat w@es weem 2021 kil

T Uk g 9 ek s=eEn guft ° vfid = ‘

; gat M gt

(a) Indore/3ER (b) Surat/fXd

(c) Tirupati/fd&dfd (d) Vijayawada/fesrarer HT'ST-I
Ans. (¢) : W= TE 2021 F UH AW G M| | o A A = €@ 10 & FHA 3

.E ikl ﬁ ¥ i wod wre vl J faeaf wfi 87.  With reference to trade, which of the following
T 8 Fafe R@R vw, §d i qo feseer i statements is/are correct?
W W Bl e GARE T YT Weldd b aANE =R & gy ¥, frafafaa st & @e-
RIS foham T o11 St W WRa e wed e T/ waT T A
ol A el F g ® 3w ¢ i @ W (1) It represents demand and supply both.
AR TRl 2.0 & WA W W % S WO H Tz T S v S e e e E
ST % WIS ded F T vl SR AT & 2V It deals with onlv the demand sid
2 T &1 (2) eals with only the demand side.

feargar &1 wafdfa I HaeT T U W T 2
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Select the correct answer using the code given
below/Hrer feu 7T e & TEr IR gAM-
Code/e-
(a) Only 1/%aa 1
(b) Only 2/&aa 2
(¢) Both 1 and 2/3H1 1 3R 2
(d) Neither 1 nor 2/ IR | )
Ans. (a) : 9THIG: AR ¥ SR aqel & Ha-fawa 9
T 81 SR i Sk erufd S sfaffe e @
Ao =g HiT iR egft < ver ¥ el B
88.

Antibiotics are mostly obtained from-

Tt arEfea AfieRivTe: UTe g §-

(a) Fungi/®asi ¥

(b) Vinisesfﬁ'ﬁl'rﬂl?:ﬁ g

(©) Bacteria/GﬂHTUlaﬁ g

(d) Augiosperms/3Tgdaisial

Ans. (¢) : T2 amfeay stferpivm Sfamsti ¥ wa g
21 U sivfmEt S el a1 B a9l gew Sl &1 A
a3 2 T afE A O A 2 Y afefrd SRR
1 THeEfeE FEA 1 Teesiet Wi 4 ugel
T Gemfeey Uifete & @ R o S9-

89.

Which of the following is not correctly matched?

Freofom & & 2wt e &7
(a) Maize Tasseling
Rl A fehrer
(b) Groundnut - Pegging
et CClEERl
(c) Chick pea - Tillering
FEA fopeet fasprern
(d) Tobacco - Topping
[E=icy NILEELE]
Ans. (¢) :W@EWW%—
HeFhT - T A Ferhrer
f{lwﬁ - Gt T
- S S
%‘Iﬂ?ﬁ o # fhed 9@ et €1 fheet fshom amat
FHA §- T, gH, S, He |

90. Which one of the following country was not

part of exercise 'Sea Dragon 2022' that started
in the Pacific Ocean in January 2022?

frrafafaa & @ & @1 9T, S 2022 @
YIS HEETR H Y% g g o 3=
2022' ¥ ymfirer = em?

(a) India/¥Rd

(b) Japan/STa=

(c) Philippines/fhefidig

(d) South Korea/aferor it

Ans. (¢) : SHad, 2022 FHI T HEMEIR & T3 | Y&
TC IS W g 2022 § 9RA, WOH, smEferan
FAET T R HfAT F A T Wi g2 i
THH WA T A

4 ST IERE A9 A SEuEE o 2 R R
Yo &7 ¥ qRuRe 3t W gRe T g gAfaE
& SO § T 99 Harfd & & o wes U 38
WA &1 S T w9 A 7 feoneA far M € ¥
T afe 3 2

91.

Who among the following was not nationalist
poet in Pre-independent India?/frefafaa o &

i weftar gd SR st agardt s T or?

(a) Ranglal/{Tered

(b) Nabin Chandra Sen/T&9 == I

(¢) Hem Chandra Banerjee/%'q T TSI

(d) Shiv Kumar Batalvi/fR1a PAR ECAREl
Ans. (d) : 19 FAR FeTeEl @EET 98 9RG & TgATE
H T 91 9 IWed FE A T v @A §-
ST, AT, AT, 3Tdfaar et

92. With reference to 'Alaska' which of the
following statements is/are correct?

‘sreTEaRt’ & e # frafafae § @ we-und

Y wEt 882

(1) Itis oil producing state of United States of
America./qg HIH T ok )

ITEeR T B
(2) It was purchased from Russians in 1867.

TH 1867 H wiaal | Tler = om

Select the correct answer using the code given

below/=t=r feT 7T e & T 3T FiT-

Code/e-

(a) Only 1/3aa 1

(b) Only 2/&a 2

(¢) Both 1 and 2/81 1 3R 2

(d) Neither 1 nor 2/9 B | )
Ans. (¢) : ST &I6A & YR R SRS T Gl
I T 21 Tl dA IcUEd, Tpfad TG qdr el
EESE 5“:1,{9 AN %l
IMRFT 7 3T &F & 1867 H ®HI THNT T WeS 7.2
fafera sfeR wUs # @iier o
93.

Who among the following was appointed as the
tenth Chairman of the Indian Space Research
Organisation (ISRO) in January 2022?

Sadt 2022 ®, frefafea § @ fRe awdig
atafter AT WS (FAN) & THS NeTH
w®u ¥ s fwar T=n?

(a) P.L.N. Raju/®.TA.TH. T

(b) V. Hari Prasad/d. gR 9Q

(c) C.Jagannathan/¥. ST

(d) S. Somanath/TH. Ty
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Ans. (d) : TG, 99T H SHEd 2022 H 3HU (WRAE
HIR ST Ted) & 109 37ea9 & &9 H I
o T TE. GIEAY U TEEE SR 3 Tde
AT 21 g2 %, e &1 T fore 2|

94.

'Stand-up-India' scheme for promoting
entrepreneurship is related to-/STfUaT Rl

TEET I &Y AT | RS- -3 WE i §-

(a) Minorities/3TcaE&HH g

(b) OBC/3T.&t. 4.

(¢) Handicapped/f&eaim 9

(d) Women, SC and ST/Afel, TH.4, 3K wa.dl. §
Ans. (d) : CUE-3T-FSHAT IUMAT B TS 3 & LI
T g 2016 § 0 # T A1 SHS TG S B Ted
YA HH Y HA TH YA Sfd (SC) A g
ST (ST) U6 U Afeen et gR1 AAdies afEsHn
O A F A FwO g sem G S g
T8 3w fafmior, Yar o1 =R & § Fafed & God &
95.

Which of the following countries from South
Asia attended the Summit for Democracy
hosted by the President of the United States, of
America in December 2021?

feamr 2021 ¥ w9~ TS MR & UgUfa
R AT s o PTEw g | feror
uf¥ren % frafeias § | e & 39 onfie gu?
(a) India, Nepal and Maldives
I, e 3R Aot
(b) India, Pakistan and Nepal
I, JIfHE 3R et
(c¢) India, Sri Lanka and Maldives
o, i 3R Ao
(d) India, Bhutan and Nepal/9d, 42T R A9
Ans. (a) : fRE=R, 2021 ¥ 9% TS o™R&E & TPUf
SN M i o OeR gweq & afyor ufyren & 4
Terdia e 21 gt T & I @ WER
T 59 gt ¥ % 39 ¥ TR e 59 geeH &
SeYg WAl 1 ARG AT qT PG HT AT 97
THF oI U Ud W Wfedar & wmdd &,
IR § W1, Abdith GuRi H1 Aoeg B 99 el
I it fepam T 81
96. If MET, SET and TET are coded as 52, 76 and

80 respectively, then what will be the code for
PET?

Ife MET, SET 3 TET &l ShATT: 52, 76 31
80 ¥ e feRar S, @ PET &1 e T G2
(a) 48 (b) 56

(c) 64 d 72

Ans. (c) : 59 TR,
iy
13 5 20
= (13+5)x4-20=72-20=52
1
19 5 20
= (19+5) x4-20=96—20=76
1]
20 5 20
— (20 +5) x 4-20=100—20 = 80
3G THR,
1)
16 5 20
= (16+5) x 4—20=84—20=64

97. Which among the following was the first
successfully cloned animal?/%l’qﬁlf@?r )
TG JIT AheT FAE AT &7
(a) Dog/FT (b) Rabbit/TTeT

(¢) Gibbon/fEm (d) Sheep/9E
g;ﬁ(d) : FAT | W%ﬁwﬁ BIEER ﬁg{ﬁéﬁﬁ;
(STefh) &1 S 1996 H 5 3 o
A T &% e RIS & 3?% foeme 3R g
Froeel g 9 fafad & TR At STl g 6 awat @
= feam mn qon 798 W B ¥ gd & Hhe & S
T g g & T 4
98. What was the disinvestment target for Public
Sector Banks and Financial Institutions in the
Union Budget 2020-21?
e T
FET T 2020-21 F fAfrE9T @0 weT w=v av?
(a) ¥ 80,000 Crores/80,000 FIE %.
(b) T 90,000 Crores/90,000 FHE &.
(¢) T 100,000 Crores/100,000 FHIS &.
(d) None of the above/@@?ﬁ 79 g Tl
Ans. (d) : HESI% & % dbl TG (G G 3G Fad
I 2020-21 H fAfEs &1 @& 2.10 IRT T w4
@ T 91

99.

lC)lentral Institutedof Mel(:iclilnalf arllld 1f\li(l)matic
ants js situated at which of the followin
place?/h= T B%U?ﬁ? U e uren Wégf
frraferfaa & & fora o= ot feera &2

(a) Lucknow/ci@d3

(b) Varanasi/aRIoTH!

(©) Gorakhpur/"ﬁ'(@?

(d) None of the above/gq'i?ﬁ i9 ?ﬁg B

Ans. (a) : B30 Ao T oY diE §E@E (CIMAP)
TGS # feod 31 9% Sivd we wiftw wei & & |
3, TR T§ SER-SER & S Al 81 ¥ a9
o FIHYE 9Rg (CSIR) & T 3ol qrey
FTHIA TN 81 THF IR T U H% SdE
FEE, AR UE W () § e 2
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100. With reference to 'Indoneisa'; which of the
following statements is/are correct?

FEMfEr & ded #, fafafed § ¥ wE-

/A wmT A 2/2?

(1) It comprises of over 15,000 islands.

TEH 15,000 ¥ 3110 F it €1
(2) It has over 150 active volcanoes.
TR 150 ¥ 31ftres withe SaremgeE €1

Select the correct answer using the code given

below ﬁqw@ﬁﬁwgﬁq—

Code/%e :

(a) Only 1/ 1

(b) Only 2/&aa 2

(c) Both 1 and 2/3HT 1 3R 2

(d) Neither 1 nor 2/ a1 e d 2
Ans. (¢) : SSHRMET F 15000 F 6 €9 q9r iR
afspa SarargEt 81 ST £ W AR S e
s IR A AW B 1 o N FUT T 71 e
2 fop emfvrr e s o wfvrer s sifvfEr &
fio s faemer dw @ R TowE W § gEAR
AiARa @ ST W@ 31 Ae gt @ der wew e
e 3R g # o S gftem et A 29 2|
101. As per the fourth edition of State Health Index

released by the NITI Aayog in December 2021,

which one of the following states performed
best among the 'Smaller States' category?

femmr 2021 ® fify om gRr W T
W Gelehich o W19 GEmur ®, frafafaa
T § W fRee ‘B TS’ @ guft § wdes

yegta feman?

(a) Goa/TdT (b) Manipur/AfoTqX

(c) Mizoram/f=iR®  (d) Sikkim/fafsa
Ans. (¢) : ST 3 fegmar, 2021 § HifT s g0 S
T WA GAHE F A GO § B qodt vt goft
¥ gae yevia far o1l Sefe g€ T & gvf § e
q e TeE deR YevA F A TST g1 TS
WA gAHG H A WO H IS W T,
yfaefid 9Ra N 3@ gushi k5N TAl N HE
e S_Ei # wWred gl § g ) 9 gieeie
TeY F Y-y A qun Rufy & R W I yeH
S 2
102. Turmeric is an example of underground stem,

known as-

Toal IRATE a4 T SerewT €, N wed §-

(a) Bulb/dcd (b) Tuber/egsX

(¢) Corm/®H (d) Rhizome/TgsH
Ans. (d) : 3 & AT (FhS) B A9 H FAT foAT
S B U UF FHR HI A o 21 SGHT Tpfh
Terifes 9 U Afesd & ®T F 99 Fd W, o W
T 32 fane ot ® S g 8, Seoiadid @ b aed
TRl par &1 uter @ fuer awafas AW S

103. What is cholesterol among the following?

wIeETer frrferiad o & o 872

(a) Steroid/@RUTE  (b) Vitamin/fFTfi

() Enzyme/S‘cﬁW (d) Insecticide/IATITR
Ans. (a) : BT (Cholesterol) Th TR Hl LIS 2|
R GAE 9 9 I FH & AT AR gR IqH
fpen ST 81 W@ Wi S e e @ S sole wisH
W YR % R e § wgea @1 Feed e
F fow gyl g @ o wifvEn fif, S
foeifm & ot fim ot s & foTw swavEs @
21 AT TH TR S T W g F Aferdt § s
o 8 fSed 3 gl & ol R qen B o, |ie o9
7T 1 W g S 2 |
104. With reference to 'National Parks and Wildlife

Sanctuaries in India', which of the followin
statements is/are correct?/ A ® 3€Il=ﬁ

Te a=sila e’ & dad #, famfatad

HYA H W HA-91/H TE 7/E?

(1) Highest number of national parks are in
Madhya Pradesh./'{'l'gﬁ'ﬂ
31freR WA Wed yeI ¥ B

(2) Highest number of wildlife sanctuaries are
in the Andaman and Nicobar island.

W W e W
AUEAH Te AR 5T wuE | 2
Select the correct answer using the code given

below fer @ e ® ST @ A

Code/h< :
(a) Only 1/3aa 1
(b) Only 2/&aa 2
(c) Both 1 and 2/2HT 1 37 2
(d) Neither 1 nor 2/ @ 1 3 1 & 2
Ans. (¢) : 9RG ¥ THF UMl & G § we wew emuh
TF g1 7@ P 12 TEF 3AE g1 e 9 S
AR H T & e § e R #9 9
¥ W 2 T R FA 96 T ST SHARTT §1 3 U
1 Ud 2 qH @ T E
105. Which of the following two states are the
leading producer of bauxite in India, as per the
Annual Report of the Ministry of Mines, 2020-21?
@H AT @ 2020-21 & AT RUE &
IR, frafefes & 9 = & & 57 9Ra §
SIS o TG SeaTEeh &7
Odisha/3Titem
Andhra Pradesh/3Tiel 9e9T
Chhattigarh/S<taTg
4. Gujarat/JSd
Select the correct answer using the code given
below/=f=t 4T 7T e ¥ | I FiT-
Code/ahe :
(a) 1and2/1 3 2

1.
2.
3.

(b) 1and 3/1 3 3

ot (Curcuma Longa) 21

(c) 1and4/1 3 4 (d) 2 and 4/2 37T 4
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Ans. (¢) : @ HAE H 2020-21 H @Mt RuE &
STHR STFEe % W@ I TsF S 9 oA g
TS H1 Fe S qq Y e AR T TG
IUEH &7 g1 SeaEHdg ¢ b Sieee uegditEm &
SETES B § A8 FHE AN 31ET oAl 1 H & Gl 8
106. To reduce the interest payment on the

Electricity sector, which scheme has been
launched by the Government of India?

S G W S WA 9N W i ¥g WRA

TR 3 i Y ISAT YRS i &2

(a) UJALA Scheme/3STell st

(b) Urja Ganga Scheme/Zwsit T et

(c) UDAY Scheme/3&a IS

(d) Saubhagya Scheme/|T ST
Ans. (¢) : FoTl &F W AN PTIAH IR HF B gg 399
T FAfq Isoad SR TTARY AT F YEA
for #ae g/ FEWR, 2015 # T A1 gEa A
o F forga fomRor wwafel @ forfta Rafa § gam wd
TR [TEGR BT TAT IFh GHES FH TR GHEH

YR e 2
107. In the following table, the missing number 'x'
is-/fore wTieft &, oo we x #-
3 4 6
8 X 14
18 20 24
(@ 9 (b) 10
(c) 11 (d) 12

Ans. (b) Y99 T ¥, 3x2)+2=8,8+10=18
TAT T G, (6 x2)+2=14, 14+ 10 =24
3t yoR, fdfa @™ 9, (4%x2)+2=10,10+10=20

108. Which one of the following gases in used in
manufacturing of polythene"fﬂﬁﬁ%ﬁ?

frafafaa o @ ferm /T o1 SU=T g §72

(a) Ethylene/Tforeis

(b) Carbon-di-oxide/HE-ETE-FAEE

() Nitrogen/:fT'S'@GW

(d) Carbon monoxide/ae HRISTFIES
Ans. (a) : Tl a9 d T &1 STAT B @l
TRl (C,H,) ®1 359 @9 T I=d I TR TgAshiHiol &
N 39 Wi e ST @1 gEeRl SuAiM feh & afer,
AR & T 1 e A § fhar S 21

109. According to the Constitution of India, the
'Executive Power of the Union' shall be vested

in the/YRd & Wlaem= & , hR
I uTeTeRTt o1y’ fr=ferfiaa ® ffea &-

1. President/l'l'gllﬁf

2. Prime Minister/SeI=Tast

Select the correct answer from the code given

below the lists/<er feu @ E&S T e S AT
oA HC-

Code/%< :

(a) Only 1/%aa 1

(b) Only 2/&aa 2

(¢) Both 1 and 2/81 1 3R 2

(d) Neither 1 not 2/ @1 1 3 71 & 2
Ans. (a) : TT TR % R 53(1) F TR FX
# Fefufas wie Tpufd # ffd anft ok 98 TEe
T HfeEE & STER WY A1 319 el AfREl &
T HUM| YR H TS sFae i SO 741 8
qpufd THEE # eEfufs @ qur YumEs SR SgE
Hitee S HrEaH |
TR HfSEE % 97 V 6 STwee 52 § 78 % § 6™
F Frfurfers & aufq 81

110. Match List-I with List-IT and select the correct
answer from the code given below the lists-

-1 st | gafaa wifag qor glest & e

feU TTT e | TE 3T T T HitwT-
List-1/g=h-1 List-TI/g=hi-11
(Minimum (Office/Post
Qualification AR/ UT)
of Age/<IAdH
3T 3TEe)
A 21 years 1. President of India
21 e TR o Tt
B 25 years 2.  Member of Panchayat
25 = EEIEORICES)
C 30 years 3. Member of State
30 Legislatvie Assembly
T faam=ar 9
D 35years 4. Member of State
35 9 Legislative Council
T faam aReg
B2
Code/%< :
A B C D A B C D
(@2 3 4 1 b 1 2 4 3
)2 1 3 4 @4 1 2 3
Ans. (a) : 'Flﬁ‘ 'ﬁ'ﬁ"%ﬁ[ %—
qEit-1 =11
(R ST ST (3fRw,/uT)
21 a9 - REIRRISEES]
25 T - TS fqgmer gew
30 I - T fagm 9Reg wew
35 au - IR & i
111. With reference to the 'Galapagos Islands'

situated in the Pacific Ocean, which of the
following statements is/are correct?
Eg

Yot HerErR B e fremurie grauge’
wed ¥, ffmafafaa & F SA-1/F w98
/8
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(1) They are formed due to volcanic activity.
et SaTemgE fafafi % 3N g ©
(2) They are part of South Amerlcan nation
Peru. '{Tg T e #

Select the correct answer using the code given

below/==t ﬁ"{ q ke o wE 3T ﬂﬁ'l'{

Code/ehe-

(a) Only 1/F34 1

(b) Only 2/&aa 2

(c) Both 1 and 2/3T 1 3 2

(d) Neither 1 nor 2/ 1S d 2
Ans. (a) : TAIIE Z9 TR YT HEWEER H 9-HeT
W F AE-TE hd S f6 # U A9 9 8
T8 417 TE ISR I fE & R aRyvr SRS TR
g 1000 fFH. g w fRew 1 oad 1978 #
AT £9 T B I 5W 9 R A F T
§ fafgd foFan T o119 €19 9 W Hier, I 3 W
I Ffg yeifeat o S 21 g9 5 39 49 9
% T ff9 & g 1935 § 9 S Temeg & faa

1. The image represents dancing Shiva
having four hands./J€ Td I Ean) TQ
TR EIT oot Rt ot wferfrereer st §1

2. In his right ear, he wears_a man's earring,
a women's in the left./ A ‘ﬁ, CFy
T T8 &1 501 T &, 91 # Ueh AieeTt

Select the correct answer _using the code given

below. fer @ He w W & w9

Code/%ne-

(a) Only 1/Faa 1

(b) Only 2/ 2

(c) Both 1 and 2/&1 1 3R 2

(d) Neither 1 nor 2/ @ 1 3 AT & 2
Ans. (¢) : I FAH U JF & TEE B g G
Waﬁawﬁhﬁﬁﬁqm%eﬁwm TR
mﬁﬁawqﬁrﬁfﬁaaﬂ?ﬁéﬁiwﬁmﬁwﬁ EE
TS TeY F Hedl Ted & a9 918 § Uk Afeedt H q@ W
I HET & HerTd W SR ST 71 3 gH T
iR % &9 § S S 2

T o7, 3 EARTT H a8 1959 F TAIIIE TS U
F gaet fam war| or: fashe (a) e ST
112.

India is the largest producer of which of the
following frutis in the world as per the Annual
Report of the Department of Agriculture Co-
operation and Farmers Welfare, Government
of India, 2020-21?

ORA TR o iy TEIT ud feram smeamor
foramr =t arfifer RarE 2020-21 & STER 9Ra
fag o, frafefiaa # & fora well vt qod 2T

3TEH B2

1. Grapes/3TTX 2. mango/3™®

3. Orange/daXT 4. Papaya/cl'liﬁ?ﬂ

Select the correct answer using the code given
below/ =l fqT T He & ST & g
Code/ah< :

(a) 1and 2/1 3 2 (b) 1and3/1 3R 3

(c) 2 and 3/2 3 3 (d) 2 and 4/2 3R 4
Ans. (d) : IR0 THR & FN T & FHHE FHoam
foamr & affes Rar 2020-21 % IR 9RA fawa #,
AW T T B GO FE1 3 I &1 R Y
41% MM 9RA IcAMed FAT &, TR STl I T
ECIUE HAT: T T R WE W ¢ IO & 3eaad §
f 9T ¥ W 21 9RG T SeiE g F B 50% T
I H 21 AR FfeEs 5,699,000 S S % WY
gﬁmﬁmwmmél TG Al Sl

114. 1f 44 x 75 =7454, 83 x 74 = 7348 and 55 x 48 =
4585, then 14 x 45 will be equal to-
TE 44 x 75 = 7454, 83 x 74 = 7348 3T 55 x 48
= 4585, 7 14 x 45 ST BRI
(a) 4145 (b) 4415
(c) 4451 (d) 4154

Ans. (¢) : forg Jh1T,

44 x75=74 54

ab cd cbda

83 x74=7348

ab cd cbda

55x48=4585

ab cd cbda

34l TR,

14 x 45 =

ab cd cbda

115. As 'Part’ is related to "Whole', in the same way
'Arc' is related to, which of the following?
@ wew ‘9mr’ (Part) ‘€YU (Whole) ®
T &, IHt e ‘=ma’ (Arc) Frafeliad &
¥ frad wwafee §7
(a) Area/SIThel (b) Chord/sfrar
(c) Circumference/dRf¥ (d) Segment/@UE

Ans. (c) : N9 TSR 91T (Part), W{Uf (Whole) &I Th

B FEE B 81 SW YHR WW  (Arc), URM

(Circumference) #1 T BT g5 Bl 21

116. Uttar Pradesh Council of Agricultural Research
is located at which of the following place?

ST YQPT H ATHU UREg )
Afergen!, TSMMRET HAY: TR AR T =Y W W 2 & ot
113. With ref :ﬁ?h t”ff f 'Nat %th o #
. 1 reierence to e statue o ataraj e

Lord of Dance', which of the following (a) Lucknow.

statements is/are correct? ) (b) Meerut/Hi3

‘TS T % W # ufd % ded #, (c) Gorakhpur/TR@T .

frafafes § ¥ SF-a1/Q woT w482 (d) None of the above/Sut # § #1¢ T
UP RO/ARO (Mains) G.S. 2021 (Ex.dt. 24.04.2022) 22 YCT



Ans. (a) : 3T T FY SIHYH uReg oaqs | fod
2\ et e e 1989 T @

o WY H WA AT YN WM & T 1952 |
TGS § & M

117. With reference to Rhine river in Europe, which
of the following statements is/are correct?

T F W T & weod A, fmafeafea § @
H-T1/T AT TE E/E?

(1) Rhine river is an important pathway for
industrial activity in Northen Germany.

T Adr, sad wdf e sienfiem
Tfafefirt & fore T Teegut 7rt ¥

(2) Port of Rotterdam is located at the mouth
of Rhine river.eTSH &I E -4 3 REE) <t

o T W fied )

Select the correct answer using the code given

below/srer e T He ¥ H W &1 T=H

HifTa-

Code/< :

(a) Only 1/Faa 1

(b) Only 2/&ae 2

(c¢) Both 1 and 2/81 1 3R 2

(d) Neither 1 nor 2/ @ 1 3 AT & 2
Ans. (b) : TeTSH & T=TME T4 T4 & oH W foq
21 AT T T STl o § 7 afew ofaed i
sitenfie fafafeel % forw v Aoyl A 21 SeoE
2 # T T8 WY F B2 A9 G G T arelt T 2
78 g oo ¥ =9 @ ¥ e & 919 390 9R &
oW W fuq Jeten a=ume & e 1300 fHd #
T 79 FHelt 2|

Ans. (b) : IRAT SFTUE AMT BT 2021 H1 AT
o # T8 afes el (i g2 § e a1 gmea
T fowa ‘st W’ o e st i
AT STAETEAT S G HiT q97 Shad e ®
HIHT 97| IRA AR Ha€T 5 40 § HEHUT & 3TFTSH
# foer & 9rfiel To9 a¢1 S W SN FR@UE &
HIhT TF & ®7 § g & T o

119. When was India's first National Action Plan on
climate change released?/¥Rd % TIAH g

vﬁaﬁqumw&mwmwf
(a) 2012 (b) 2015
(c) 2008 (d) 2000
Ans. (¢) : 9RA & YW Soag WRadd | TEE FE
FISET 30 S, 2008 F AT a1 TN A8 3 AEE H
eI AT & S G F AT H Wewied B §, qo
& Serarg afad w fomst & @i i gl w9 §
TET 1 &1 TEF Hd A & BN F ®9 § o713 T
forer @ S Sy 9Radd SFhel qOT AT, Sl
TeIA UG WIHfieh HEIE T A G H F@@l & W
F B
31 UF fawe-
- T 9R faem
RS CRENC
. fefi St 2er % forg gt firer)
o e fare W gy e
« 2T 9RT 37 TE A
o Tad & g TEE fRE|
o Sar IRadA &g WHIaS IH W TEE e
e faeTer wRReres o 3 g free
120.

Which one of the following is not correctly

matched?

118. With reference to the India International frrafeafaa & & &9t adt gﬁﬁ;ﬁ.[ TR 8?7
Trade Fair-2021, which of the following (Place/EeTT) (Districts of Uttar
statements is/are correct? Pradesh ¥
TR SIS =R Aer-2021 & g #, radesh/IT Yo % forer)
frrefafge § & S-T1/8 we 7 2/8? Batedh N
(1) It was organised in November 2021 at @ E!T;%e'{s wat 3T§1r_3

Jaipur, Rajasthan,/S9ehT qaeR ,
2021 ¥ ’ ¥ T T om (b) Deva Sharif - Jaunpur
(2) Main theme of the event was 'Atmanirbhar (c) Sankisa Farrukhabad
Bharat'./3TEISH &1 & fawar ‘ smerfsit o S s—
an (d) Bithoor Kanpur
Select the correct answer from the code given fa HAR
below/Hr=t fau 7T e & WEr I giw- Ans. (0): TR TR E
Code/ge- ESIE] I Y9 o et
(a) Only 1/Faa 1 SE— . N
(b) Only 2/&e 2 PR J—
(c) Both 1 and 2/31 1 3 2 S S
(d) Neither 1 nor 2/9 a1 SR a2 W FAR
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IR YSIT THIETT STfUehTil /TaToeh WHIT AT (T&) e, 2021

Q= et

STET Aied €T UIT-US (ot farfer : 24 arier, 2022)

1. fre=faRas § @ ar o g 87

(a) SHHI dTchlfcTeh q4Te JeT|

(b) T FopEeh I W feran T 2|

(c) & ¥9F ¥ fpaw 9 g €2

(d) 9RT T Tgfgemeh 27 21
Ans. (b) : T fH AW R fora@r wa @ 9 s 7
TOH Y5 ®Y - T fHUs AW forar war @ gl 9
T IE T
2. T ¥ focim vreat T e I g

(a) eTfaafa - fau (b) STaTelt - fRag

(c) S - TumT (d) fafed - ffis
Ans. (a) : BT TU foam v g § ‘enfawig - fqwE’
T TTerd B | nfeata & faelm ke g 7 5 e
3. AEW IR Ik deVd ®9 @t 3¢ W o foe

fararedt ® -1 forehed T 82
(a) 3T - e (b) TR - 3qaR
(c) STEH - ST (d) SEEE - AT

5. frefafaa § e q97 Ted g
(a) TormoT § @31 & ofe 9Rfed & S 2|
(b) T el s @ w3 1 =fe wafed g g,
39 g Fed § 1
(c) AN & feufe o SMuR W sifhd’ v fergior
T fergrsT & 21
(d) fRioT v wdE 9T % Usel W el €,
fersrsr o e 4t W A A
Ans. (d) : ST § Q90T &1 T & HR § B a-aeft
fergrsoT forersr & et W & @ 3t favrsr & A=
v fim B ¥ ved A AN § 41 S8 s
fergroT a1 farur-faerss sed © o S fawmuT fawrsy &
a1 Y S 8 o 39 faE-femer #ed &1 o faeey
(d) TTerd 21
6. HEATETEe fawNuT ST g W g

(a) ThHaTES fawoT (b) sTgfaTae fagmor
(c) TUMEES faemer  (d) SHREETEE faer
Ans. (b) : FAT gfEmEs fawmwr g, St f

Ans. (a) : RT T F9w 3R dq9a gl & ‘o - Tfer
T T 1 IS ol qgHd ‘37ETh’ B S el
‘T T g 2
4. TrfafEd ¥ o 91 9 UF 22

(a) M foTw 3 ot e 7 37T e

(b) I HT AT o 6w |

(c) TH-TFH FHTh Tt W M

(d) TR g Fea W foaw st am grf
Ans. (*) : RU U 9ft ST oS B, THT YS T
o &=

TG, AT
W fau 3¢ b e
3T TR |
W AT AT e
o = @i
TH-TH F goff | )
TRN T8 e W o gt | TeR 7 Fe N W
e B It A g

Vg, AT
W faw w3 e
AR |
AW HEAT AR MR
@ G
TH-TF F g4 J )

HeATETES fRIv0T & T TN 2 |

THAETeIeh T9NuT - 9gal, IO, dIE

TUHTEreR Ta9IeoT - U, &, @41

HOEEaTe fawreor - g4, d, TR/ |

7. Frafafas v § @ SE-91 9 g9 ®0 9
fergrenT €2

(a) e (b) 37
(c) TR (d) Tl
Ans. (a) : ‘T V15 TUTETES 9SO B SEfh o et
fergres &, Fomrer fergtoor fomt 2-
Tergrear fergreror
a7 afefes
qRaR qiiaie
B Uil
8. T U fevrwur yreg T &—
(a) 3T (b) kv
(c) =R (d) 37

Ans. (¢) : BT T v § SRR veE fqRNOr 9 @
fergrea @ gent fergmor ‘srry &mm
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9. ‘I vl % fow ww v’ & e fera
ferehedl o whI-HT ferehod TTera 372
(a) ST & A - A
(b) T & AN - T
(c) UZ I 3T - T3
(d) onfE § 3% % - 3Td
Ans. (d) : THIY ‘ME ¥ 37 a6 & [0 T I
ST B e WIsR e o A 8 % WM W
T BT 2
10. ‘3ot fyarfear &ft ¥ Sow UF' - 3 oW
IRt o g U vl 2
(a) SNIES (b) ST
(c) = (d) i
Ans. (d) : T ‘SO faaTfear B € 39 @ & foau
TS T I B
SR - ferysta st e # ferver gam da A
RS - 39f/R & § I I
TS - IAUEER & fou M forn m @)

11.  ‘Imaf’ o1 90" 7 §T—
(a) 3T (b) fy
(c) 3Ma (d) 3%

Ans. (d) : ‘3@l & do@H & AR B T T gk
T ‘eIfiq’ 3 & e &9 ¢

12. A9 9 "6’ 9TeT T Teren e §—
(a) faa (b) =h
(c) Bfea (d) e

Ans. (a) : Toe =2 go’ &1 faeiw @ @ 9 5w
1, Tl I V& T & FAH 2
13. 'S 91 iRt § U W e o fon U vieg
3
(a) STfdRIys (b) TR
(c) ST (d) T ¥ P T
Ans. (¢) : AR S I R F ww F A & fau
TS IR THIRISS 2
rfereTiaes - o 3foer O Gafta = 71
Ufeeriees - T iR @ wafed 2
14. 'S 3TUeh Sfi@l W SN & WM B - 3T

15. frefaRaa o faeim vt = w&dt 3w 3
(a) 3FE - fopre (b) T - AhAA
(c) T - fhiol (d) 91 - A

Ans. (¢) : ‘I - ol foelm wss @ W g 2l

Safh 31 WAl 1 TE A I 39 YR 8-

R Teretr

3R 3R

TOTTA QS GE)

EIE7 FIH

EIEEH fere

16. frafafEad ¥ 9 U g a1e §-

(a) ISATHE Afth Sl G ST MR

(b) ERT IRT % AT e Wl B

(c) gu@r 7 Ta & F-=R Hear mA |

(d) 31 FET-yuTelt et ARl
Ans. (a) : TO9E ARF & T HAT AT |
T VR I A SRS ¢ IO VS ®Y
N1 &l 9 I 9 2 |

17. ‘Sucrert’ T ey yies §—
(a) TR (b) 3TfercErHT
(¢) T (d) Taw

‘Ans. (b) : ‘ST T faem ‘e g ‘
18. Frafefaa # yg ad=t arern vieg @A-T1 37
(a) GE (b) SR

(c) 3T (d) wfs®
Ans. (b) : ‘ARG [E T T WK 8, TElF FA
v # g A e 2
Sabiced &
Ll g
FRARS STARE
s LS
19. ‘' oS Y W G gAT &' ok oI Uk vies ¥
(a) Tl (b) arHget
(c) asmIfoT (d) dromraTfor
Ans. (a) : T S I g9 § G991 g0 @ b AU wH
IR HEEET B
qraaeft - qrard foeReR @ e |
TSTUTT - R w1 § a9 W R

I T  foT U Y e #- oo - for @ Ao A
(a) T=TEAH (b) FTEATT 20. T | a0 - AgWE I TH I I I[F 8,
CEGEE] (d) ST aE - -

Ans. (c) : AT ST IS @ T A & T ar (a) 2 - T (b) ¥ - g

% fow 3@ v e @ (c) 35 - 39 (d) TR - TR
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Ans. (a&b) : B F d@H SfsH B 2 A &
‘Tfedr T $@ A aEW Ty A1 2 A 5 TRyl o
AT & frehed o1y

21.  ‘wgur’ o ferudiarele vreg ERT—-

(a) X (b) T
(c) %8 (d) ==

Ans. (¢) : TgT &1 forliads e wer B o wedl
& ferem foet &
ITeg

ESEIn
Bl

I

foretmr

HHYA

Gigu
HZ/HIR

22. frAfaREa & aew - agHd ST Td I §—
(a) g2 - g8 (b) e - T
(c) TUARTICH® - 99 (d) St - #Fasht

Ans. (d) : ‘SfEeh - gl qEw - dq9a # g ¥ e
T g1 Theel & qewe ST S SEfE o= g
T 2

23.
T 91g vee T W@ B
(a) forferam (b) fereiry
(c) feifeg (d) ST

‘HYST U T TOBT R AT’ B 3T IIsal h

Ans. (b) : T TR I H I B AT F T
% =R fad’ grmi

faferer - gdf-mdf, 3@ R Te F # wlF)

Torfereg - e weefier &t
TISHET - | F S AT

24, 3TYg T AT IS B
(a) STt (b) arg
ORIEE (d) s

Ans. (¢) : TS T AT IR JreAT 8, IUH Y T
‘Gl B S ST WIeAl S AT IS 7

25, wd-t @ g @ Prafafiad § @ o vee -
(a) ST (b) IFPET
(c) ST (d) IR
|Ans. (¢) : T 3 3 T ITRT T = 2 |
26. TrefeRaa § qgwe yTsg §—
(a) WK (b) FF
(c) FIh (d) wa

Ans. (a&d) : ‘TSR’ GBI Ik 7 T dcqT HUSHR
M TefE FHE vk off aeve 7, fEe aem g
BT | 37 ¥sE deqd 2, o qg9d &9 7 -

T LECC)
PFPT El
FTF FgN

27. 9% g WA §' 3H 9 ° YT (g ves
T 9 -
(a) 3TYUTFR srereh fargrooT
(b) TRuToT St fergrsor
(c) TAfy=a Gemams faemon
(d) qeHTe ey
Ans. (b) : ‘T8 9gT @ ¢ W A9 H T TgT IS
ofteTor e fgieor 2
Tquier Sterek fagior— o, T@, 2, @R
fergm
goTeaeh fareur— oo & gomeenr § T stEar
TH AR IR STEE SN ST F T
gfic ¥ fmmn S 81 S9- ofe &1 Sed 3R
SR |
28. TR W AEH - AIWA T I[G T E—
(a) IS - U3 (b) 3T - W
(c) bl - Sl (d) fire - Hiar
Ans. (c) : ‘Tl - FH, TEW - TQIT F Y TH 2
S T e - qe9d % YE g e E-
Te|w GEGE]
Bl a3
IR @<
fam Hrar
29. fo=fafaa # ‘srer’ w1 faem 3—
(a) Frm (b) famg
(c) Fel (d) 3
Ans. (d) : 39T & fodm eER M et vl &
ferer forer &
ITeg
fa=
s

F

30.

foretw
37t
ardt

EEl
‘GIETIITUT’ ST SHTHAT YETE TE A S0 & el -
(a) 3TAfSIIOT (b) T fereoT
(c) e fergror (d) 3rEM= fagmor
Ans. (a) : ‘TfRISOT I FHEA FE TE A TSI FET
21 forgmor vl & 9o saW Al vl sl e
FeT S 8| - HE Fgd gow 81 e el farrwo @
w2
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ITT WYT FHter et/ agrees aeter Attt (ft) wfrar 2021
QT 37T

' UH-TA

(e fafer : 5 femwar, 2021)
(TeATIEAR TergarsuT |iga =)

1. Which of the following is not correctly
matched?

frafafaa & @ o9 wd gataa 7& &7
Foreign Travellers Year/s of Tour to India
n%lésﬁ (Ve JHOT W)
(a) Fa- H1en — 399414 AD.
399 T 414 §.
(b) Hiuen-Tsang —  629-645 A.D.
gp 629 T 645 §.
(c) I-tsing - 679-695 A.D
i 679 ¥ 695 %.
(d) Al-Masudi -  957A.D.
- 957 %.
Ans. (*) : T8 g9 59 TR &-
(fereeft @) (YR JHIT IH)
LIiRIE] - 399§ 414 €.
& 9 - 629 § 645 .
gfegm - 671-72 9 693-94 E.
-G 915 T 916 §.
ANS: AN T HH TW (c) &1 A 2

2. Which of the following king/kings was/were
elected/chosen directly by the public?
frafafea & @ fRa/fea

T/ R

TAT G YeaAeT ®9 | AT 7412

1. Harshavardhan/g¥aeq

2. Gopal/"ﬁ‘?l?f

3. Yashovarman/aeTat=

4. Nandivarman Pallavamalla/Af<avs qeaavea
Select the correct answer using the code given
below-/<t fqW 7T e T I
T A HTT—

Code-/e2-

(a) Only (1), (2) and (4)/ Only (1), (2) R 4)

(b) Only (2), (3) and (4)/ Only (2), (3) 3R (4)

(c) Only (2) and (4)/ Only (2) 3R 4

(d) Only (2) and (3)/ Only (2) 31 (3)
Ans. (¢) : TN & T & UG (637 §.) ATHT TH

T el H SWISIhdl T STaE &1 FTTaRo

T 1 3edl VA §. o qeF 3N U 3YeFaer

o g ‘gl USEyr &1 wad yArd e o e
ST 591 ¥ % TN g A1 FARMEHA N TS
Hells off FUT SHH! FEhI 700 T H 740 3. F HER
HET ST B

ﬁv_vﬁw

During the reign of which of the following
Sultan of Delhi, Hindu gods and Goddesses
were worshlped in royal palaces?

&

frrfafaa o & faeelt Heawa o fore gea

IMETRT B IMET wgent W fig <efi-Taarei @t

T Bt oft?

(a) Qutb-ud-din Mubarak Khilji

FATE T fgersit

(b) Nashiruddin Mahmud/ATa&E= Heqa

(¢) Nasiruddin Khusro Shah/ATf%e GEll w8

(d) Alauddin Masud Shah/3TASE T2 I8
Ans. (¢) : Raerstt @31 & 1f<am HE TEEH Gadl e
%Wﬁwmﬁﬁq}?éﬂmﬁﬁwﬁ
RIREIGITAC] KIES gfafia qaeH ol
mw&%ﬁ%w#mWﬁﬁ
3% foEg TEm & vy SR W @R ¥ & AR
T | IEHT ATHA BT TRAT AT G Tofrsh Tl
T T F G T o) Yo s TR 788 &
A F1et # S T T A e

4. Which of the following Sultan appointed a
Special army to protect the boundaries of the

empire? fra Hodr T I \IHTS
=t it @ g ¥ T fwiw 4o i frees
feram ar?

(a) Tltutmish/SeAreT

(b) Nasiruddin Mahmud/ATFH&EM 892

(c) Balban/acia

(d) Alauddin Khilji/3Teee Racrsit
Ans. (d) : G TAREA Racrst § THST i
T 8] U O G & g fREr em
SR diH W Toeq g sHEE T el # A
mﬁwwmﬁﬁw@mﬁ@m%{iﬂé

T

T e T 'S e 5 e 1 8. et 8 s 4 et 1 e
| TR 3 B e weE Afees fadrr &y |7 @ ATe SRR § Ted A ge @ T S 6o
e TeerEad % AW ¥ S S 2 3feres U9 a1 forear off fopam T
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HITeT AaTSY

The last Subedar of 'Bengal,
appointed by Mughal Emperor-

Wmmﬁw@nﬁwﬁﬁw@m

2]'[_

(a) Murshid Quli Khan/qf¥fg Feit @f

(b) Sarfaraz Khan/H{H{st G|l

(¢) Shuja-ud-Din Muhammad Khan

RSIECAC IR ]

(d) Alivardi Khan/37cftadf @f
Ans. (a) : T E9E HREER 50 1717 # 9%
S 1 S YeRR qR1E Fefl @ a1l 3 & 9y ama
T AN GEE WA @ YRS g3 | 3 S &
RE I CC Al AR fFar a1 1719 § H
FRENR 5N qRieget @f & sifeen & &7 off ¢ faon
T ATl 9 1727 § YEI-3E-EM, 1739 # Aad @i
T 1756 H fAUS-33-Irel A H 9 =

ferferer

6.

who was

Which of the following was declared as his
successor by Guru Nanak?

frafafeas & ¥ f&@ TEAW® T oAl
IO =i feRarm oar?
(a) Bala/aiet (b) Lahna/eig-1

(¢) Mardana/H¥aTT (d) Sri Chand/#t =%

Ans. (b) : T&FS R &A1 I TOAT IR =ifa
foFa T A7 AR F O[EARS FNW R AW famr | .
aq & Edd  GoRHS Ak SN TeAfes
frameficrr & oRyef & g FRoT F fedl & W W
TE T ST S 31 WE 1504 . H USE & RIS
¥ R T Ta § g o411 S @ o 9% e
%9 & I T &M g Fell TS & 7 o

WTHTeh, Witghiceh, SIS,
fresmifer, wergy @9, feRam
anv—cﬂmqaamranfqﬁm

Consider the following events and arrange
them is chronological order:

frrafafga geameil W fem st ik 3=
EICEDIECINE ISR IEI SIS
I. Establishment of 'Gadar Party' by Lala

Hardayal.

FATAT TEATA FIT ' TTEX UTel’ aht T
Establishment of '"Servants of India Society' by
Gopal Krishna Gokhale. il M@ g

‘g 31T $feam WraTEE’ S v
Publlcatlon of Hicky's 'Bengal Gazette'.
et o 'SITTTET TTSTE /T YERII
Establishment of 'Bengal Asiatic Society' by Sir
William Jones./®@X LU

TfyTTfeeh HETEE’ st T

Select the_correct answer using the code given
below: feu @ e & I

T oI T
Code/<he-
(a) 1L, I, Il and IV (b) L IV, M and I
(¢) IV, 111, I and 11 (d) L, IV, L and II
Ans. (b) : ST AT fGFh gRT ‘St Toie’ ol JhI9H
1780 E. ¥ foar mam
. W fafem S g e wfyafes ey @t
MO 1784 3. | hotehal | & T
M FOT M@ g G 31 Ifear e &
?«ﬂwwoss‘ & o (veTm) # #
o Tl A § T Ul # e, 1913 3. 0"
Ghifaenl (3D | fowar mam

II.

III.

Iv.

9. With reference to the Fort William College
a“m gﬁ%-rg Calcutta, which of the statement/s_ is/are
3 correct? heTehll
R — T, -1 / | oA T ¢/2?
ol T | <l ‘Q.a‘ N 1. It was fognded on 10" June, 1800 A.D. within the
anﬁT\?q hT TR Fort William Complex in Calcutta.
TS TG 10 S 1800 §. Pl Hoashdl & HIE
7. Who among the following visitors to India did fafeaq siteeg & Eg‘ oY)
not belong to Portuguese country? 2. The main purpose of establishing this college, was
frafafes & & &9 9RG 9= aren At to teach Indian languages to British officers.
T (Q9T) T &l em? TS O H T I}y ey fvmRal &
(a) Duarte Barbosa/gaTITf ST i s B e 3
(b) Domingo Paes /SR T :z:g::.the c%&eg;q ag'f_vd_vea::Tr using the code given
(¢) Peter Mundy/dex Eﬂff T W aﬁm_ <
(d) Fernao Nuniz/®A37 §=ﬁa code-/FE-
Ans. (c):WaTlﬁa'lﬁ. EEH aﬁaﬁﬁtﬂag@?&%ﬁ (a) Only 1/&aa 1
1 frarft o1 S YTESRl % WS § R ST o) (b) Only 2/%aa 2
ﬁwﬁﬁﬁ@mmﬁaﬁrgﬂm,gm (¢) Both 1 and 2/1 3R 2 gHI
EEWtFﬁaﬁi ST e a9 (d)Neitherln0r2/7-fFﬁ17-|T§f2
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Ans. (b) : B2 faferam Fast # O 10 [ 1800
3. 4 e doisiell 51 holshdl & Id faferem Higeded d
foram e o1 S T 3T fafew sifeemfea
ﬁm‘cﬁawaﬁﬁmg?mﬁﬂmoz R
SRRy o e W T8 HIAAS g HT (AT T SHA
S8 W 1806 3. § TAUE F dolad H uR@IOT g
e T

10.

Given below are two statements, one labeled as
Assertion (A) and the other as Reason (R) :

e g wae wue QU T ¥, U W Afieme
(A) 3T EY =T THIVT (R) HeT 7T &:
Assertion (A) : Dadabhai Naoroji organised the

East India Association in 1866 in London to
discuss on Indian questions.

TR (A): IRAF A W fEew % fow
TEME AUST 4 1866 H wed # S zfiear
THIRGUEE &1 13 fhar

Reason (R): He wanted to influence the British
Public opinion.

T (R): 98 TS SHEMY i g9ifed T =@
o

Choose the correct answer from the code given
below: / few T % § wH S W w9

(a) (A) is true but (R) is false
(A) T 2 fbg (R) TTom@ @
d) (A)is false but (R) is true
(A) e & e (R) W& &
(c) Both (A) and (R) are true but and (R) is the
correct explanation of (A)/(A) 3R (R) gt
& & 3 (R), (A) F T =0 @
(d) Both (A) and (R) are true (R) is not the
correct explanation of (A)/(A) 3R (R)
& § 3t (R), (A) F T& e 48 §
Ans. (c) : 94 1866 ¥ TR ANST o oad H 3R
gfrgan @ﬁ&aw F1 A o ST T @ 3RT 9RG &
A gest W feeR fawet s EFﬁ'( 99 fafew
SHAT BT UA WIS A o1, i BRw @ wndE
qreTE, 3% F9 4 AR @ T SR e %
et § greive § wueq uw @ gl
a: o T famed § HU SN HRUT S g & SN
Ho HROT & e Ff HT 2|
11.

With reference to Indian Civil Services, which
of the following statements/s is/are correct?

grdtar fafeer @er & ded o, fa=fafaa
HAA W F BAAT/A HAT T §/2?

Government of India Act, 1919 Provided for a
separate examination for the Indian Civil Service,
which was to be held in India/9d HIDHR
sfafem, 1919 # 9rdE fafgd o & fou
YT e T T AT T, S 9 # g o

In the Indian Civil Service in 1941, the percentage
of Indians was more as compared to the

Europeans. /A fafae e § 1941 ﬁ, R

Select the _correct answer using the code given
below: feu T % & I

T A T

Code-/<2-

(a) Only 1/%aa 1

(b) Only 2/&aa 2

(¢) Both 1 and 2/1 3R 2 &=t

(d) Neither 1 nor 2AA 1 A 2
Ans. (¢) : TG YT AT 1919 S0 TH A Gar
3TN o 3T S o1 P TE TG T3 1926 . H fHa
T 4 e & ded weell ICS wiem (ffewr fafae
TAT AT o 37EH) 1922 H TARER § SMARA g |
a9 1941 ¥ "R fofae o ofen & Ui sfasfE
& Il 8 & HEA Al 1 37U A 8 T |

LRI ERC R ECALY

12.

What was the name of the poet, who wrote the

popular poem "Firangiya" in Bhojpuri against
'British Colonialism'? /' w&ém’ D
‘Rt

foreg ool # AreRfyE eRfarar

forE= are sfa =1 @/ = an?

(a) Manoranja/tFﬁT'TrF{

(b) Ranjan Prasad/iSH €1

(¢) Triloki Singh/faet fig

(d) Rajendra Pandey/l'l@?( Uy
Ans. (a) : ‘TS w9 R gR fofewr sufevEre &
fog wogd § Al Hfaa “fRfer & @ S
21 T8 o 3% 1921 ﬁwﬁﬂaﬂr—qﬁm%?ﬁm%@
T f1 SeoEg @ fF wEReE yeR R 9egh %
UG, HE I THH T4 T Hiost 590 (FER) &
ST 31 S S 10 I, 1900 I 3T M|

13. In the Kakori Conspiracy Case, the main

accused Pt. Ram Prasad Bismil was hanged in
which city of Uttar Pradesh? LERES

W, wer= 3 ufea ww yae fafiwer & 3«7

T o Tore et # wiet & S oft?

(a) Varanasi/aToTdr (b) Gorakhpur/"'ﬁ'{'@g'{

(c) Kanpur/sqT (d) Lucknow/cdi@T3
Ans. (b) : 19 feH=R 1927 & Ufgd 9 y@© e &
TRER S § FN T893 6 & N9 F widt & T
M1 9 ST 1925 B T FEM TeAT F ST &
T fafd, T Afeel STeThie Soal @i S JvH
fife ot widh & 7 o1 T e B &1 9= 10 S
1857 (IR wewT) H g3 ol onedt 7 & H
T ISW TWHR 7 ‘FHN Hig H AW TGARL BB
29 T mﬁm%

Terfarer

14.

Given above are two statements, one labelled as
Assertion (A) and the other as Reason (R)-
o & wew fed T €, T W wAA (A) FaET

1 e Rganfe § 31 o)

T g1 3T AR R R (R)-
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Assertion (A): Rabindranath Tagore renounced
Knighthood.

i1 2R | Agege F SR i & )

Reason (R): He wanted to participate in the non-

cooperation Movement./ & H A
T @R 91

Choose the correct answer from the code given
below-/~f=r faw 7T Fe &1 F=T Fh W 3T
HT AT R

Code-/eh2-

(a) Both (A) and (R) are true and
correct explanatlon/(A) (R)
3R (R), (A) F T AT BT 8
(b) Both (A) and (R) are true and (R) is not the
correct explanation of (A)/ (A) R) EiE]
W § W (R), (A) B W = T e
(c) (A) is true but (R) is false
(A) T & T (R) e &
(d) (A) is false but (R) is true
(A) T 8 W (R) T 8
Ans. (¢) : ﬁ'&@ﬁ%%ﬁﬁ%ﬁ(A)ﬂ?ﬁ%
W(R)W%lm@ﬂaﬁiﬁnaﬁa
1919 &I T SYTHR o Sfcramaren 9 AhiE & fale

R) is the
W g

wey ¢ Lo zuty wmm & ot T swEm
I | 9T o % e
15. In the second half of 18™ century, who was

often called the local representative of "Aura
and Authority of Company Bahadur'"?

18 IIATedt o ST W foRd R chueT

| |9t @1 WSl 2022-23 F “TH RIH TH IR AT IE

Code/se

(a) Only (1)/&aa (1)

(b) Only (2)/&a (2)

(¢) Both (1) nor (2)/(1) 3T (2) 2t

(d) Neither (1) nor (2)/ @ (1) 7T & (2)
Ans.(c):wm%wﬁﬁﬁﬁ@?ﬁ:ﬁ%%ﬂ%ﬁ
21 3 HAerd 4 2030 T ARAF o9 B g @@ gRd
ol O Wl B H o FHiRa R & W Teled
AT 3R Forarg wRadd ¥ fwed # e & o wa
21 9T a3 2023 7% v Sfae £l
e off T g1 9T fa49 & U geg wer 9 A
(68,102 km) &1 ‘TS 2024 FeAr I ewar fmior |

F F TAH fohar T T el T I H A |/
17. Who is the author of the book "Sanskriti Ke
Char Adhyay"?/‘"{i’{@?ﬁf &% IR reTT Y&dch
& W@k HiT &7
(a) Mahavir Prasad Dwivedi/FediX s@mE fgadr
(b) Ramdhari Singh Dinkar/THer &g faet
(c) Maithili Sharan Gupt/ﬁfQPﬂ'S]TUT N
(d) Jaishankar Prasad/S/gisht JHIE
Ans. (b) : T & IR A [HH & A@H THIR
fig ‘et €1 39 e § fea ST 7 9Ra & Wi
sfe® & =R 9ni & @ic W faes # s fHar 2
T fi R St 37 T 7

SEIGT IAT-YiTeRa’ R T wieataier sher | 18- Match list-I with list-II and select the corret
ST o? answer using the code given below- .
() Kotwal -1 st I - 11| GAfeTa ity qem et
@& el feu U Fe &1 JERT ek @ I @
(b) Daroga/= g
AT -
(c) Amala/3THeT . .
(d) Landlord (Jamindar)/SHaR List-173=Mt-1 List-I1 c/\Tzl'Ef- 1
Ans. (b) : 18 &f IM@OEN & U4 § TR & T (War/gs) (Years/dH)
‘gl TR 3l 'Q'n:ﬁ'_'gﬁaﬁ” FT W gfafafer ETIRSIGI) A. Second Anglo- 1. 1803 - 05 A. D.
91| FHATCRd § TUTHHE G % I ok 6 § T Mysore,Wa%m 1803 -05 %.
IRAT T ST HEEd F fow e wHAR # ST STE-HYL TS
F | SHER 5 STMePR. T Y &8 T a9r oF B. Second Anglo- 2. 1780-84 A.D.
U (ARTEE) # fre % gfed @ R 3 famn e Maratha War / f&dft 1780 -84 €.
TS § ‘Hidarer TR & 9™ & Y9H F 9§ w5 ST - B 5
FAAT AT Fafh TR, - g 9 C. Second Anglo- 3. 1878 -80 A.D.
16.  Which of the following statement/s is/are Maratha War / 5 1878 - 80 E.
correct with rae;ference ‘g) Indian Railw:g;;r{ . 3Tel - HUST J&
AR Yot o wee § freteite & D. Second Anglo- 4. 1750 -54 A.D.
HIT /A HAT T £/8? Afghan War / et 1750 - 54 €.
1. Achieving 100 percent electrification by 2023. AT - HHTH 5
2023 T TA-SIr fergienor e q1ed e | Codes/&e :
2. A net zero carbon emission network by 2030. A B C D
2030 dh = FHTa IS Cah (a) 2 4 1 3
Select the correct answer using the code given (b) 3 2 4 1
below-/=r fT TT e T TART ¥k TE I ©1 3 > 4
T TI it~ (d) 4 D) 3 1
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Ans. (a) : G 1791 G 11 31 98 GAferd 59 FHH 2
-1 TeA-11

(T5) (@)

fadta oA I3 - 1780-84%.

fgdiiar otver - wige g5 - 1750-54 €.

fgdita stra-mer g5 - 1803-05%.

fediar o7t - STHTH g8 - 1878-80 F.

19.  consider the following events and arrange these

in Chronological order-
el W fem #ifvw eiv =

TICTSRATIAR SHaTRd ShitsTl—
I. Assassination of Curzon wyllie

Foi argelt H gl
II. Execution of Khudiram Bose

I 1 F S
III. Starting of 'Kesari'

Gangadhar Tilak

FATMER foetd g1 HE THER 93 H AR
IV. Starting of 'Al Hilal' newspaper by Abul
Kalam Azad/3/dd M WM& 50 31
feeer’ MR T &1 9RY
Select the correct answer using the code given

newspaper by Bal

T &

Hiferer HEAT/3TUATE o3/AEa et
21.

Which of the following is the largest Fresh
Water Lake of India? T ¥ wA

WRA i Tod ot W3 urt st 3fier 87

(a) Kolleru/Hias (b) Wular/geR®

(¢) Nalsarovar/adl TaX (d) Sambhar/HiR
Ans. (b) : IR I 9] Td FEHR H9 TS & § fum
A I AN G gend g 81 98 Fom ad ) Al
MY e o 3T &1 HoE A Y JEw H HT-
MeEd 2@ % e A e @ ge 81 AT §eR
o # fud U et 2, I8 TAER F99E % ded S
NG SRy e off 31 W P e § fRem
A T JeuH A el @R g S ST @ S 9Rd %
60% T I MYf F 21 e & fF 39 ol Far
HEN % R 9RG & T F€ @R U @A
sffeen fom foew @fe 21 98 A A 1 3T 2

22. The 'Tamaria' Tribes are found in which of the
following state of India?/' qURET’ SIS WA

?%QQ:WFW A o Trafefaa fera T # ureht et &2
(a) IIL, 1L, T and IV/ 111, 11, I iR IV (a) West Bengal/dfe amet
(b) 1L, I, 1T and TV/ 11, 1, TII 3R IV (b) Rajasthan/TSTEH
(¢) LIIL IV and I/ I, III, IV 311 (¢) Jharkhand/sR@E
(d) TIL TV, I and I/ TIL, TV, T1 3R 1 (d) Madhya Pradesh/A&a ¥
Ans.(a):@ﬁ%ﬂﬁﬂ@@ﬁw%— Ans. (¢) : ‘TARAT SHIT FRE@US § I S 81 UEd
= SR fqe® g/ 77 fredt sift & ewmia ot ’ af 2014 § srgfea
‘S GUER O A - 4 57ad, 1881 | ||Seta ® wnfhe S fa@ wAT gREve # 3= S-St
= GENW A9 FI JIITE - 11 3T, 1908| ||qeT1, FRER i, @R, veifear afs §1
= i el 1 g - 1 E\[Wi 1909/(23.  Which of the following is not correctly
= AJA HAH TS G matched?
‘A oA’ FHER 9 & A — 1912 frefefiaa & @ == a1 v gafaa 7 &7
20. What was the total percentage of Central (State/TT=A) (Hot Springs/TTFf sTﬁ)
revenue spent on é}/lilitary force in British (a) Himanchal Pradesh — Manikaran
India? ara a7 W RUS e P—
T T TR oot S e em? I T - .
(b) Odisha - Taptapani
(a) 40% (b) 45% A
(c) 50% (d) 55% N ) .
Ans. () : BIR® 9Rd § T 5d W =19 994G & (c) Maharashtra - Zg]reshwarl
w&gszqﬁ;g;;@mmmma;gﬁsﬁm (d)ff{rg B N%ﬁ .
TH ° AU F @ G 3T T ekl ujarat - arayani
atrﬁ%ﬂaﬁ;wwaﬁwﬁmaﬁiﬁ T - A
qETEiedl § AR @ S ggdl Ot 9Rd" Ans. (d) : 98 gHfed T TR B
T S iR § e w0 SR A F Ger SN (State/TS) - ??HotSprings/’Tﬁg{el‘)
T T g T o |~ vt
TS § Q@ ST o1 RG] ERGICE
EIERI few - @
Note- 3T T3 ois TaT ST 3 69 T8 3 faweq| | |To0E - Al
(a) I AT 21 T - AwEeh
(Page-156) Ba-fafte == smerfaer v =1 gfeem| | |om: @ @ 5 fasew (d) 9 gafed =& 2
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CLICK HERE - https://t.me/uppcstestseries2023pdf

o, fudt,
ﬁaﬁuﬁaﬁmw

Match List-I with List-II and select the correct
answer using the code given below-

i1 %1 geh- Ilﬁg&maﬁﬁqamﬁ%ﬁ:q

T HE W TANT Hlkh W& ST @ =@
HiTtTT—
List-1/g=h-1 List-TI/g=it-11
(Soil/firgh) (State/ATS)
A.  Alluvial/Sig 1. Rajasthan/TsTea
B. Black/®mwef 2. Uttar Pradesh
ES I
C. Red/emad 3. Maharashtra/Tg g
D. Desert/F8%Icid 4. Andra Pradesh
MY T2
Code/ee
A B C D
(a) 1 4 32
b2 3 4 1
()4 2 1 3
(d3 4 2 1
Ans. (b) : TH-1 (frgh) e =t 11 (T=7) 1 O goa &9
THR T |
GEft-1 G-I
() (=)
STelle - IR F2
HeAl - RN
A - Y I
AEEIAT - RSEic)
25. Niger crops is a oil seed crop. What is the
content of oil in its seeds?
MR (T ) T HEA Teh dc ol BHAA g

T oISl § AT Wt AT feRet areht St 872

(a) 7-16% (b) 17-26%

(c) 27-36% (d) 37-47%
Ans. (d) : ST, 9RG 997 99T § A9 HET § ST
S STl TAfAE (ATESR) & siiell § HoT AT H TH-faere
F AT qA (37-47%) AT AT @1 T, T 3R
%t ufire qun foifrs wfie @ 9 st Eia 2
26.

With reference to crop rotation, which of the
following statement is/are correct?

HEA ok & qed o, fFrafeiad § § i 91
e TE E/8?

Deep rooted crops should_be followed by the
same type of crop. I aTefl wEel & og

weft wE o wES Tt SR

Legume must be followed by a non-legume.
TGN TEE oSG AT el aTelt wae ot
=feul

Select the correct answer using the code given
below-

e fau 7T Fe w1 TET Feh WE SR -

(0))

()]

code-che
(a) Only 1/3de 1
(b) Only 2/&aa 2
(c) Both 1 and 2/1 3R 2 &t
(d) Neither 1 nor 2/ 1 E i)
Ans. (b) : HEA % fIEA & IR TH Iq9 HHA
3Rl I HH & fou frafafad ggfadt s e
=Ry
@ 3U ST aTcll HEl % 918 Tl IS Al BEA ST
Elif
@ TlleR e & g foAT Hhell arell wHe ST =1
@ 3% ST &I EYIRAT Il BHA & e HY ST B
YR T HHA ! ST TR
® FHft TTEAl F AT &HAIES & § BT AT
@ 3TTE yuifed &5 H wEd Ik § 3Tesied wHeAl
THEYT BT AR
37 ge § R U S9Hl F Faet w4 (2) 9E 2

@irst, IRy HETE TE ST o SR

27.

Consider the following events and arrange

these in chronological order
FfaT 3t %

AT W e
RICTERATTHR S ¥erd it

. Development of sugar industry by India
AT EN S ST Y o

Starting of first jute mill in Rishra

et & wom S e &1 gRY

Production of steel in India for the first time

IR | I H FIH IR e

Starting of first textile mill in Bombay

T | 99W Fel e 1 IR

Select the correct answer from the code_given

below: / ﬁ'll QT ke <l

IR T TA T

Code/ee

(a) LILIVand I/ I, I, IV R 11

(b) IV, I, Il and I/ TV, 11, 111 3R 1

(c) 1L, I, TIT and IV/ I1, 1, TIT 3R IV

(d) 1L, 11 T and IV/ I, 11 T 3R IV

II.

I11.

Iv.

& I G T S 29 & gUm
¥ fafewr sl S diecivs Felt  HrRAE a7
m@qmﬁw(mﬁxﬁ@ﬁ)ﬁﬁﬁ%w
F goq o) @ (SAB-g9) H 3T 1874 H &
A g HEE (ISCO) 3N Fedt (FRAN) T Sy
(9. smer) § T | SEfh qRd & gem IRAE g
= A @ faew 1903 3. H IaRar (FWR) § I
o &1 T ° g

28. Match list-1 with list-II and select the correct
answer using the code glven below-
Teft-1 =t G-I § gafea sifte qor e fou
T HE H WM HH TH IR w W@
-
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List-1 List-11
Minerals/@&fs) Industries in which
( laf‘gely used/SeT 8
o U= W STERT
foraT ST €)
A. Limestone 1. Cement /W
AT e
B. Copper 2. Electrical goods
EZENCIED) farsreft 1 g
C. Bauxite/dfF@Ee 3. Aeroplane
Manufacturing
gars Seret @ fmfor
D. Manganese 4. Steel / 3H991d
EUEIS]
Codes / she
A B C D
(a) 1 2 3 4
(b) 2 3 1 4
(c) 4 3 2 1
(d) 3 4 1 2
Ans. (a) : 981 ﬁ'ﬁﬁﬁ 2
et -1 =11
(@fa=t) (SaT i =g T w
IuT feRam STaT €1)
AT TR - iy
T () - forstett @1 5=
ElEasIECA - gag STeTSl i fHfor
T - T

29. The second most important source after fossil

fuels contributing to Indian energy need is-

Sfterew g % Ag WRAad @t Sell

AEvIHRAslt @ Ofd % fT gEw wew

Tl He §-

(a) Hydropower energy/aaﬁ’%'ﬂ eS|

(b) Wind energy/arg Ex]

(c) Nuclear energy/qTHTUlﬁﬁ

(d) Solar energy/%ﬁ'{mﬁ
Ans. (d) : 9T & S{aeq $69 & S HeT SRS
F off & U gEU weEqel @@ §R S 81 31
fegmat 2021 & fufq & oER, <0 ¥ faem SeA
& T e H el AR SEe (51.7%) H
21 S TR SHell, Ga Sell q97 S TSN Sl
AT AR (26.5%) 2, SOH v e 10.2%
AT T Foll 12.5% Searted f6am ST @1 21

30. Which of the following is related to Brent
Index?/fAfelaa # ¥ i AT ig-3@Td o=

Tt a2 W e T @ R
(a) Bhilai/freg (b) Bokaro/aisRi
(©) Jamshedpur/ﬂﬂ'&ﬁ?i’( (d) Bhadravati/9gmact

(=)
ElEI IR
RENEE i @ v wE
EEEn)

31. "Tauktae" was formed in which

T dreRa | TR W

(N

Cyclone
ocean?

| I g3 oT?

(a) Bay of Bengal/aiTel &t @rel

(b) Indian Ocean/f&=< HREIR

(c) Caspian Sea/HTTT WIR

(d) Arabian Sea/3{d HI'X
Ans. (d) : S =Rl B “Alehd/@Rd (Cyclone
Tauktae) 3@ WK § 309 g3T o1| SN Th IWHCAH
ThA qEA A TG ASHS & TN Wl gHh
FA, Felesh, MGl N TR Tt & ad &l

TC 39 THAT A 9N TEE BN THHT AR
MR & g fhar o, fSgee Tt 9w § et T
I L arell fusmet) g1 a8 2018 #
T o HEM A ok a6 9% 2019 § Ay
THATT TSI P TN ITH a1k 2020 H Fgd Fpam
T HEWIY I qAET fHar 9n

T e

32.

.

i

CF

Which of the following pairs in not correctly
matched?

frefafaa gt § & S gafaa T2 87
(Crops/™%¥cT) (Country/é'ST)

(a) Rubber/A¥€ -  Thailand/aEeig

(b) Coffee/®8a1 -  Mangolia/Hferar

(c) Olive/SIqd - Spain/®H

(d) Sugarcane/1 -  Brazil/ssiial

Ans. (b) : 39T HHG qdT 37k IAEA U Tafed 9
T A 39 TN -

(FE) Gty

s RIEICES

ELll EISI]

St =C|

REN EIIS]

Which of the following countries is the largest
producer of fish in the world?

frafafaa o & fag & u=elt =1 qo@ ogr
IeUTgeR AT RIA-9T &7
(a) Japan/STHTd
(c) Russia/&®q

(b) China/==
(d) USA/Z.TE.T
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Ans. (b) : FAO 1 ST 'The State of World fisheries
And Aquaculture Report 2020' &% 3R fog & Fag
FeT Tl Icqash Tod =4 2 S 3y § Fo1 Aol Seared
1 35% fE el Ifed T 71 HoAer e,
AT FFR G S TG SHST 6 SLHR T 2019+

20 § 9NG & A TS IqEE TSA Y W,
9| ST T eI
34. In Which of the followmg countries 99 percent

of its total energy requirement is obtained b

Hydro-power?/ﬁg')élﬁvﬁiaﬁ o 9 fea o %

SHH FA HoAl  AEATARAT w99 Wiererd

AT & 9T grar &7

(a) New Zealand/ﬂfﬁﬁ?

(b) Switzerlandfﬁa?;ﬂ'{ﬁ?

(c) Norway/:ﬁ%f

(d) Brazil/smsiret
Ans. (c) : A4 T A FeA Holl STEAYIRAT HN AT
99% (a% 2010 T 96%) ST ¥ W T |
SFereraT & SR W WEE a9 #9929 8 et 100%
Foll T I A Fga & &9 F a1 g1 S 99 fae
% g Set forgd Seare we 2

HHEE 9T Ue AEaseett

35s.

Which of the following Island is known as "The
Land of Promise"?fél’lqﬁ:lf@?r T ¥ fre diw

@t AT e g o WY H ST S g2

(a) Cuba/agsT (b) Java/SEn

(c) Sulawesi/gama®  (d) Mindanao/fHemraii
Ans. (d) : fiEFRT €9 & TR # 9 F ®F F S
S 21 @8 R gef wirn % el du 1 afmy|
awm@wéﬁ%l\%ﬁ@:ﬂw%ﬁaWﬁ
T Fer 81 FgEr BT GR # Red ww
ZIdiT 391 @ A g TR ToeE F Ged gl TR 2
ST T G A greHtvEr & H F
36. Indonesia does not share its land boundary

with which one of the following countries?

e frafaiaa § @ fora <ot & Wi 9ft

|TEAT T T 872

(a) Brunei/gﬁ'sr

(b) Timor-Leste/fad-ared

(c) Malaysia/tléﬁﬁﬂ

(d) Papua New Guinea/drga =] it
Ans. (a) : 5@ T faswedt # gAg # G gveAfvEr 9
H@W%gﬁé%ﬁqmﬁqﬁﬁméw@m

Ans. (d) I3 (Tinian) WiMRET £9 998 &1 90T T8

2| dferfyer 9w, =Roll gvid weErR § seRwEr sk
e £ % @ # T gu &1 WfemfEEr 1000 F o
31T Sl 1 e ¢ 59 qEA SN0 § g, we, 2,

e, wﬁ?ﬂﬁ?{%lsﬁr%ﬁﬁﬁ“gﬂqﬁf’%m
Waﬁélﬁﬁi‘}ﬂ(ﬂman)ﬂqq IR HEER §

Y

for St AREMT £9-uE &1 & S 49 B
38. Which of the following pair is not correctly
matched?
fratafan § @ sF-wr 3w gatera =& 21
(Country/29T) (Capital ATSTEITY)
(a) Antlgua and Barbuda - Saint John's
Tt SR - e St
(b) Dominica — Santo Domingo
- et Sifm

(c) El Salvador
AA

(d) Bahamas/sgM™HE

— San Salvador

— Nassau/AT93

Ans.(b):Wﬁﬁﬁ@%ﬂWWWﬂFﬁaﬂﬂﬁ
AT 7 39 THR -
(391) (Tt
TfTET SR aRaeT - He St
Siftferann - wR
TS TSR - 9 gEER
ERGIS - AR
37: fashed (b) TE Al T 2
TAGE TG e
39. As per the 2011 census, the correct ascending

order of the following states in terms of

Scheduled Tribes population is-
2011 &Y STUET o R ICRASESIIG

IR,
& Gaof o frefera Teelt ot TRIET R B-

(a) Arunachal Pradesh, Meghalaya, Nagaland,
Mizoram

FEUESA Y2, HEeTd, ANTAvE fHsieq

(b) Meghalaya, Arunachal Pradesh Nagaland,
Mizoram

HeTeTd, 3BV Y89, ANelvs fHsiem

(c) Arunachal Pradesh, Nagaland, Meghalaya,
Mizoram

STRUTT T FT%QT, AlMclUs, HEeAd, BT

(d) Arunachal Pradesh, Mizoram, Nagaland,
Meghalaya
IO 93, iRy, Anmeive, AureE

Tz ¥ fR g1 mafemEn, wgen | i 3 R | [Ans. (a) : 2011 3 SHUAT & STER YR SHSIT %
g % 1o W e B 21 Seoeg 7 i sud| | [Hed § usdl o oI e ffaied w9 -
aft & aferr oo wften  Rem i < g T STgo ST i S
37. Which of the following in not a part of|| smuEe w9 9.51.821

Polynesia group of Islands? o o I (’) 3 6’11 5

I | WAATITET 7 TE T 9 AL >

~ AT 17,10,973

(a) Tonga/ZITM (b) Tuvalu/ddre]

(¢) Tahiti/arar (d) Tinian/dfrem HETer 25,55,861
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Ae- SEfh g7 STH TsAl § STfed SHenfa & T
F FA TG F IEEA F ER W SR H
forferian ey & 21

T TG A (Yo) TAEEAT
A FST | 68.8%
e 86.1%
AlcUsS 86.5%
foret 94.4%

geAifh AT J TE ST (a) B AT 2 adig gvT A
‘SfrTT 1 Seeid 7 8 W A% HguE & |

40. Which of the following cities in India has the
lowest percentage of slum population as per
2011 cell)lsus? d ‘Jil'l'{['zﬁ'g EncUR:) H‘fg—ﬁ
afat T gfav| 2011 &l SEUAT R
ITTER, T T T &
(a) Ahmedabad/3TGAIEE (b) Jaipur/STIIX
(c) Lucknow/dT@93 (d) Bengaluru/ﬁ"'l@
Ans. (a) : 99-2011 & SUMT & IFER & T
faedi # waw &0 Afe sl &1 gfav sweneEE
81 W AT 449 % A gl Fted § @A el
SR H 10.62%, TEASH H 12.9% 91 SgE H
8.399% 3ETE Ao afal # frame st 21
41. Which of the following state of India reported

lowest percent of urban po%glation, as per 2011
census? / SIUET 2011 g ¥

ﬁwﬁw@amﬁﬁﬁsﬁmﬁmﬁwﬁw

ATRIUT T UfaoTa 91 feRarT?

(a) Himachal Pradesh/f@AM=rel 9291

(b) Bihar/fagR

(¢) Odisha/3Tifeem

(d) Rajasthan/T<TeTT
Ans. (a) : SFTOMAT 2011 & 39R 9RA # e wgw
(100%)@@@%@%

- fRR TS99 # FA@ SH€en & 11.3 whiew, sifsm
16.70 9T qe1 TSRAM & 24. 9 WfAva SHEE T
F foare &t
« G N FoH AR TFA T Tl (62,2 faem) @
HE Fo el (97.5 www) 21
42.

Which of the following Union Territory of

India has the lowest sex ratio as []ger census

2011?/2011 St F=ETUET o TN,

H ¥ 9Ra & ford hx-oniad weyr § =gHan

TERTIIUTe aTaT ST 2

(a) Chandigarh/9€Tg

(b) Daman and Diw/@ W& €49

(¢) Andaman and Nicobar Islands

sieH-fheR £ 9g

(d) Lakshadweep/aeiard
Ans. (b) : T 2011 F THUA F FTIR 9T F FX
wfyd wewit & e e @m wd de (618
Hfgemd/ 1000 gm)ﬁ%mﬁsaaﬁ%ﬁ e
5 e wEe gged (1037 w@fR@md/1000 TE9) B

Safe =uehe # fmuE 818, 2veHH fTHER
feTarT 876 TH WA & AT 947 €|
T & 6 2011 & SHIOHER-

® 7 T feI 943 71
® =W e A U7 =R (879) 71

43.

As per census 2011 of India, which one of the
following city of Uttar Pradesh is not a 'Million
City'?/ A &t FEUET 2011 & FTER I

W & frafafaa el § ¥ wm W oI
farferem wree’ & €2
(a) Agra/3TMT{
(c) Meerut/Hi3

(b) Prayagaraj/SamIS
(d) Moradabad/qUcTeTs

Ans. (d) : 3 2011 FI SHIUET F FTER W 59 F 7

‘Ffere weT ‘st ffer’ i R g1 S e B-
(W) (SEET)

1. FAR (FR) 29,20,067

2. AGTS 29,01,474

3. TISEETs 23,58,525

4. ST 17,46,467

5. SRIOTH 14,35,113

6. B 14,24,908

7. AT 12,16,719

-mﬁwwaﬁwowﬁ%ﬂ%

YRS LM T TereaedT

YEATEAT, € ST &3, ATk,

In the Preamble of the Indian Constitution,
which Justice is provided to all its citizens?
Ot dfga @ g B, 3@e geft
ARTRERT ST I T AT UG il ol e
= Tt §2
(a) Social, Religions and Political

ST, oftiss 3 Torifs
(b) Social, Economic and Cultural

gmferes, el @ Hispfas
(c¢) Social, Political and Cultural

I, TeTfash 9 Giehfis
(d) Social, Economic and Political

g, el 9 TsHfaes

Ans. (d) : 9RAE GEEE # FAET § 39k GAE
IR H A TR & =T HEY: GERE A &R
ToHfas = YeM & & awl # TR 81 39k
faRs wearer § amiel & faw 5 geR & @dad &
ff Seorg foram T 2 S fo fomR, sifvveafss, od, faame
3R IYTEAT o ST B

Hferer 1 ST ¥ Gea s faeg frefofad 8-
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o JEEA H 3@ T UHAE §uEA (42 & wfeus
deled 1976) e wn @ e areem ¥ W v
‘U, TEISEE] q91 eRgvedr ginfed fRT )

. U AR A TeE SR E 3EYd S @ SEE
g

FHAT e, s AR

45.

Under which article of the Indian Constitution,
the Parliament can make laws on State List
subject for giving effect to international
agreements?

et d@fea % e e ese % era

YT AHSATAT ol T ST 3q HHE T

et o foa T A oA Tehelt B

(a) Article—252/3TTe88-252

(b) Article—249/ 3T=8T —249

(c) Atticle-250/ 37 250

(d) Article-253/ 3= 253
Ans. (d) : YO HfagE % dwE-253 & S
FIEE gugia H T T I TR T5T G B
fomg W FEA S EA T TE AR FE B U
FRIFTT < 3R A G0 A F A S B
TTE-249- TPfed H U7 g § wafem foredt wer
e & HA a9 d UMh | FRE-250 — TT A &
fowa W emumEa @ Rufy § dE A FEE T H#
wfh|
FTI-252- @A A ASF T & oI 3! TEAfd &
T, §9E W FA a9 @ w91 R e TT
3N 29 faume i e ST

46. Which of the following Indian President also
served as Speaker of Lok Sabha?

frrefafaa o @ &9 @ ardia agufa @ g
aremgr off @ 27
(a) Fakhruddin Ali Ahmad/®E%E 3Tell 376HG
(b) Dr. Shankar Dayal Sharma/gf. Jieht STl It
(c) Dr. Zakir Husain/gl. SRt gﬁ?
(d) Neelam Sanjiva Reddy/ATer gsitar &
Ans. (d) : 9T & QE-UPUd Hom d@sig G T @ AR
Tk T % ST UG B G fpa -
T IR - G AFIA F FEBA F 1967 F 1969
() UE gHd AR 1977 #1 o Hew goig W 1977
¥ 9grd & Tpufd faffed gu S % 9Rd & uwAw
Tty Tpufd © 81 399 wed 1969 & gAE § IR

TS H Hg @A UL |

S HiehlT
47.

What is the 'quorum' required in the State
Legislature to hold a meeting?

T faemAHee i 93 AT i & feu

‘e’ (T fe) R €7

(a) Thirty members or one tenth of total
membership, whichever is less/f ¥ H&= a1
ol gl F1 9 feE, S off 9 &

(b) One-half of the total membership of the
House/He &l el HEEdT hl 3Te

(c) One-fourth of the total membership of the
House/93 5l Fel T&@dT 1 Teh

(d) Ten members or one tenth of the total
members of the House, whichever is greater

T I A1 FA Tl & g4t few, S o

e &
Ans. (d) : T5F fAUMHUSA I 936 TR HH & fou
‘B (YT, W HEH AT A HEEId B 6T e
(e st wfed) ST ot aifees &1, & 81 Ak W
F dok & INH B A & @ I8 GowA fEd w1
el BT o Ta S i & A1 BE QU 89 d% ged
# Wi W SeowtE 2 5 dfum & 38 9w #
TR 168 § 212 0% TF fauM Aved & Tied,
Frier, il ufseansti, faermfmr aor wfwd anfe
& aR H a7 8

Yot TSTeaaeen
HIGEmT Gyne=, gt

48.

In 1993, which of the following language was
not included in the Eighth Schedule?

1993 ®, frfafaa & @ wadr amr smedf
arggeh # wftafera & @ weft?

(a) Maithili/afreh (b) Santhali/SeTeit

(¢) Bodo/aret (d) Dogri/SrRy

Ans. (*) : 92 af Gy e Afufem 2003 §
el SfaeE & snedt s § Afyel, S, drer
Horelt TS 1 SreT M| Sed g # adae ¥ ga
22 o At 81

e~ 3T I Wl Gl AT T THH SR (b) HAT 81

Terfarer

49.

The Six Points Formula proposal of India for

South Asian Region was presented by which
Prime Minister of India?/gf&Tur QﬁTCI'I%, & &

faq ama &1 B @it waE, ara & e

JeTHST §RT UEIa feRarm T ar?

(a) Manmohan Singh/ﬂ?ﬂﬁg:f iz

(b) Atal Bihari Vajpayee/3iea fogrll et

(¢) Narendra Modi/T= Ardr

(d) Indra Kumar Gujral/g== AN TS
Ans. (b) : 3R TR &7 % fau 9vd @1 B g
THE, (@ FHEEE sed foRi A W WA foR
T AT 3 A W HaHl F ASEH BT B VYW T
1992 ¥ 9 & @ wEEEA Hodto Tfawr 1@ 4 TqF
w2 Uferdy & "reem ¥ A 39 YA & gRuomHEEy
IRA 1996 H IAH & T Halg 9FiER T a8 2002
7 R @i amtel # 9rier a9 9Rd & Afd @

FAfrRfEe it ewar fmfor w g & s @1 2l
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anférer freie we Uty ema/ate

50. Which of the following
matched?

frfafaa o @ o o1 o gafaa 7@ 87
(a) Mahila Samridhi Yojana-1993
afgen "yfe A91-1993
(b) Women Self-Empowerment Plan-1998
wfea @it Ae - 1998
(c) Women Empire Plan - 1989
e [T AT - 1989
(d) National Posahar Mission plan-2003

is not correctly

(a) Service Sector/TdT &%

(b) Agriculture Sector/H™ &

(c) Industrial Sector/3afh &=

(d) Trade Sector/aMIR GES
Ans. (a) : T T AfTaee &1 Ta9 981 @i Far
&7 %1 oNfdE TRl 202122 F T BH SHEA &

AR 9T & Tl Jod FET H HaT &F B IEH 53
srﬁm'cr% w@smgmw.zs.zmmaﬁ
U9 i & F AEE 18.8 Te 21

T, ST T AR

53.

A farmer, which has land holding between 1 to
2 hectare is known as- /Uch iesy

192 TR T 4 T, Grm@n?nih

it G :a ; i ~2003 (a) Marginal Farmer/S=1 5
Ans. (d) : ST FSAE TH 395 W TE GAleH - (b) Big Farmer/dgl S5
Afgen T9fs ST - 1993 (c) Medium Farmer/H€qH h¥eh
Hfeell T ISl - 1998 (d) Small Farmer/e¥ %8
AfeeT ST e - 1989 Ans. (d) : T [5G, 096 T9 1-2 s8R & 99 T,
T qER e s - 2001 I Y FF F ®Y F S T 81 A &9 % SER
51. Match list-I with list-I and select the correct | |9 S GO 7 ﬂ?ﬁl&ﬁ F e IR @ Filfghd foram e 2
answer using the code given below: (Fueh Suft ) (ufterfera &mr)
gaﬁ-lmﬁg@ﬁ-néawﬁan&"rﬁm,ﬁ T _ 1 3Rwma
QU & e ¥ | 31U I TG HiAU— 0 - 12 ¥
List-I/g=t -1 List-TI/g=h-11 37T PN - 24 B
Five Year Applied Growth T Fh - 4-10 W
Plan/Goraeie  Model/¥gh faerr Atset T/9E T C 10 3R T 3 S
) 54. In India, businesses with an investment upto I
A.  First/q9H 1. S. Chakravarty Model 1 Crore and turnover upto ¥ 5 Crore are
TH. wshedl A known as- )
B. Second/fsd™@ 2. Harrod-Domar Model aRa W 5= se|rE wr ﬁﬁ'ﬁﬁ'ﬂ 1 &g T ah
-2 qisd qAT KGR 5 HAE T ek §, I8 THT AT —
C. Third/Fd= 3. Ashok Rudra Model (a) Tiny Enterprise/812 3T
3TN &K Age (b) Small Enterprise/T 3TH
D. Fourth/ﬂ@if 4. Mahalanobis Model (c) Micro Enterprise/§&H 39
TR Hed (d) Medium Enterprise/q&IH 399
Code/&e Ans. (¢) : YRG § U$ HUS ¥9F O & [A-EN a9 5
A B C D me%mﬂmaﬁm@wm%
@1l 3 2 4 &9 § gRefSe fFar T @1 Wew, o U weaw Ige
b2 4 13 Fffetor Frrferfiae 2-
©3 1 24 W W YHR | Tt Eli c
@2 1 4 3 N
Ans. (b) : = - -
ns. (b) & {[ﬁﬁﬁ%\ o ] - S B
o = (b 1 &€ ¥ 10 |5 T ¥ 50
e ?:hvrm) (g T wse) ™ il S
A- 59T Te-Sm wisd ' ‘
; Hew 10 S ¥ 50 |50 HIg H
B- fada - TR Aed ; ;
2 5 o S dch 250 S doh
¢ - @'ﬁ 55. Which of the following not mentioned in the
. . i wi i i
D- z@»j B B HIST 'Farmers Produce, Trade and Commerce Bill
52.  The largest source of National Income in India 2020’ of India?

is-

AR it TS Tefesrerwen sl god a1 &id §—

WRA & HY IS, SR F ST forer 2020
T ¥ o o ferment Soore = Temam o &2
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(a) Essential Commodities/3Ta%aeh T&IT
(b) Contract Farming/dfaar Hf
(c) Minimum Support Price/=AdH g bl
(d) Agriculture Produce Market Committees
FN 3cared foque afifaar
Ans. (c) : TRA & P IAE, AMR 9 0T 5T 2020
H SEvEs aequ, WO FY Ud FHY Iced fauue
giafael &1 oo & SEfh =Haw T o # 3o’
T fepam e 21
faar, 2020 # foFam & fq & fIg @ fagee afa
fpe -
1. M 309, =R SR T (dada e gl
farerr - 2020
2. o TUIYH TE HH s W FuS (TEIhhwT T
HYET) Ay faEE® - 2020
3. STavEs a%] (HeneH) fagEs - 2020
56.

Which of the following is not Correctly
matched?

frfafaa & @ = wd gafera T8 &2
(a) Companies Act—2013
FHIT s - 2013
(b) Indian Contract Act— 1870
At dfgar sAffaem - 1870
(c) Partnership Act — 1932
Trerer T - 1932
(d) Sale of Goods Act— 1930
aeq fashg arfafr=m — 1930
Ans. (b) : 9 Hfqer ffEm - 1872, 9RA & q&H
e @ 81 T8 sifefem dfeere & i, g
R e ¥ gefed g fagr qor efgfd
TR, M, et qer iy (TsiE) S fae SR
# wferereti @ grafud fm feifa s g
FOA AHfEE - 2013 9RO §EE 30 URd T
AR 8 S S & i, S e, 39
v qgr 3 Tl anfe &1 e e 2
e sfutem - 1932 # uid us efufem &
Trger A &1 e S R
g fasma sfafam 1930 # TiRa ga

&g T foxhar g

57.

Consider the following Governors of Reserve
Bank of India and arrange them in

chronological order-

et o 3tfw gfean & Fmafeiaa et ©
oo oY e 3% HIA- AR e -

I.  Dr. C. Rangarajan/f. ¥, TRSH

II. Dr. L G Patel/Sf. 3. Sf. 2@

[I. Dr. D. subbarao/Sl. €. gsIRE

IV. Dr. Manmohan singh/€l. T o

Select correct answer using_the code given
below- feu 7T we & I

T TT Wi~

Code-/eh2-

(a) IV, IL, Il and I/ IV, 11, 111 3R 1
(b) IL, 1V, I, and I/ 1L, IV, 1 SR 11
(¢) IV, I, W and 11/ IV, 1, I1 3 11
(d) IL 1, IV and I/ I1, I, IV SR 11

Ans. (b) : 737 ¥ &7 73 isd ¥ % fewm F MR
1 T HeTHA o -

() (hTefenTen)

gl S 9ed - femwr 1977 9 faam=w 1982
5. A i - o 1982 § St 1985
=1 b, TeH - femwR 1992 ¥ FEwR 1997
f. goIE - @R 2008 § @R 2013
I: fohed (b) & 2

Ae- FA9H § RS 5% % Tae IheHd a9 § |

witferen o=

58. In a Sitar, which type of sound vibrations are

produced?

T foar #, fFe wehm &t eafer @t Seaet gt

82

(a) Progressive and Longitudinal

T TE e
(b) Progressive and Transverse/STH T& ST
(c) Stationary and Longitudinal
g

(d) Stationary and Transverse/3THl T& ST
Ans. (d) : T% fHaR § gl T8 SIS YHR Sl e
T 39 Bl g1 AR WeAw % owes a o GeNol
fem & orE S F ¢ TE T A ST
FEd | ST T hael T AT § 3G 1 S Febell
2, T8 ge 811 o STy 1 Hae 319 #, qEg

SIRE Td 59 % Y8 W IS S bl |

59. Which of the following statement is not
correct? .
frafafga & wF-91 S a8t 7@ 82

(a) Human ear becomes most sensitive at 1000
Hz/F9 & &M 1000 85 T a8 Tl
B 2

(b) Human eye becomes most sensitive for red
colour./7 & @ 3@ @@ &1 & fau wew
ST el @ 2
(c) Persistence of hearing is 1/10 second.
A F e 1/10 HHUS AT 2
(d) Persistence of vision is 1/16 second
g &t g 1/16 YHvs B 2
Ans. (b) : T &I 3@ A T & U Tl afesh &R T
F U wew stfs GO Bt 81 & T @ ST T
e g 21 & 1 i et et ud et a1 % 7e
¥ 37 @ 78 SRoT @ 6 e wd et 1 St sy &
T oTEl % fAU GO En 31 W W S 20 ¥
20,000 T F A T Hha1 ¢ f59H ¥ 1000 @S
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1 A T PE S 1 BE F G H gEa 1/10
YPvg Bt 21 A 59 ay F i 37 ety off e
Ty e Sl g # ged 1/16 @S

How two identical bulbs should be connected to
get maximum light?/?ff Teh IW wod i feRd
YRR Sirg= WY STfireh ToTHT frert?
(1) Both are connected in Series

A aoft 5w F g2 @
(2) Both are connected in parallel

A TR 9§ 92 &
Select the correct answer using the code given
below-/=tet TET TT HE T FAT Tleh TEF I
T TTA ifST—
Code/%h< :
(a) In case (1) more/(1) H 1
(b) In case (2) more/(2) § 31
(¢) Same in both (1) and (2)

(1) 3 (2) eF & e
(d) Nothing can be said/® gl T ST HWebell
Ans. (b) : & TH S dodll H GURR A H Sgd W
st Tt il IR oY oM H ufedel @ 3w
YR ST S &1 6 & aferiy R famerR w9e © qo
AT HfeRY W F 6 AT T S 1w fea
ST 81 37 a8 W AR HH § IS e
T siftes YR ferl) 3ok iR sifteas wferer s
FH F foau sl w goft w7 & Sier o ? e
Ao wfaly 8 W gvfishH § S aeel § &9 JeET
fiyent

EIRERCRIG)

61.

Which of the following nutrient is most useful
for enhancing oil content in mustard crop?
o

HE-U1 @ W W dd @t Aeh eee
Tt ST &2
(a) Calcium/Hfesam (b) Sulphur/HehI
(c) Zinc/S& (d) Iron/ier
Ans. (b) : f& T3 fobedi § 9%l § 9 H A0 T@H &
fore arcaferes Syantt de Wowt @1 hievram ot & s
# gfg qor ofrel B RS § Yo # G @i &1 S
s A T N TN H INEE Bl @ adl
e, Wl H TN % WY U fFes o &
SYITE B EYIS
62.

The chief source of Hydrogen Sulphide
pollutant is-

TEGISH WEhISS Ygueh: ohl &I &I ¢-

(a) Decaying vegetation and animal matter
Hed gU aefe ud uy) gard

(b) Automobiles/3TMHIEEA

(c) Oil Refineries/da Rz

(d) Thermal Power plants/Td feegd =3

)

SIo HoWSe Tk T Bl T
2| BESISF FhES Th URH
e B 21 ETSSISH TohES
4 wefrs geEf &

g BT 8, S¥ goiedl AR g §
P AR W FTEET G F ®Y H G SR
e H HH B a1 GeH Sl g7 fRaAT S 2

ue faferaat famm (S foaam=)

63.

e

Ans. (a) :

|
5
A
4
#

:
4
:
;

#$

|

g
.

it

How is liver affected on fasting for more than
10 day?/3® fo a6 SUa™
T feR WX o= g ugar §7?
(a) Glucose level in liver diminished

foreR & Terhie T BT & S &
(b) Glucose Level in liver increases

T & Torhig TR 3if @ ST 2
(¢) Inliver triglycerides decrease

2 T T §

(d) In liver triglycerides increase

fore § CEfoasey a5 o 8
Ans. (a) : 39 & T 21 foT 9% 3UEE & R iR
(FFd) § TR F T FHF & SN 2| AHT AFG IR
F g 9 Ay 21 I8 ARG TR H TemESe §
SEeHR TR HTT @ AT SUAE AT AISH T FHH b HROT
Tohiet # ufafdd

64. The Silk produced by spiders is called-
g I9TH SHEeATT §-

(a) Tussar silk/Z8X wm

(b) Gossamer silk/THEMR 33

(c) Munga silkﬂfﬂ T

>
=
w2
—_
A

REREELE
;
3
E
£l
£l
|
3

Which of the following Eatables is the best
source of all the essential amino acids?

freafafleas @@ ugegf & 9 w-'r |4t
ATAYTeh UHIAT AT hT Wa e & &2
(a) Banana/ahell (b) Pulses/aTdA
(c) Egg/3isl (d) Fish/Aaeat
Ans. (¢) : 3veT # qoff a1avas UHIAT oA &1 HaARH
Hid g1 ol o § wAR q9n St aHi 6 o
%%%lwéﬁw,mmﬁm
|
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66. Tulsi plant has medicinal values due to the

presence of the following—

gt & Wrd w ofwefim wew ftarad @i
Sufterfa & &R §—

(a) Inorganic Acid/3THTEe ST

(b) Organic Acid/®E e 7

(c) Phenols and Flavonoids/fhTet Ta ﬁaﬁqﬁgﬁ
(d) Lithium Bicarbonate/fe1forzs AEHEE

69. The practice of gootee in plants is used for the
purpose of-/q'liii T T T T
39T it ufd ¥g feRam e &2

(a) Control of insects/@1el & 0T &7
(b) For vegetative propagation

I TER & fore
(¢) Germination of seeds/aTil Ecaul %@
(d) Weed control/GTddR & frreoT %@

Ans.(c):ﬂ?i@%ﬁawalq%ﬂq%aﬁ;ﬁﬁ@
TAAHISY # SuRgfy F ENOT 21 SUH AN AW
‘ST Hhew' 21 T8 TH AT W G F | g
UGN TE-SEW, WiE, &@-0 SR 4 ed T %
foTT ST TaTE WA S 2

Y, IITITEA TE S
67. Which of the following is not correctly
matched?
frafafas & @ SF-a1 s v gafea 78 &2
(Animal/u3) (Breed/A%T)
(a) Buffalo/&® —  Bhadawari/9em@Ed
(b) Cow/Td —  Sindhi/f&=q
(c) Goat/ahil - jamunapari/Trl'ﬂ'rqum
(d) Sheep/‘ﬁg —  Tharparkar/9TdTERT
Ans. (¥): TEIIT U] q97 39 A% | fawed (d) gHfed
T 7, BT IR FS A6 FAT AN A SO IR
fohed (a) T W @1 9RA H O 9 ard gyped & A
forfefin &
() (T&)
HiE] Fihtsl (T8 i), fo=fi, aEiara, T,
SR (FeheTee), OnueRe, R, ga,
ATt e
b, Frewa, AN, ﬁ e =
a5 A (Falfos g), Fefl, T, T, T,
Fprt, Frehen, AFN, I S|

Ae- IRUE T I AT ¢ 7 6 9 3 ‘
68.

"Kashi Lalima" is the variety of which of the
following crops?/'* "

¥ forE wEe &t gl §7
(a) Carrot/TSIX (b) Lady finger/f%=et
(¢) Onion/™Ts (d) Tomato/ZHIZT

Ans. (b) : T8 § T T F FE aEETR TR 3
o ST 21 48 ‘o Ol & UH THR 2| Had &y
H TN G § 3Tl aFEias S % forw foRam S
21 39 fafy T Fom dOR HE F o ywer § wmar &
W G ST H H TEL Tel Bl dfeh herd TaX B
% 91E YAl & HET S 2|

Which of the following
correct?

frafafaa § 9 SF-a1 awwe a8t @ §7
(a) Email-refers to Electronic mail
¢ Aor-goae i Aot @ Hefid w2
(b) WWW-refers to World Wide Web/Ssd,
T, T~ 08 A1EE dd I Hafid el 2
(c) CPU-refers to Control Processing Unit
1.9 7 2T SRR R T wa T d
(d) ALU-refers to Arithmetic Logic Unit
TUAg - FfAeE wifee e F1 wahia
T |
Ans. (¢) : T8 awher fferfiaa 2-
-0 (Email) - 3@@?&5 T i afla

hdl
e AZS a9 Hl Hard
T 2
Hzel ST e H
Haffq & 2
wdifes it ghe @
Haf¥fd e 2
Which of the following relation is not correct?
frferfae 8 @i | geier a7 §?
(a) 1 Byte =8 Bits/1 @3¢ = 8 foeH
(b) 1 Kilobyte = 1024 Bytes

1 foheamEe = 1024 aEeH
(c) 1 Gigabyte = 1024 Kilobytes

1 fmamge = 1024 fHearEes

70. statement is not

g 8%g. 85y, (www) —
4.7, (C.P.U.) -

TTA, (ALU) -

71.

%;sr.g (b%@:q;% e fret a%%éaqg ?E g () 1@@11;%?: 1024 Gigabytes
3 (Indian 1 = 1024 TTEEEE
Institute of vegetable Research, IIVR) aRuTHt & Eak Ans. (c) : T8 ﬂ'a'l%’l'rf -
el g fe w8l fR A e ||| v G - 1024 KB (Reciee)
(Chlorophyll) T 1 ST 3 & 1 &t gt & Saifsh | e o s
e firet § g (Anthocyanin) M Tl AT e i \
ST @ S % UH Wl avis (Pigment) 21 @t fE KB ( ) - 1024 8RS
g frt § S difvw o &1 e uRswi, |||} OB (TE) - 1024 FmEre
Hfewrem 3l R &Y e 7E A 2 | | TB (3TA%2) 1024 TrTeTEE
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¢
LR RCRINRIGE)
The Monoclimax Theory was Propounded by-
(Thet =) Tagra =t
ferar er-

(a) F.E. Clements/T% . aﬁﬁz’}r

(b) C.C. Park/E1. €. ursh

(c) D.V. Ager/S1. 3. 3R

(d) S.J. Gould/Td. ¥. e
Ans. (a) : AFFARHE (Thd o) g @& oo
THE. aﬁﬁm UG B O S TR 1 et e
mﬁi@lﬁaﬁ'ﬂ(Ecologlcal) FEYNOT 21 ﬁ?@f@?%‘v‘l’ﬂ?@%
e & sifod staEr e
3o §| 78 GYEE o W, whERT SR e T S
i F W oae Reft § A 81 TR F A
(Succession) I 3TET F I (Sere) w2 a%ﬁw &
TEA T RS % SN, TOF 4 TS A W
e B 2, e e wl wgeed & e g g
T AT o B oy S B T S A S
R 851 3 FeleieR (ST) F1 Tl B & |

73. Match list-I with list-II and select the correct
answer using the code given below-

geh-1 = geit-11 9 gafaa s qor = foe
T He & FAN Feh W ST &K TEF

-
List-1/g=h-1
(Name of the Act in India

WRaa™ # tfafaemt o =)

Forest Conservation Act 1.

T G AtefEn
B. The

Protection Act

e HeET S
The Air (Prevention and 3.
Control of Pollution) act
g (Fguor frEr
[GREEVEIEIERL
The water Pollution Control 4.
Act
STt ggwoT frEer sfafEs
Codes/&< :

A
(a) 3
(b) 1
(c) 4
(d) 1

72.

List-11
(Yearlaﬁ' )

1980

Environmental 2. 1986

1981
w

1974

N W A —
LN~ A

D
2
3
1
4

74. Water Pollution of river is measured by-
Tt <R STeT WEHUT WIAT AT &-
(a) Amount of Chlorine dissolved in water

S H it FARA o AT §
(b) Amount of Ozone dissolved in water

S H e TS P AE |
(¢) Amount of Nitrogen dissolved in water

ST H el AR & A o
(d) Amount of Oxygen dissolved in water

S | it siferdier @ 7§
Ans. (d) : T & T & UGV H WO T H A
ffe # A ¥ A S 3 ARk Sa Fogen
FleisT @ AEn s € Al Sl SENUT %A BN 36
foudm afk S & eit offfem @ 7@ F9 ¢ @ @
YT S Ml S YN @ HET & BOD
(Biological Oxygen Demand) & HeAd A S 2
BOD 3foiq Sifess ffefic #im, siferfieq & a8 A
B 8, ST S § FEfh wardl F St qEE e

% fore amavas Bt 7

75.  Which of the following is correct sequence of
ecosystem in order of decreasing productivity?
T STTEHAT o A H TNfAEd | hiA-91
RURGE -l r

(a) Ocean, Lakes, Grasslands and Mangroves
R, i, o9 F deE SR A
(b) Managroves, Oceans, Grasslands and Lakes
H3a TR, 919 1 Fa iR g
(c) Mangroves, Grasslands, Lakes and Oceans
g, =1 F #5H, e 3 R
(d) Oceans, Mangroves, Lakes and Grasslands
R, H5iE, e S o 1 faE
Ans. (c) : Fd STEHA & HF H ITAH TRAA F Tl
%Y 39 TN &-

g > o919 &1 79 > i > TR

76. Dhoopgarh Peak is situated in which of the
following  National  Parks?/gUig
frerfefas Tt SaTE # @ frad fRow 32

(a) Satpura National Park/FdqsT TS 3&
(b) Kanha National Park/s&gT TE 3T
(c) Bandhavgarh National Park

aigaTTE TEE ST
(d) Madhav National Park/AT&id TEIF 3T

Ans. (a) : gTTE =1, Tagel TP UM A Red 21
TageT wdd gvft & fawr ufim § wediven weied ¥
YRR B HRTed 3R Thre JRifeal & &9 § BT A

Ans. (d) : T A TH 7 G gafen - R 3 R d A 21 T wi ah # wae S
(erfaferamt o ) (aRe &) | || g 8

1. 99 T i - 1980 ||| w1 T SAW wed WV % & Rl deen @ik
2. gAteRT TRequT At - 1986 Freree # fod 71

3. a1g (g901 faRoT e o) s~ 1981 |||+ sivene die sae wen wew % saren Rt § fem @
4. S1e sigwoT foeor stfiferm - 1974 ||| wrE T S Aer wew & REqd o § fem @)
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Which of the following state in India has
maximum number of tribal districts as per
"India State of Forest Report 2019"?

“ara @ fafa R 2019
frefafea o & fora T ® S e @t
AT T I 2

(a) Nagaland/:\'l"l'lﬁﬁg (b) Meghalaya/ﬁw
(¢) Mizoram/fasiem (d) Manlpur/ﬂfa'ﬂ'{
Ans. (¥) : ‘9RT 37 Rafy Rurd 2019” & oER g ™

TS | ST et # G 59 YR 8-
(=) (TSt =t @)
EIRIGLES 11

ERicp) 11

fosiea 8

AT

g & H S Wa?ﬁaﬁrﬁlﬁ'ézom % IIER
TS T # 11 S e, fee § 7 S

Note- a7 fafd Rad 2019 & IE g H
fashed (a) 3R (b) AT T 7, I H S el

T 11 8, fobeg 3T 3 9 9 S e (a) H
o 2 (Ea-1SFR Report-2019 )
78.  Which of the followmg is considered a

"Hotspot" of biodiversity in India?
arad o forl ww Sta-fafaerar
‘gie Wi’ AET ST 82
(a) Aravalli Hills/31aelt weifsat
(b) Western Ghats/af&dt =1
(c) Eastern Ghats/ﬁf i
(d) Indo-Gangetic PlainsfﬁFﬂ—W e
Ans. (b) : TR S H WA # Sa-fafua g w@ie
AT S 1 Sta-fafeuar 3 Tt Sfadl @ SuctsHa
& ool % U & ¢ S aifaf of § se s
2 8 ‘S fafqer gle-we’ FEan 21 gawew 1988
TS wEE 3 v & WA fRA 4n 9Rd # Sa-
fefereran gfe-wie & = &7 8-
o gfyEt =
- St &
- fewre &
- gereie (FER §9 998)

uﬁ&raﬂ:rrrrr—zrsrr—r

In which of the following year, was the
authority of the British established over the
fort of Prayagraj (U.P.)?
frefafad 7 9 fed o O (3W.) &

feRet X STUST @ IR TeTiUa g3tr?

(a) 1790 AD./1790%. (b) 1792 A.D./ 1792 §.

(c) 1796 A.D./ 1796 %. (d) 1797 A.D./ 1797 &.
Ans. (d) : 95 1797 . § YIRS & fhet W3S
ARFT TG g1 YSISEra & UL SEESEe 3R

iR 1797 . U IHH 9 GAed Al Y & A9

% ATER

1| SeorEE © 6 gamed el 4 1801 € H yATNS
ofed &2 3= & & S & Gy e s aga §
I TR A M I g

80.

Which Government enterprises signed MOU in
August 2021 to invest in Uttar Pradesh Defense
Corridor?/3T wikER # e

wHH & AT 3nTE 2021 U foRm W@t SEw A
FUET AT U gEATeR feRu?
(a) Bharat Earth Movers Limited
a1 wad fafies
(b) Bharat Dynamics Limited
IR S fafies
(c) Hindustan Copper Limited
HIWR
(d) Mishra Dhatu Nigam Limited
figr &g frm fafies
Ans. (b) : ST ¥V fThg Fier & fow 0 & fou
I 2021 § WM 399 (Government Enterprise)
g eEAfey fafes 3 @WEiar 9 (MOU) W
gERR fFT &1 SW TR W s Terar H SEv
T RS 3w e & el fsfar & s s
21 3T 6 TET-3TATE, I, FAR, FEEe, wE R
TGS BT ST ST TS S faerE ity
(UPEIDA) &I Ta & fafte waifdqdl & @19 firee 39
RS T i feafed e & T Aed Wil s T
21 ©ATeT 8 foh TR dfierTg § U N T st
e T faer |
81. "When
half hands?

Above statement/Folk saying is related to
which historical personallty of Uttar Pradesh?

YT e I et efdlt 3rerg

gl'?:l'l“

Sud<h Sf¥h/cleRlTTh o1 Weier ST Wagl ol

forer Uferariren foragfer @ 82

(a) Vidhyadhar/fqame  (b) Mahil/Hiiget

(c) Alha/3TTegT (d) Paramardi/T¥aT(E
Ans (© “STfeT SR 9 ‘eTeRr @ R U oTeR

eﬁaﬁﬁﬁmwwm%iﬁaﬁ%%ﬂﬁ
ﬁ%|m®miﬁéﬁmmwgﬁa@v‘s’éﬂ
(aa‘mﬁ)q@mﬁgmm%a%am%m F T A
e 9 mﬁ@g@waﬁmﬁm %

W I FT g1 3§ THE WA e

wﬁéaqa‘aﬂ@aﬁtmmﬁé’rél
82.

was born, the earth sank and a

.........

Which of the following river dies not flow
through the state of Uttar Pradesh?
frafafas § § & o T8 ST Jew T 9

WaTtea & gt &2

(a) Son River/dr &

(b) Hindon River/RUes T&
(c) Gandak River/Tuge &
(d) Sharda River/¥TRaT =&
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Ans. (c) : TUS% a1 &1 35T JUT [@HIed § 2l @ S| | [Ans, (¢) : 3. H FEING 9N WHE &0W %
T wifemm o1 wremT iR deEh i § Anreh oiw| | |fEeEl @ wd gEf s W yR -
TS FEd g1 AL A4 IW Y (WENSHS 3R EREYR ®E) @) (3ree)
Fefm forer) dor R Tsa &t g SRt g8 9o F||| e (55 &) - 1946 I FUAR
o T e S ) FAR (41 af) - 1925 TR @S
e T8 77 FoT H 3ees ¥ ed X IW WV F| || oras (32 &) - 1916 3iferhr =RoT HeHER
s S e fell § safed g ve T (fem) & | || amme (21 ) - 1905 T F0T et
ﬁmw%lgmﬁwwﬁw Hre- R T ﬁhﬁa;aﬁ T F WY ST
A Rafers & wefedl § frepast ISR, |[188s # @ ' M deued 9
TMSEETE & §C TargeTR S § 7 # fier ST @) W?H(%?wﬁaﬁﬁgé%
Wqﬂaﬁﬁmquﬁmw%%ﬁ STETeIT AR asil o F o
;ﬂ'qTSE g giw%ﬁmﬁgmg{%gg T 85. ynV?hiccl?edgf the following is not correctly
(TR % fiehe BT q9n SE A4 # firer S 2 frrafafaa o & w= & gafaa @ €1
83.  Which of the following statement/s is/are true (Historical Melas/fairs (Places/Region)
for Uttar Pradesh?/3™X of Uttar Pradesh )
HYA W ¥ T /A w82 T (BT /815T)
1. Is the largest hub of sugarcane production in India Qﬁl{lﬁlﬁ Het)
ag | TI§ 3d1g b1 ECIE] %I (a) Jal Vihar Mela — Bundelkhand
2. Is the largest milk producing state in India. S fom & Her ’
IRA F1 ITaTH I8 IUEH T 2 (b) Bateshwar Mela — Western Region
3. Is the highest Producer of rice in India. A FH Al - ufmiEe
qRd § F19e 1 999 927 I9EH 2 (c) Baldev Chhath Mela — Purvanchal
(a) Only (1) is correct/fath (1) T & Jeied B H AW -
(b) (2) and (3) are correct/(2) 3t (3) Td & (d) Shukratal l\ggTa — Muzaffar Nagar
(©) (1), (2) and (3) are correct STt BT — TR
(1), (2) 3 (3) &1 & Ans.(c):ﬂ%pfﬂ'ﬁﬁwwé-
(d) Only (1) and (2) are correct (ST U1 o Uferetlres Aet) (¥ 80e1)
i (1) @it (2) =& € e TR 1 Hell - g<aErs
Ans. (d) : IR Y ¥ R T SAEA § IRA F Fom TS HT Hel - Oz
T R 2, Sl Fee e § 9Hm s & A gew| | [Fed 88 F Hel - w{eER (gRaEmm)
W T &1 o R T FA § S ew % Hael § ||| YT Hi Hel - R

g 2 9l § Sefh H9F 3 Terd g1

84. With reference to the Indian National Congress
Session held at different places of Uttar
Pradesh, match list-I with list-II and select the
correct answer using the code given below-

ST WW o fafvs s § TR
THiE wAE & AAvE & wed #, gEi-1 @
geft-11 ¥ gafaa sifvg qar e faw e %

86. Which one of the following districts of Uttar

Pradesh does not share border with Napal?

T § 3T WSV T hA-91 U
Tt % T T | T e €2
(a) Balarampur/sci{™YT
(b) Shravasti/gTer&it
(c) Kushinagar@?ﬁw
(d) Lakhimpur Kheri/a'@'q’f[( i

AT ek W I A A A Ans. (c) : ST SR I FUR fore HUTA b @1 G
List-1/g=f-1 List-TI/g=At-11 T A BT 2| TElh IOy, AEE g dEiu
(Place/¥eIT) (Year/aTd) @l ot Joe % W e A | 8 s SR

A.  Meerut/ivg 1. 1916 W‘ﬂ% , drefrefa, Wﬁ@ﬁw T eSS foret off ot

B. Kanpur/®HY 2. 1905 e M d

C. Lucknow/@@ds 3. 1946 87. In which of the following historical melas/fairs

- LHcknow ’ of Uttar Pradesh both Hindu and Muslims

D. Banaras/aRY 4. 1925 come? .

Code/®TS ST Yevl & Frefafee fre Ui aa §
A B C D fog oiR goem= AT ot #7

(a) 1 4 3 ) (a) Nauchandi Mela/Ate< &1 Fel

(b) 3 1 2 4 (b) Bavaro Baba Mela/aTail sl &l TelT

3 4 ) (c) Fuldol Mela/§eSIa & Hell

(d) 2 3 4 1 (d) Bateshwar Mela/a24X T Hell
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T oo 2139 A H R 9 gfem @ &
e &t 81 I8 Hell WEas W F SgH adn
o wrE-eR & iy & e afte e 81 5w de
N YEAM T 1672 ¥ A S | Seoheg @ B
HASIA HN HAl TR & fictaret § qo1 See= &1 Hefl
T § o

Ans.(a):ﬁ?ﬁ?fﬁwwma?%ﬁﬁﬁ
&

(¢) Mahoday shree — Kannauyj
TR ot -

kaushambi

(d) Jaijakbhukti -
EEIE

Ans. (d) : 35IH H TE AT 39 TR 8-

88. The percentage of work force in total

population of Uttar Pradesh

I WA A el SHEEET W ehredeel oht
wferorer -

(a) 18.5% (b) 23.7%

(c) 30.2% (d) 31.2%

Ans. (b) : 3T Yo¥ &I Fo GG § HEdd H Ffwd
23.7 81
89.

In Which of the following year almost the
entire area of present Uttar Pradesh was
separated from Bengal Presidency and Placed
under Agra Presidency

frafafga # @ form a6 adaa ST Wa9T a1

Y YU & Se Y W e wleh

STRT Ut & arefim & feam wa?

(a) 1832 A.D/1832%.  (b) 1833 A.D /1833 &.

(c) 1834 A.D/1834%. (d) 1835 A.D /1835 &.
Ans. (b) : ¥ 1833 . § IR WU & HYUI &F H A
el § 1 Heh SN S & 3t e fem T
SR TEl UH AT TR F FERE A T A sw sy
& HE U1 e S SHSH o T W@ Sl TE
SR 1 I T
90.

In which of the following states, the area under
Tube-well irri%ation is the highest?

= ol ° 9 S TE-ae e & e o

Hafee &2

(a) Uttar Pradesh/3tX EEN) (b) Bihar/fe@gR

(c) Punjab/dsTa (d) Haryana/gRamom
Ans.(a):ﬁa@ﬂ?ﬁfﬁaﬁaﬁ(w)@m
fi=rg IR e # H S F1 9 2017-18 F AR et
gaslsﬁm—s‘ﬁﬂymfﬁaﬁmmaﬁaﬁ

| T g fFEE 152 wfovm, g g fiEE 8.7

é!ﬁ?gamw, e wd ueR g e 0.5 wfaem

|

(9d AT ST — (S| rateert)
9T o I

HIct/HIEA - AT

HRIeEd TR - e

HRea & - IS

SIoTE fh - gEre
a7 w9 & T fshed (d) 9d gafem 48 21
92. Who led the 'Banaras Rebellion' against the

Britishers?

N o faeg ‘oARE fage’ &1 Aga fea

Tera en?

(a) Shujauddaullah/I[STEEreT

(b) Asaf-ud-Daulah/3TEHSEAT

(¢) Raja Chet Singh/TsT =d fiig

(d) Raja Maheep Narayan Singh

=T BIREIRTE

Ans. (¢) : 3T & fa%g oY %@ (1780-81) &

Jafdg & 9 7E TRE S TS o4 fear e 40
ARG B9 Fifeh FHET T T AR H e

93.

With reference to the temple of Bhitargaon,
Kanpur, Uttar Pradesh, which of the following
statement/s is/are correct?

HAY, 3wy Rua ofiawiia d@few & g

%ﬁ/%ﬁwﬁlﬁa?r HIA B T RIF-9T/h RwAT &
?

This temple was constructed during 5™ centur

A.D. to 6tla century A.D./g9 Hfer &1 é'ﬁﬁ'ﬂT 54t 9%

2" 6 A 9 3. o HeF g

It is one of the oldest brick temples of India.

£t § faffa 72 v &yl ARl & @ uw 2

Select the correct answer using the code given
below-

Hior feu U we & FET ek qEH ST @
A BT

0]

2

91. Which of the following is not correctly (a) Only 1 At |
matched?
Frrferfiam & & @ Wl gART T 42 (b) Only 2/ 2
E . © (c) Both 1 and 2/1 3iR 2
arly Medieval —  Present Status )
Cities of Uttar (d) Neither 1 nor 2/9 a2
Pradesh Ans. (¢) : Wg (W we¥) ¥ Rem ofiqoma #@fw &1
(TR ST — (adT et | [P 9 F@ & 2R sE W EF oA wd €L F wen
T 3 e ) g3 @11 g § T 77 Wi 9Ra & s wfeld 7 9
. _ T 21 FMHR TR W 94 39 AR % RN | IR
(a) Koil — Aligarh e 94 gU 21 el fa]i § o et § g -
HIc/ T - 3FirTe et (T SR-aTE, gnﬁqﬁéam)aﬁq@uﬁr@%
(b) Mahotsav Nagar — Mahoba T 31 el # THRU, HEMRd 3R o % fafe
T EEEN A § AT T
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94. 'Geographical Indication Tag' for black

pottery is associated with which of the
following place in Uttar Pradesh?/&4eh Qiedt &

fom ‘Rrenuifrere Sfgdom 21’ SR wewr o

frafafaa & @ fre v & geifia 872

(a) Najibabad/Fam@E  (b) Khurja/Gsit

(¢) Nizamabad/RSTH@ER (d) Kasganj/&&s
Ans. (¢) : FommEE (3SHTE W ISW) H a9 2015 H
Frel gl & addl et s died & forw fEmnfhea
HEE el (Geographical Indication Tag) % fou
Gsftgpd fepam T o
gl uiel # dEEhMe % 9 ¥ i deds
(Geographical Indication Tag) <l 21 98 "= (39
I ) 10 99 7 & forg il 2 81 sradia
R GI 3 & fafrews fayg =R e # sifss e
Al o MR Faeft T8 (Trade-related Aspects of
Intellectual Property Rights TRIPS) W quEia & ded
fepam ST 21
95.

With reference to the cultural heritage of Uttar
Pradesh which of the following statement/s
is/are correct?/3T W9l &Y

* Hed o, frefeafas st & @ @i 9a
wmaT wE /87

The oldest evidence of agriculture in the global
context has been obtained from many excavated
sites in this region.

TH R & IF I el § afas da #
S & ST JHOT 9T g E
The oldest cultivated food grains are barley and

paddy./STEIaH 9T FY o St 3R G &)

Select the correct answer using the code given

below—/=ter T&T 7T FHe HT TART FHieh TEl ST

T TT ifST—

Code-/eh2-

(a) Only 1/&ad 1

(b) Only 2/FFa 2

(¢) Both 1 and 2/1 3fiX 2 &t

(d) Neither 1 nor 2/F @ 1 T & 2
Ans. (a) : S JII & HaFaR TR B & agued
TEad % T (9000 F 8000 £, qd) T e & St
f5 Ay &9 ¥ FEHTH 21 SHH TEd P b TEA|
T e % SMER W Hewe § T SR ST H qefeAa
T HI 3 HAT S B

AT ARG T FeeqT 9o fifg smaa

East Uttar Pradesh first Cable Car Service has
started in which of the following district?

gdf ST WY W UEE el R wal
frefafaa ® @ forg S=ug § wiw g8?
(a) Etawah/32Tdm (b) Maharajganj/FRNISTIS

(c) Jaunpur/Gﬁﬂ? (d) MirzapurfﬁGﬁ'E[{

0))

0]

96.

Ans. (d) : 2 37T 2021 I TEHA AT e gA W
TR 1 TG bl HR ET AT SHUE § YE

T8 ol um™ & fes ‘Behivr & el @ie § e &
T g Yud gRESET & e # fawifee 81 ugen 9
199 HieX Safsh T 91T 102 HeX B

97. Match list-I with list-II and select the correct
answer using the code given below the lists-

et - 1S gt - 11§ gt siteg ue e
few @ we & FEIT W WE ST @ wEd
hifsTa-

List-1/g=h-1 List-11/ g=h-11
(Folk Song/elek i)  (Occasion of Singing
T T STTET)
A.  Chaiti/=dt 1. Sanskar geet
FEpR T
B. Kajari/®s{ 2. Braj Lokgeet
IS I AR
C. Rasia/THaT 3. Vivah and Seasonal
geet
foame wa Hodt fa
D. Sohar/Siel 4. Seasonal geet
Tt
Codes/%e
A B C D
(@4 3 21
(b) 3 4 1 2
©1 2 3 4
@2 1 4 3
Ans. (a) : 9@ ﬁ'ﬁ%ﬁ 21
T - 11 TeAt-11
(e i) (T AT 3T )
It i iG]
ol feamg we wtedt i
KRl SIS T EABINT
Hiet HepR i

Arrange the following words according to
dictionary, and find the word that comes on
just second place in dictionary?

Hfor fqu U v W VREHIMT o IR
ALY HITTT LT 3T I i AT RIS ST

98.

ITEEERTYT | Sieh GER T UX 32
(a) Conclusion (b) Concentrate
(¢) Confidence (d) Count

Ans. (a) : @ M ¥=a& # 'Conclusion' I8 IIZHITT H
Jieh TE T W TR IIeE HT A 3T 9 TN -

'Concentrate', Conclusion', 'Confident', 'Count'.
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99. 'Electricity' is related to 'wire' in the same way

as 'water' is related to-/ forgla’ & g ‘AR’
¥ wieifere ¥, weft e urh w3
(a) Jug/sTT (b) River/Ta&t
(¢) Bottle/aad (d) Pipe/drsd
Ans. (d) : mwﬁgﬁww%mmw
g g W YHR U veed s % fau oy &
awmm el 71
. anfty foepeq (d) @ 21
100. How many Mahajanapadas were located in

present day of Uttar Pradesh among the oldest
sixteen Mahajanapadas of India?

ST U9 W WRA & Wei=aq 9o
eI ¥ | Tl fehaq wgrerug fere 92
(a) 06 (b) 07
(c) 08 (d) 09
Ans. (c) : UM IW YW B 9RA & WG Hiew
Wﬁﬁﬁwswﬁaﬁélﬁ@ww
for qor S T wadE § 16 WeeHUEl B 3o
fireTT #1 S TRW # Red 8 WSHUR 39 TBR 4
(1) FTE — AT Aot qer et e
(2) FITA — TAHH 7L H & (HeTeTe quee)
(3) ed — FuH QA I WS o <aiar et
(4) A% - MY JeeT@Us T Hrwwed &
(5) T — IM[Fh FARMIE (SANST) T91 e e
(6) T® — W3, facell o araX & g-9m
(7) U - MYfE ERA@UE & aRa,
HEGER

(8) YT — MYFTH IS AUSA H & |

Ser  da

101. In the following number series, a wrong
number is given- HET hH | Teh
AT HEHT o T B
2, 6,16, 38, 84, 168, 368, 750
The wrong number is-/ TeTd & g
(a) 38 (b) 84
(c) 168 (d) 750

Ans. (¢): (2x2)+2=6

2x6)+4=16

(2 % 16) + 6 =138
(2 x38)+8=284

(2 x 84) + 10 =[178]
(2x178)+12=368
(2 x368) + 14 =750
a7 anfiE I e (c) T Bl
102. How many 3's are there in the following
sequence? Which are neither preceded by 6 nor
immediately followed by 9?
frrafafaa s & 1@ foraa 3 &) 9k St
TEA AW 6 IR AT Swmae ¥ 9 77
923,6,6,3,9,5,9,3,7,8,9,1,6,3,9,6,3,9
(a) Four/ax (b) Three/dH
(c) Two/al (d) One/T%

Ans. (¢) : [9,3,6].6,3,9.5,]9,3,7].,8.9,1,6,3,9,6,3.9

fedt T A # 2 UF fF § 5 I wed A 6 7
3 A & ik ae | 9 81 I anfiw I fashed (c)
hid

103. Which one is odd among the following group?

frfefan aug & & = T 7o €2
(a) Tokyo/ZTerT (b) London/&
(c) New York/=[am®%  (d) Beijing/afSi

Ans. (c) : 3TIF WE | [N, e 9 AT FET: SOM,
B 3 99 1 ToE & SEfh e SR F1 T W
2, TS 71 3 faebed # gk e et 21

104. Find out the missing number in the following

figure-
frefafaa smefa § g d@ea J1a swife—
5016 |12
4134
213 |2
18 | 27 | 96
(a) 4 (b) 5
(c) 3 d) 6
Ans. (d) : FieH ¥,
IERIEENS
(5+4)x2=18
(6+3)x3=27
3 IFR,
(12 +4) x[6] = 96
d: 3reftE I feheq (d) @& g

105. Which one of the following is different from the
rest of the three?
frefefas Tgg § & @ 9 i & R 82
(a) Direction/faem (b) compass/sHUTH
(c) Needle/Ts (d) Magnet/9a%

Ans. (a) : &3 T foedl # fahed (a) 377 9 § Re
Tt g, gE qor Fe g e gue 4 @ S fen

wefyid &t 21

106. How many letters of the English alphabet
(Capitals) appear same when looked at in a
mirror?

USH auinTer & TR e) (Ffew) T
TUU | U A ®Y ok T fe@mg ugar?

(a9 (b) 10

(c) 11 (d) 12

Ans. (c) : SIS auiaren & 11 3R (HUe) TH <dor §
HH et §Y F GO @ 727 S 39 IR §-

AHLMO,T,UYV,WX,Y

107. Choose the odd one out from the following.

frferfea ® @ fas =t gie-
(a) JR6 (b) RV3
(c) EKS5 (d) DG2
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Ans. (a) :
R V=3 E K 5
AVARRV/
4-1=3 6-1=5

4 7 10 18
3=1=2 8—1=[7]
37: fhed (a) 31T @ o 2

108. In secret code massage, '"HOTEL' is coded as

300, What will be the code for 'BORE' in the
Same code? /Uch T, '"HOTEL'

@ 300 o WY T ge foram ST g, ° 3H e §
'"BORE' T e FIT ETT?
(a) 60 (b) 160
(c) 140 (d) 40
Ans. (b) : 519 y&K,
HO T E L

NN

8+15+20+5+12=60x5=300
[7=f HOTEL ¥is5 & aulf &1 & = 5]
3G THR,

B O R E

NN

2+15+18+5 = 40x4 =[160]
[7=f BORE ¥/=g & 9uif &t 9@ = 4]
7 erfiy ST febed (b) & &

109. How many Squares and Triangles are there in
the following ﬁgure?/ﬁlﬂﬁ-\'ﬁ@ﬁ ITTehT

feraet ot @en fepaay fregat €7

(a) 2 Squares and 16 Triangles

2 % 91 16 S
(b) 2 squares and 14 Triangles/2 & @1 14 Broqst
(c) 3 Squares and 16 Triangles

3 97 qg1 16 B

(d) 3 Squares and 18 Triangles
3 o da1 18 fqe

|Ans. (d) : o 7 s # 3 & qom 18 P 2 |
110. Which one of the following words cannot
written from "TEACHERS' word?

O w W TH I
'"TEACHERS' 972 § &} Tt S @ehar 872
(a) REACH (b) CHEER
(c) SEARCH (d) CHAIR

Ans. (d) : 'TEACHERS' ¥ ¥ 'CHAIR' & feran sn
Febel 6 TEACHERS' # 1 90f 3qaferd g1

| |TRASE 1 SEwE A own § F

Which of the following cities was declared
winner in '"Social Aspect Category" of the
India Smart Cities Awards 2020, which were
declared in June 2021?
T ¥ fore ITeT &l S 2021 § =i

Ffean e et srare 2020 &t ' WA TR
groft’’ ¥ fererar wnfere feram T=m an?
(a) Tirupati/ferafe (b) Bhopal/drarel
(c) Jaipur/STIYX (d) Varanasi/aRIoTH!
Ans. (a) : S 2021 ¥ =iftg fear =@ fadt e
2020 F ‘GHISS dgq SUR, § A=Y & fowufd el
&I fasir S fham w21 ey @ o i ey
AR TR Hem 4 dF dRedded wed free-we
ot fiem (woediem), s/ma qor gums e Ae -
I # 6 o adNe (25 S, 2021) F U H 3
TEHRT 1 S0 21 qE [EHR G TR,
et St SR vl Tfaviie S fawd F MR W
for S 21 4R SR WA J o T faem % fe
T &9 ¥ T e ard Sfi sEfh I ey T Be
goft & srare i 21
112. TItaly launched its first "Food Mega Park" in

India in June 2021 at which of the following

place? /ST 2021 ® geoit A WRA W UAT Tgell

"y W Utk TrefaiE § § TR W W

& feRan?

(a) Jaipur/SFEYX (b) Fanidhar/%ufteR

(¢) Ludhiana/@fE@ 1 (d) Kochi/aifea
Ans. (b) : 3 7 I 2021 H 9RA § 3YYAT gl T
FEUh HUTER (WEHN, TRE) # fpar 21 =
s & A"
Teme a9 ¢ o gW & # W el sfm gEa
STl & STIEEM e b W &M Hisd F 2|
I H A BT U W T HAed g Hiad
foer S @ frwenr S2vd afys @@ SR # uRa &)
feeart ®1 TgMT 21 WgE U AT 2008 H IE FH
| RS e ot 42 WRE U e fRar S 2
FE WSHR T qE 2021 H WeawH e @a @i
B HE WHRHT $eRY @ JEAW 310,900 Cr H FH
fSrent 3mafer 2021-22 ¥ 2026-27 T BAft
113.

111.

"Shabri Snakalp Abhiyan" is associated with

* gTeit TR STTET T W -

(a) To help those poor people who are below we
the poverty line/STT @M s W@ & A= %,
ST el BT

(b) Empowerment of Women
Tfgerst 1 HRTthator

(c) A scheme for help groups
@ Wl Wl o o s

(d) National Nutrition Mission

TS aor SR

UP RO/ARO (Pre) GS 2021

47

YCT



114. Consider the following-
frefafaa o faam wifse-

kalaripayattu/‘m'_cﬂﬂ'q'l'alg

Thang-Ta/gr -1

Mallakhamba/Hci@H

4. Gatka/Tdhl

Which of the above game/s has been included
in "Khelo India Youth Gesmees"

Select the correct answer using the code given
below-

ST W ¥ R Wel @ Cwel e g9
T’ ¥ witnfer feram T 82

o fou e =1 99T otk | 3T & weA
wia-

1.
2.
3.

Code/se
(a) Only 1 and 2/&det 1 3 2

(b) Only 2, 3 and 4/&Fae 2, 3 3 4

(c) Only 1,3 and 4/%a 1, 3 3N 4

(d) 1,2,3,and 4/1, 2, 3 3R 4
Ans. (d) : TR Tl Sfear g9 79 &1 EEE 10 § 22
SHad 2020 H [ERET W F fRA TN AT @er
e g9 T F SIS 2021 & A< H fRar
FE WA 3R a1 FHearT T T T R &
¥ FER 4 ol # ‘@t $fgar g9 T H
gftaferq  frar e 21
et 36T 7T =R @l & TSl § Hay i 8-

E=n

1. FHedaEg -

2. T - T RV a9 HeRY

3. T - U9 (IRIRE I Ie)
4. g - AR (AR 1)

115. Which of the following state started E-ration
Card Service in first time?/ T o

¥ foraa -9 wre Aar wdyem gy fw?

(a) Gujarat/TsiId

(b) Maharashtra/HeIg

(c) Uttar Pradesh/3X ]

(d) Delhi/feeet
Ans. (d) : 3. T FE Ja1 Fougw ool § 27 WM,
2015 H IO g3 I8 TF UL g 2 Foweh wrem |
T & Rl o far g Siiaemsa eaed S T9H
HIE U fhaT ST Hehal @ AT QIR 1 SYAIAT d AT
H RN o ST Gehell 21 59 FISHT I 32T TIH FHIE
foreoT 7 FEET T GHIEE ST 99T e & @
ﬁgﬁrﬁ%mﬁlﬁmwﬁmﬁmg
IUMER FF L § Teg Hf |

116. Which of the following is not one of the twelve
'HRIDAY' cities chosen for  holistic
development of heritage cities?

frafefaa & & &9 forea ol & |@Ow

foere & fotw g 7@ sRE ‘g9’ (HRIDAY)
IR W W A R

(a) Agra/3TTQ (b) Gaya/Ta1

(c) Puri/gﬁ (d) Warangal/a’iTel

Ans.(a):ﬁ'&‘ﬁﬁﬁ‘ﬁﬁw, gﬁawwﬁ
forea el % T f9e F W g9 (HRIDAY)
T & i IS A AT § el SN R
o wfter 48 A T 21 Seaedd § fF s WaR
F el o e 3 IIEd e il sadme i
STATHEYH ASHT (HRIDAY) &1 IO 21 SHa 2015
S A1 TR AT R F i Uity g &
TRIUT YT IR TIEER M BT 8| T8k T@d 12 IR
1 "o A T @ S e @ - R, wew, o,
Jefehal, 3N AT |
117. The main objective of ""Sangam Yojana" is-

" EIT AT R T SEv B

(a) To increase welfare of handicapped person/

Tl ST g BT
(b) To link rivers mutually/Af&a &I TER Sre-T
(c) To make rivers pollution free
AfeEl I TGl qh AT
(d) To enhance national integrity
T Tkl TG &

Ans. (a) : 9T ISHT F T 3T “faswai i Feamr
gfg” & W 31 T8 ASHI 15 S 1996 H TRA B
T ot 3HHk deq I & H A At famar sfwal
H W A Hfed weh oMfde Tfafaftei W & 8
15000 &I FI AT Y& HA HT FGEM 7|

118. Which among the following states was awarded
as the best training state for "Van Dhan
Yojana" by the Government of India in August
2021?

frrafafaa & @ form Uo= &0 3mTET 2021 W
VR T 5T o &= e’ o fTT wdss
YIOTRIUT T & 0 § AT feRaT Tam?

(a) Nagaland/AMTeivg

(b) Mizoram/ffeme

(c) Meghalaya/ﬁﬂ'lﬁq

(d) Madhya Pradesh/m& S&31

Ans. (a) : 3TT&, 2021 § AT 59 & G THR

g T o AT F T wdg wiveT N9 6 ®9

et fpam T 39 <A Armve i R s §

IPY YSUH & U a9 o7 faw I & ded 7 T

TR e |

* T G AN T YEAA 14 3, 2018 F THHHA
T A S FpAn T o R g S8vd S
et i e ferer e 21
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119. A Pan-India Campaign 'Ek Pahal' launched on
September 17, 2021 was related to-
17 faawr 2021 & % fwar e sifEe

TS AR T T’ Gataa or—

(a) Justice delivery at doorstep/=ad 3% g §

(b) Vaccination/ZTeIeHoT g

(c) Swachh Bharat, Swasth Bharat

g NG @Y 9T §

(d) Use of Green Energy/gRd ol & FATT §
Ans. (a) : 17 f9a@R, 2021 & & fFa @0 AfEa
TRATT A T Ted’ = ATH g1 F Haifed o1l T8
Wwﬁmwwwmwm

“U% TR’ AR F T 3LV HA HRIAdT H
g@wﬁwﬁxmwﬁma%maﬁqgaﬁ
gaw A g1 39 I % ded ani #f Zel-ar
FRTREE & Ted YsievT % fow Siefed o fopar s
120.

Which of the countries is signatory to the
Abraham Accord?

¥ W &HA-F W 9T NEEH
'H'H?ﬁ?ﬂ (Abraham Accord) o ZET&ehHT EYd
(a) Israel, Saudi Arabia, Egypt, Jordan
I, T34 o, e, Sred
(b) Israel, United Arab Emirates, Egypt Bahrain
Libya
(c) Israel, United Arab Emirates, Bahraim
(d) Israel, Sudan Afghanistan, Pakistan
ST, S, AR, R
Ans. (¢) : @r@%&?ﬂ%ﬁ%&ﬁa@ﬂﬁaﬁmm
SfRIT | TSNS % WY ‘ST 9HEiar W gERR {6
2113 3T 2020 HI TRAA-JUE Wfq THAT 1 oo
F e 11 fasr 2020, ® TedH-gSE TEE
ST #) T | SRR TR T 3R R 39
d e 26 aut § wgen wifd TEEa 81 Tidee @ 6
THH Teel 1994 H TSAE 3R SEA & diw wifd gugid
W R R T 91 SRS TPUd % IER, T
wﬁw@m%ﬁmwﬁw%m@ﬁa
T M HN| FRIA-JUE-TeI T TG F SIR
g iR TEA FR SoNEd # 319 g T i %
g wded, R, Weed iR gen 9fRd &¢ & §
ST AT S S raT faar S|
121. As per the SDG India Index and Dashboard
2020-21 published by the NITI Aayog of India,
which one of the following state was not among

the top ten states in their performance
regarding Sustainable Development Goals?

@GR Wenrvta  TESSH.
Ifgar e wd S9Nl 2020-21 ¥ HER,
frefeRaa ¥ | &I |1 T ¥ad faere ot
¥ Hefta ue wevta # ofid Iw et #
aftafera & on?
(a) Punjab/osTa (b) Sikkim/ffRr
(¢) Uttrakhand/3T&@s  (d) Goa/TdT

Ans. (a) : FIfd SN §RT A MR TR BT Tefe|
foer @&F 9RA (S.D.G India) 399 T4 SYEIE 2020-
21 % SFUR IS TS99+ weEE § o @9 T
gftafer T @ el Tsa B v e el R @
T T AT ga B 1 T Fesentad e § GEe o
T RISH TRT 60 TR F 99 22 § ¥ T §Ih &7
T SRV FY HOTC a9 TS o §F 81 59 WY
U.P. Wt T<dl # wified 21 9ad fa &g 9wa
g 3.0 (SDG India Index 3.0) & @&d 16 SDGs
(16 T &k 115 2RiE) # wadd % MR
T/ Ssented Sewl # i% wem & g1 Hfd s
SDG S8 a9 2018 ¥ Sl T @I 7|
122. Where in India, the first rubber based tyre

metro is being built?/9d ﬁ gl W6 2

MR Wl et A 1 @ §2

(a) Ahmednagar/3TeHeAT (b) Surat/fAd

(¢) Vadodara/agieq (d) Nasik/&
Ans. (d) : TG ¥ Ugel TOR 2TER SMeRd Hl A
(TRRTY) H ST S @I W TR SeRa AT St
1 TdyeH yANT URE wer H fRar M| veel Wl ®9 9
T TR STEIRA U2l FreT (Hifveaet) § Jardt i
TRR SR W21 aREe & w2 AW e e g

123. Headquarters of International Potato Centre
(CIP) is situated in- / AT hR
(.3t = geEer R -

(a) Lima, Peru/cT, Bt

(b) Shimla, India/fR¥THel, wRd

(c) Dakar, Senegal/‘éﬁv’(, T
(d) Dublin, Ireland/SafeH, 3METAS

Ans. (a) : STRIFE 37 F5 (H.3TE.9) 1 T&ed 16

F qorert o # fom 71 e T S SEYE F

ferreret s o FHd (Rwem) & R 21 samed ¢ f

FRT wea FHYA TwE & R ReE ey

Yot IR 92U & FNUE et # fore 21

124.

Which of the following schemes are related to
the skill development?

g & @ - doE wver faew 9@
Hraifar &2

STRIDE/=[EE (2) STRIVE/ETa
SANKALP/¥%cq (4) SHREYAS/9a9

Select the correct answer using code given
below-

Hfrer feu T e W W WE 3T w1 99T Hitwu-
(a) (1) and (2) only/3ae (1) @ (2)
(b) (3) and (4) only/&a (3) T4 (4)
(c) (2), (3) and (4) only/&Faa (2), (3) TUT (4)
(d) (1), (2), (3) and (4) only

Had (1), (2), (3) 71 (4)

0]
(®))
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Ans. (¢) : g9, Thed U 939 SV [FHG T Trafed
o @1 el favafaEeE e (UGC) &t |iEs
(STRIDE-Scheme for Trans-disciplinary Research for
India's Developing Economy) JISHI & ¥ 39 H
13t § I (Research) &l H&hHfd P TgET I 2
I & gd (STRIVE- Skill Strengthening for
Industrial value Enhancement) ST fawa d% ¥ gerE
T 9RA TR # uRASE 8, R 2y s
s weE (31 A o) iR e F owmewm 9
ISl SURIUT I ST 3R qer # GER T 2
Hheq (Skills Acquisition and Knowledge Aware ness
for Livelihood-SANKALP) FSHT T8 979 (Scheme for
Higher Education Youth in Apprenticeship) RIEEI] {F!Taﬁ
¥ BV A 1 e e 2
125. Who publishes Global Climate Risk index

Report?/afyes Sorary e gerhich fod

TG GRT WeRTIoTa feRarm e &2

(a) United Nations Environment Programme

T TP g FRIHT
(b) Germanwatch/STH-ara
(c) World Meteorological Organisation
forer e fogm wem

(d) World Bank/f&r% sish
Ans. (b) : 34 SoEg SIfeN gEwiH SHA g
YR fopan S &1 s Sy Sifew gasis 59 %
JAT-qHME, g, < AT T ganRd (Heat weaves) anfe &
EW g & F She A g1 dfEE oy S
=i (GCRI: Global Climate Risk Index), 2021 %
FER a8 2019 F ufga @l gl ¥ wais
yoifed o 10 I F 9vg 7 F W W 31 RO F
SFTER ¥ 2019 % A A, e 3 awmEE
ftreper HreHt FeeT & waifyew s gu
126.

Which one of the following book by former
RBI Governor, Bimal Jalan was published in

July, 2021?/3TRst3ME. & ud o=y, fomer

A @ fr=fefad § | ®iF 9 IEw 9o,

2021 ¥ Rt g8 oft?

(a) The future of India/g H=X A% sfean

(b) India's Politics/gfear uifeifead

(c) Emerging India/gafST gfeam

(d) The India Story/g 3fEar &R’
Ans. (d) : R % 3% sftear & qd T foma Sam
F Id T oA Wl AR, 2021 H YHRM G 39
TWF F b= 65 9T F1 MF e @ YT qo
IRA & Afesy &t e TS (Political Economy)
g/ T Z1 W SN TWe T RN % gfear,
g forelt 7 21

127. The Disaster Management Act was passed by
the Parliament of India in-

URA hl GHE T SATUST Faier= Srferf-a utika

gel-

(a) 2001/2001 & (b) 2005/2005 ¥

(c) 2009/2009 & (d) 2013/2013 ¥
Ans. (b) : IRT F O R U vEeA Afufem oy
2005 # iRRa fopan w1 39 fufaw & Aem © adiE
IS YeieH TS (NDMA) & T3 far mar st &%
amerett % ufa Hg W e ywrd fafhar & fow Hifear
FromTe o faem-fder TR & g s oY feE g

128. Arrange the following seasons in Chronological
order accounting to Hindu Calendar:

e wgell &1 O et & gER
HTAHATTAR AT iU~

(i) Autumn/IRE (ii) Summer/3Ts
(iii) Spring/@da (iv) Rainy/ast

Select the correct answer using the code given
below-ﬁ%ﬁ@%iﬁwmmﬂﬁw
T TIT HITTT-

(a) (ii), (iv), (iii) and (1)/(ii), (iv), (iii) 3R )]

(b) (iii), (i1), (iv) and (i)/(iii), (ii), (iv) 3k (1)

() (iv), (ii), (i) and (iii)/(iv), (ii), (i) 3R (iii)

(d) (1), (iv), (i1) and (iii)/(1), (iv), (ii) 3 (iii)

Ans. (b) : YRAT Feled a1 YRAE [T = GG §
I fFar o aren Wl ffd Foex 21 TEh
HTEN T3 H faU T FGS T B HEl HIHA HAM:- T,
s, ot q9 IRE 21 ARAT heleel T Taq W SR
2 o IREA o=t F Iy 22 9 1957 @
TR T &1 A TH el F NIH WG SEh WA
sifom 71 21

129. 'Djibouti' Code of Conduct is related to-
N E T ﬁ ] ‘FE - oﬁ %_

(a) Conservation of Congo basin

FHT XU T Hego
(b) International Maritime Grouping against
piracy/THE Thdl % s TUEE T8

(¢c) Charter of ethics/Afeiehel T SI¥OT T
(d) Principles for conducting nuclear test

AT] Sieror HeErer i

Ans. (b) : ‘T TR Wi &1 TEg T THA B
foes e T’ @ 21 ufyd e wewrR &m, eted
# @l R A GR § S SEe WOg At a9l
3N T Al B HEEl FH & U FEd emER
Ffgar (DCOC- Djibouti Code of Conduct) &I 29 SHad
2009 I YT T

79 2017 ® gt oMeR dfedm ¥ @& eRa & SE1 A
TElee 37 TS HHeR ST fwar e e SEr
Mg F AW Y I S g1 g gemed HOaq

ST T ARl 9 1 S T
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